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(SIMILARITY IN GEOMETRY)

1.1 ������
�	��
����� ��	�
� ��
��� ���� ��� ������� ������ ����� ��
��� ��������� ��������� ������ ����

��� �! "�!���
#�$
%&�(i)����'�
��(��)�
 �����*������+��,�����

���-��*�����.��������


/01�2�
����������(ii) ���3���,����-��3�
�
����� ���� ���3���,
���������� "�(iii) �*����
���*���
��&������*������01�4����������-��*������5���4������� �
�6����"

�&
����
�����������7���������������)�������&�
����� 8
/01�2�
��*������01���������9��������I)��)!: ��
�
�!
������&�
��;<&�/��*�&��&�
�� �

����3��=�
����6���
�*�01����2�>)�
 �����-�&%�>�������
�����5�������

���������9��������II)
�)!: ��
�&%���>?��'��*�01����2�>)�
 �� �-*����
��� "���������- I �/���������- II 
��
�!
����@
&�
�;<&���A���;	��B�
� �����%
���&+ �,��������&���%
����;	
����&�����C>	��
��� "�����&
�
&�
��;<&@�*�&��&�
�/��*�&��&�
�@�
�!
������B�
�!�	��������
��&�
 �����%
��
����&��
��C>	������������������)����������@I�/���������II�
��&�
 ���������)�01����A���B�
��%
��

���&���&
D
���������� "

��6��)���E#�����
����'����B�
��%
���!�	��������
����&�������
����B�
����&�����C>	
����������������������&�
 �������F���
����'����B�
����� �����%
��
����&����B�&%��>������
���&�������������� "�������
#
���7���
�������������������)�
 �� "������������������
��

�	���
��Shape������F "

����F����+��� ����������
�������������
���������������	�������
���(Similar Figures)
����)�� "���+2�����
�*�#����	�����(Similarity) ����)�� "
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1.2���	�
�
�������	�� ���	���	���Ratio and Proportion in Geometry) :

&%�>��2�#<�
������&G1�5�H�a, b, c, d ��
��*����I�������-�6����-���*�01��������&��<�����
����������a : b = c : d

!?������&�����I�>����J��
�&��	�*��
��� "
�����3�#�5�H���������3
��.��4��K� �

�
��%��
���LM>6�N�!O��

����
�)�!��1��
��%��
���LM>6�b1�������-�!O���h1���� "
���1�
��.��4��K�

�

�
�b1 h1��*>���� "

&��P��2�
��%��
���LM>6�b2�������-�!O���h2���������
���2�
��.��4��K�

�

�
�b2 h2��*>�������� "

�Q>����I
������)�!��)��1��/��2��
�!O���h1�K�h2 "

��
Δ
Δ

�

�


��.��4�

��.��4� � = = =

�

� � �

�

� � �

� �

� �

�

�

b h
b h

b h
b h

b
b RRRRR(1)

����&
������
�)�!��1��/��2�
��%�������LM>6���2�S��� �>�,�b1 = b2 "

��
Δ
Δ

�

�


��.��4�

��.��4�

= = =
�

� � �

�

� � �

� �

� �

�

�

b h
b h

b h
b h

h
h RRRRRR(2)

(1)�
����T�U������@
����� !O��� ��2�S� ��
��� �����3
� �.��4�
� ���&���� !?� �����3� �;	
� ���
%&� �%���;	


��LM>6
����&���������� "
(2)�
����T�U������@
��
��� �����3
��%��
� ��LM>6� ����� �����������3�;	
� �.��4�
����&����!?������3�;	


���
%&�!O����;	
����&����������� "

���$�V�&
��'����H

�����1.1��
��D���A��BC �!&�
����'�����-�B - D - C "

4��
��ABD�
��%���BD ���ADC�
��%���DC

��-��ABC�
��%���BC ��*������
��
���
����'��"

&��P��ABD���ADC�/��ABC�&���6�
�2<W>�A "��Q>����AP BC⊥ ��X���
��� "

A

B CDP
(����� 1.1)



[ 3 ]

�����&���6�������3
�!O���AP ��� "�� �>�,��������)��������3���!O�����2�S����� "
4��
� ����� ����������!"
� ��	� �#$��� �%&��� �
�'����'(�
�	�� )�� ��*� ��+	��

�#
�,�)�-����	�.���/01��
2���'
�3��#�,4��
�'��5�67
������8�	��
�
9��#�� :
36�������.���
��B��������'��
������F���&������&��<����
 ���
���������� "����&
�

������36�������&
��'���
�������������F�
��
�)�
5� "
�����1.2��
��ABC�
�AB �/�AC ������!&�
�) �����
P�/�Q���A�����'�����)&
���� PQ BCII "
P ��A��AB ����AP : PB ���&���
���-�Q ��A��AC ����AQ : QC ���&���
��U��>��3�

�
U� "�����&
��'����
���������F�!&&��6�(1) 
��3�#�����)�� AP
PB �K�

AQ
QC

��	1�;�)����
'�����5	"
)��	#���#���	<��)����+	+=�������!�	#�����>����,4
�?��	#��@
��������&�3��>�
�	-��	�.����AB1����	���	�/��#�� :

��W�*������I���+S�
������������.���
������� H@� ��PQ ��;�
�� AB �/� AC ������&���

����3������U����� ������PQ ��
���Y��AB �/�AC ���������&���
��5����
���9PQ �divides

AB �and�AC �proportionallyZ "
�����!&�
�?�� 6
�)�?����Q���&���#�(Logical Proof) �
��� "

���	���C�1 (��,
�;����	��)
)���
�'�����5	"
)��	#���#���	<��)����*��+	�D�
���
'����������!��	#������!"


'
�3��
2�����>�����4�������?���*��+	��@	�	�������!��	#����	���	�����
'	�
��#��<
 :
�If a line drawn parallal to a side of a triangle intersects the other two sides at

two distinct points, then the line divides the other two sides proportionally.)

�E����ABC�
� BC ������������U
�����
��
���L����6���
������ AB �/� AC ���
) ��������
������F���A��X�/�Y��
��5����
 "

��	�	�����L��
���AB �/�AC ������;	��������&���


�5����
[�� �>�,� AX
XB

AY
YC

=

�.����BY �/�CX ��X���
 "

���	�����AXY�/��BXY�
��%���) ������AX �/�BX ���-�!�	�����
��
���←→
AB

�
����'�� "�&��P�!�	������3
�2<W>��A��9YZ����/�����F���A� "��#��!?������3��;	���!O��
��2�S����� "

A

B

P

C

Q

(�����1.2)

A

B

X

C

Y

(�����1.3)

L
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�� Δ
Δ

AXY
BXY

AX
BX


��.��4�

��.��4� = �RRRRRR91Z

&��P��AYX�/��CYX�
��%���) ������AY �/�CY ���-�!�	�����
��
���←→
AC ��


���'�� "�!�	������3
�2<W>��A��9XZ����/�����F "��#��!?������3��;	���!O�����2�S����� "

��
Δ
Δ

AYX
CYX

AY
CY


��.��4�

��.��4� = �RRRRRRRRRRR92Z

������BXY�/��CYX�!�	������%��� XY �!&�
���-�XY ����������U
��
��
��
←→
BC �/�XY ��B�
����'����������BXY�
��.��4��K��CYX�
��.��4��RRRRR�93Z

(2)�/�(3) � Δ
Δ

AYX
BXY

AY
CY


��.��4�

��.��4� =  .......(4)

(1)�/�(4) � AX
BX

AY
CY

= (&���#��Z

����
F	<��������- 1.3��
�(i) BX
AB

CY
AC

=  (ii) 
AX
AB

AY
AC

=

���	����!&&��6�@�1��;�
���AX
BX

AY
CY

= �� AX
BX  + 1 =

AY
CY  + 1

� AX BX
BX

AY CY
CY

+ = + � AB
BX

AC
CY

= ����� BX
AB

CY
AC

= [(i)�&���#��]

&��P��!&&��6�@�1��;�
��� AX
BX

AY
CY

BX
AX

CY
AY

= ⇒ = �9�6�����&�������Z

� BX
AX

CY
AY

+ = +� � � BX AX
AX

CY AY
AY

+ = +

� AB
AX

AC
AY

= �����AX
AB

AY
AC

= [(ii) &���#��]

�<�����(i)!&&��6�@�1����36������
�\��E���������&������!&&��6]�(Basic Proportionality
theorem) ����)�� "�*�<�,���2>����/�*#��^�� ���,X����������
�������� ���,X�!&&��6�����)�� "

(ii)�!&&��6�@�1�
�� ��
������L���
�������U��*������Q>����
�&��
�5� "��Q>��������
�L��
���AB �/�AC ������;	�����
������F���A��
��5����
 "
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�����Q>������L��
�����*����
������F����'�����_� "������- 1.4�/������- 1.5��
�������
��
&
��'�������2�>)�
5� "

�������������&
��'�����(i) &
��'�����(ii)

�����- 1.4��
�L��
���/�BC ����U
���-� →
AB �/� →

AC ��L��
�����) ������X�/�Y���A��


�5���
U� "�[�J��
�AB �/�AC ����L��
��������>��3����
����������)�����-�AX �/�BX ���
AB
������>��3����-2�
%�&�����)�� "]

�����.���
�&���#������F�����
)�
 �� "

��	�	����� AX
BX

AY
CY

=

�.����BY �/�CX ��X���
�)�! "

���	���� Δ
Δ

AXC
BXC

AX
BX


��.��4�

��.��4� = ��RRRRRRRRRRR91)

[�����3�;	
���%�������
��
���←→
AB �!&�
����'�����-�!�	������3
�2<W>�(C)�����F�����]

&��P�� Δ
Δ

AYB
CYB

AY
CY


��.��4�

��.��4� = �RRRRRRR(2)��[�&%�>�Q<>���
#�������
%&���
#������]

������BXC�/��CYB�!�	������%��� BC �!&�
�/���
����U
��
��� BC �/�L��B�

���'���������BXC �.��4��= ��CYB 
��.��4��@�@�@�@�@ 93Z

���BXC�
��.��4��̀ ��ABC�
��.��4��K��CYB�
��.��4��̀ ��ABC�
��.��4�
[�!�	�&�2;>�
��ABC�
��.R4R��)�*��� ]

���AXC�
��.��4��= �AYB 
��.��4��@�@�@�@�@�94Z

(3) / (4) 
�������&�
�� Δ
Δ

Δ
Δ

AXC
BXC

AYB
CYB


��.��4�

��.��4�


��.��4�

��.��4�=

�� AX
BX

AY
CY

=  [(1)�/�(2)����)�	< ] [�&���#���]

&
��'����(ii)��� �>�,������1.5��
�&��2�>��&
��'����
����3�&���#��
��������S���
 "

A

X

B

Y

C

(�����1.4)

A
X

B

Y

C

9�����1.5)

L

L
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��	�	���C�1����
��/�����	����GH/
��	�,	��	��
!&&��6�@�1�
���&
<��� �����F������� "
)���
�'�;;�����!��	#������	���	�����<�
1'	�������&�	���+	4��?���
'�������/
��	#�

�#���	<� :
�����- 1.6��
��XOY�����%.a����# "
→
OX �!&�
�P, Q, R�/�S���A�����
�����&
�����'����)&
���
OP = PQ = QR = RS

����&
�� →
OY �!&�
��K, L, M�/�N���A�����
�����&
�

���'�����)&
����OK = KL = LM = MN.

RM �/�SN ��
���Y�����X���
�)�
5� "

��
OR
RS

= �

�
�R�RRRRRRRRR91Z�����-�� OM

MN
= �

�
�RRRRRRRRR92Z

91Z�/�(2)�
��&�
��� OR
RS

OM
MN

=

� �>�,���SON��
�←→
RM ��
����OS �/�ON ������;	��������&���
��5���
 "

�Q>�������������&������b
�����)6�
���&�
�������&�
�����)�m�ORM�K�m�OSN
4��
�RM SNII �"��Q>��������� �
�)�?��%���&���#��
��� "

��	�	���C�2
����	���- 1����
��/��

)���
�'������!���	#������	���	�����<�
1'	�������&�	���+	4��?��
�'�������/
��	#�
�#���	<� :

�If a line divides two sides of a triangle internally in the same ratio, then it is
parallel to the third side of the triangle.�

�E����ABC�
�AB �/�AC ��������L��
���) ������X�/�Y���A��
������&���
��U��>��3�

�
�5��� �>�,� AX
BX

AY
CY

= � "

��	�	�����L��
���BC �������U
 "
�.����BY �/�CX ��X���
)�! "

9�����1.6)

O

R

S

M N
Y

X

�

�

����������������������

P
Q

K L

A

B

X

C

Y

9�����1.7)

L
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���	�����AXY���-��BXY�
��%���) ������AX �/�BX ���-��%����;	�����
��
��
←→
AB ��
����'�� "�&��P�!�	������3
�2<W>���A�� 9YZ����/�����F���A� "��#��!?������3��;	
��!O�����2�S�����"

�� Δ
Δ

AXY
BXY

AX
BX


��.��4�

��.��4� = RRRRRRRR91Z

����&
���AYX���-��CYX�
��%��� AY �/� CY ��-��%���;	�����
��
��� ←→
AC �


���'�� "����2<W>��A��X ��2�S�����������3�;	���!O�����2�S "

��
Δ
Δ

AYX
CYX

AY
CY


��.��4�

��.��4� = RRRRRRRR92Z

�����AX
BX

AY
CY

= �9�QZ RRRRRRRRRRR93Z

!?��91Z��92Z�/�93Z��� Δ
Δ

Δ
Δ

AXY
BXY

AYX
CYX


��.��4�

��.��4�


��.��4�

��.��4�=

���BXY�
��.��4��K��CYX�
��.��4� "
�J��
������,3�;	������%��� XY �!&
��'�9��������,3
��)���E#�������������
��%��������

I
�)�
&��
Z "
����BXY�/��CYX�!�	
�!O�������
��←→

XY II�BC ���L���
����BC �������U
 " 9&���#��Z
9���.��4����2�S������3
��%��
���LM>6�����������������X
�!O����B���������Z
� �>�,��B�/�C�J�
��←→

XY �&�����c@�%
������� "
�<���(1) ����I��
���+	�)����
'�����D����I��
���!"
��	#������	���	�����#
�
1'	��

��,4��?���+	��
�'�������/
��	#���#���	<���#� :
"/�	�������
�����E#�������
���Y��������>��3���
����� >�!?��
���Y@��d+?�
2a���

9�
���Y��6�<�Z��5���
��� "
�����- 1.8��
�L��
�����ABC�
�CA �/�CB ��������) �����

Y�/�X���A��
������>��3����
��� �>�,� →
CA �/� →

CB �����5����
 "

�Q��5��H� CY
AY

CX
BX

= � "
&���#��
����������H�L����U
�AB "
AX ���-� BY ��X���
���!&&��6�@�2�
�&���#����c��
�&���#��
�����)�L��
���/

AB �&
D
����U
 "

A

B
X

C

Y

9����� 1.8)L
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(2) : �)���L��
���AC ���������U��>��3����-�CB

������������>��3����
���-����&����;	����������

� �>�,� AX
CX

BY
CY

= �����������L��
�����ABC�


�+�<	������AB �������U
������� 8

�����1.9�
��DS��)�←→
AB �
�C�&�2;>�
�X���A�����'�����-����
���&
<��&�2;>�
�Y���A�

���'�� "�4��
←→
XY ��←→

AB �����5���
�� "

���←→
XY ��←→

AB �������U
��������7 "
1.3��>�����+	� ��>�

�	-��(Transversal and Intercept) :

�����1.10��
��L1�/�L2��
���;	
�
←→
AD �����>����transversal�R�L1�/�L2��
����

�5��� ←→
AD �) ������B� /�C���A��
� �5����
 "� BC ���� �5��� ←→

AD �!&
��'��>�
�	-�
9interceptZ�����������)�� "

�����-1.11��
��L3�II L4��-�
←→
PS �����5�� "��J��
�QR ���!5���5���←→

PS �!&
��'
�5����-2�9interceptZ "
1.3.1��
��	"
���+	���>������
�J��>�
�	-�

�����-1.12��
���5����
���T�!&�


(i) L1�/�L2��;�
��!&��F��5����-2�AB [

(ii)�L1�/�L3��;�
��!&��F��5����-2�AC [

��-�(iii)�L2 /�L3��;�
��!&��F��5����-2�BC "

�-K	���)���>������
�J���!"
��>��
2���@	�	��
F	1�
����+	+=����>�����5	"
)
�>�	-���	��>�
�	-����#	D	) :

A

B

X

C
Y

(���� 1.9)

L

A

B

C

D

L1

L2

P
Q

R

S

L3

L4

(����� 1.10)
9�����1.11)

A

B

C
L3

L1

L2

T

9�����1.12)
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1.3.2��
��	"
���+	����!"
��>������
�J�����(���>�
�	-���
����-1.13�
��L1, L2 , L3 �
�������������T1�/�T2��
���;	��5��
U� "
L1, L2,L3����5���T1�) ������A, B�/ C���A��
���-�����
�
��������������5�� T2�) ������D,E�/ F ��A��
��5���
 "
�����- 1.13��

T1�/�T2��5����;	�!&�
�!&��F���! �����5����-2
AB �/�DE ���
������
%&��5����-2 "�����&
��BC

/�EF ���-�AC �/�DF ���
�)�01�����
%&��5����-2 "
�-K	� �� ��!"
� ��*��+	��� ��!"
� �>��� �>���,4� �>��� ��+	�@
� ����� ��&�3

�#	!�&�	��>�
�	-���@
�������(���>�
�	-���Corresponding intercepts����#	D	) :
�����	!L�����	"
����3��
�����H@

���3�C1 �������1.14(a)��
�L1�/�L2��
����;	����5���T1�) ������A�/�B���A��
���-
�5���T2�) ������A�/�C���A��
��5���
 "

��.���
����
%&��5����-2���
��
�������� "
���3�C�2��������-1.14(b)��
�L3�/�L4��
����;	����5���T3�) ������D�/�E���A��
���-

�5���T4�) ������F�/�G���A��
��5���
 "���.���
����
%&��5����-2���
��
�������� "
���3�- 3 �������- 1.14(c)��
�L5�/�L6��
���;	����5���T5�) ������P�/�Q���A��
���-

�5���T6�) ������R�/�S���A��
��5���
 "����.���
����
%&��5����-2���
��
�������� "
1.3.3��
��	"
���	<����*��+	����!"
��>������
�J�����(���>�
�	-��������M�1��

���������������U
��
��
���/������X���5��
� ������
����5���!&
��'����
%&��5����-2
�B�
� �����d�>������B����
��� "

�����- 1.15��
�L1 II L2�II L3����-�T1��/�T2�!?����U
��
��
�����X����5���
� ���
��
����5�� " �L1 , L2��/�L3�����5�� T1�) ������A, B�/�C���A��
��5���
���-��5���T2

) ������D��E�/�F���A��
��5����
 "

A

B

C

L3

L1

L2

T2

(�����1.13)

T1

D

E

F

A

B

L1

L2

T2T1

C

F

E

L3

L4

T4T3

G

D
R

S
L6

L5

T6
T5

P

Q

(�����1.14)
(a) (b) (c)
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L1�/�L2����T1�/�T2��5���
�����;�
��!&��F�����
%&
�5����-2������AB �/�DE

L2 /�L3����T1�/�T2��5��
�����;�
��!&��F����
%&
�5����-2������BC �/� EF � "

L1 /�L3����T1�/�T2��5��
�����;�
��!&��F����
%&
�5����-2������AC �/�DF � "

����������������
��9�e�,�/��d�������)6�
Z
�5����-2�AB ��BC ��DE �� EF ��AC �/�DF �
���LM>6���&������������������)

� AB
DE

BC
EF

= �K� AC
DF ���� "

�
F	<� ���
��	"
� ��N����	<����*��+	��� ��!"
� �>�����+	� �>����
�	��@	�	
�>�����+	��@
��������&�3���#	!�&�	�����(���>�
�	-�5�67
�����AB1�������	����	� :

� �>�,�� AB
DE

BC
EF

AC
DF

= = �"

&��P��(i) AB
DE

BC
EF

= ��
AB
BC

DE
EF

= �

        (ii)� AB
DE

AC
DF

= ��
AB
AC

DE
DF

= ����-

          (iii) 
BC
EF

AC
DF

= ���
BC
AC

EF
DF

=

�����&��
����U
�&����	�����)�	<��!?���T�U
�)�?���Q���&���#��
��� "
����
�C�1.1��

�
��	"
���N����	<����*��+	�����!"
���*��+	��>���
�	��@	�	4��>�����+	�@

�������&�3��#	!�&�	�����(���>�
�	-���	�.����AB1����	���	�/�#��<
 :

�If two transversals intersect three mutually parallel straight lines, then the
lengths of the corresponding intercepts formed on the transversals are proportional.�

�E����
��
���L1 II L2�II L3[��5����
���T1�/�T2 ,

L1, L2 �/�L3 ���	���) ������A, B, C�/�D, E, F���A��
��5���
U� "

��	�	����� AB
DE

BC
EF

AC
DF

= =

A

B

CL3

L1

L2

(�����1.15)

T1

D

E

F

T2
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�.����AF ��X���
�)�! "
���	����AF , L2�����5���
��
9A�/�F ��A��;	�L2�
���&
<��&�2;>�
� ���
�Z

AF �/�L2�
��5����A�
�����G ����)�! "
�ACF��
��L2 II�CF

��� AB
BC

AG
GF

= �9!&&��6�@�1����)�	<Z�RRRRRRR�91Z

&��P���AFD��
��L2 II AD ������� AG
GF

DE
EF

= �9!&&��6�@�1����)�	<Z�RRRR�92Z

(1) �/�(2)���
AB
BC

DE
EF

= �RRRRRRRRRRRR93Z���
AB
DE

BC
EF

= ��9���U
�&����	�ZRRRRRRRR�94Z

&��P�(3) ��
AB BC

BC
DE EF

EF
+ = +

�9�)�*�&����	�Z

��
AC
BC

DF
EF

= ���
AC
DF

BC
EF

= �RRRR9���U
�&����	�Z �RRRRRRRRR�95Z

94Z�/�95Z�� AB
DE

BC
EF

AC
DF

= = 9&���#��Z

����
F	<�C(i) : AB
AC

DE
DF

= �(ii) BC
AC

EF
DF

=

���	���� AB
DE

AC
DF

= �9&���	�1.1 �
�&���#��Z���
AB
AC

DE
DF

= �9iZ�&���#��

&��P�� BC
EF

AC
DF

= �9&���	�1.1 �
�&���#��Z���
BC
AC

EF
DF

= �(ii)�&���#��

����
F	<� - (iii)� ���������� 9����I����-�6�Z����U
��
��
������5���
� �����*����
�5���!&
��'� �5����-2���������LM>6���2�S� ������!?����U
��
��
�����X
���6� �)
��E#����5���!&
��'��5����-2���X
���LM>6��B����� "

&���#�H�L1 II L2�II L3���-�T1�/�T2����
����5�� "�9�����1.16 ���Z

�����
%&��5����-2����X
���LM>6������&��< ��� AB
DE

BC
EF

= RRRRRRRRR�(1)

A

B

CL3

L1

L2

9�����1.16)

T1

D

E

F

T2

G
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�����T1�!&
��'��5����-2��;	�����LM>6���2�S "�� �>�,��AB = BC�9�QZ�RRRRR�(2)

��(1) ��
AB
DE

AB
EF

= �RRRRR�[(2)����)�	<]

��DE = EF�9&���#��Z
�<���C� (1) :�&���	�����&���#� �������������)�


 ���������
���E#�����
������
%&��5����-2�&
D
����5���
�
�� ��������������1.17��
���
������
%&��5����-2�&
D
��
�5���
U� "���&
�'����
��B�AF ��X���
����-���AFC�/
� AFD��
�!&&��6-1�
�&��	�*��
�������&%�>�&
��&���#

�
�&�
�����)�� AB
BC

DE
EF

= "

(2) �������
���I����-�6��&
D
����U
�
����.���
��B�!&�
�?�&���	���&���#��)�*6 "
����
�C1.1����
��/���?
��������#L :�� �>�,�����������
�������
����5����
����5�

�
�����;�
���5����
���;	�!&�
�!&��F����
%&��5����-2���������&��<��������5�����
��
�����������U
����
&�
U����������
&�
U���B "

���F�!���
#
�������DS "
�����- 1.18��
�T1�/�T2��5����;	���
�����U
��
��
��
L1�/�L2����) ������A, B���-�D, E���A��
��5���
U� "
����
�)�!�AB = x�����/�DE = y�����
�Q>����T1�/�T2��5���!&�
�) ������C�/�F���A����
��
����)�!��)&
��BC = 2x ������-�EF = 2y�������� "�C, F�����)�*�
��L3��
��
��

�X���
�)�! "��Q>���
AB
DE

x
y

= �RRRRRRRRRR91Z�
BC
EF

x
y

x
y

= =�

�
RRRRRRRR92Z���

AC
DF

AB BC
DE EF

x
y

x
y

= +
+

= =�

�
RRRRRRRR93Z

91Z��92Z�/�93Z���
AB
DE

BC
EF

AC
DF

= =

�J��
��5����
����;	�!&�
�!&��F����
%&��5����-2�*�01��������&��<���U� "���U��L1, L2

/�L3�&
D
����U
����U� "
��#���������������O�>�
�	-�5�67
����	���	�/���#�,�����>�
�	-����&�3�����&�	

��+	5�67
����1�	���	<�����#	!��	�<
 :P

A

B

CL3

L1

L2

9�����1.17)

T1

D

E

F

T2

K

A

B

C
L3

L1

L2

T2

(�����1.18)

T1

D

E

F
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��	#���C�1 : ������- 1.19��
�L1�II L2��-�
AB
BC

DE
EF

= "

&���#��
��)��L1, L2�/�L3�&
D
����U
 "
��	�	�����L1�II L2 II L3

�.����AF ��X���
)�!���-�AF �/�L2&
D
��
G���A��
��5���
U� "

���	�����AFD��
�� EG II DA [�  L1�II L2 ]

��� AG
GF

DE
EF

= ���U���Q��5�� AB
BC

DE
EF

=

���
AG
GF

AB
BC

= ��� �>�,��ACF�
�AC �/�AF ������;	���L2 ������&���
��5���
 "
��L2 II L3������L1 II L2�9�QZ
��L1�II L2 II L3 9&���#��Z
��	#���C�2 : ��*����������3
���E#����������
��B��A����
������3
���6�����������

���U
�������X����
��
����!?������3
��+�<	�����������;��Y��
�� "
�E����ABC��
�AB �����
��B���A��P "�P���A����
�L��
����X�����-�L, BC ���

���U
 "�L�/�AC �
��5����A��Q� "
��	�	�����L��
���AC �������;��Y���
 "�� >��,�AQ K�QC "
�.����A���A����
�/�L��
���������U
��
�

L1��
����X���
�)�! "
���	����L II BC �9�QZ�RRRRRRRRRRRRRRR91Z
��-�L1  II�L 9�X�����)�	<Z�RRRRRRRRRR92Z
91Z�/�92Z���L1  II BC , �� �>�,��L1  II L  II BC
←→
AB �/�←→

AC �!?����U
��
��
�����	
��5��

���
AP
PB

AQ
QC

= ���
AP
AP

AQ
QC

= ���  AP = PB �Q�� 6����)�	<	

��1 = 
AQ
QC ��QC  = AQ

� �>�,��L��
���AC �����������;��Y���
 " 9&���#��Z

A

B

CL3

L1

L2

(�����1.19)

T1

D

E

F

T2

G

(�����1.20)

A L1

B C

P Q
L
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����/*�/�C��1 (a)
1.��(���J	���(�������
(a)������-1.21��
��L1�II L2 II L3���-�T1�/�T2��5�� "

(i)�AB = 2���R��R��BC = 3���R��R�/ DE = 3���R��R������EF = .....� "

(ii) DE = 6���R��R��EF = 8���R��R�/�BC = 6���R��R�������AC = �RRRRRR "

A

B

CL3

L1

L2

(�����1.21)

T1

D

E

F

T2

A

B

CL3

L1

L2

(�����1.22)

T1

D

E

F

T2

(b)������- 1.22��
�L1�II L2 II L3����-�T1�/�T2��5�� "

(i) AB = 1.5 x BC �������� EF
FD K�RRRRRRRRRRR

(ii)�AC �
��B��A��B�������EF�
�RRR�*�#���!5��FD

2.���������-1.23��
��L1�II L2 II L3����-�T1�/�T2

��
����5�� "�L2�/�L3�!&�
�) ������G /�H
��A�����F����)&
��BG = AD ���-�CH = BE[
&���#��
��) (i) DG : EH = DE : EF

(ii) (DG + EH) : EH = DF : EF
3.���������- 1.24��
�L1�II L2 II L3����-�T1�/�T2���
����5��

)���AB�K�BC������&���#�
��)�2 BE = AD + CF

A

B

CL3

L1

L2

(�����1.23)

T1

D

E

F

T2

G

H

�

A

B

CL3

L1

L2

9�����1.24)

T1

D

E

F

T2

�

A

B

CL3

L1

L2

9�����1.25)

T1

D

E

F

T2
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4. �����1.25��
�L1�II L2 II L3����-�T1�/�T2����
����5�� "�) ������L1 , L2��/�L3�����5��
T1) ������A, B�/�C���A��
��5����
 ��-�L1 , L2��/�L3�����5���T2�) ������D, E�/�F
��A��
��5����
 "�DE= EF ������&���#��
��)� CF – AD = 2 EB�"9�%����HAF ��X���
Z

5.

(i) ����� - 1.26(a)� �
� A-D-B � ��-� A-E-C� "� m�DAE = 500��m�AED =
m�ABC= 650"�AD= 3 ��R��R�AE:EC = 2:1�������DB/�AB
���LM>6���C>	��
 "

(ii) �����-1.26(b)��
�MN II QR , NR = 
�

�
PR���-�PQ = 10���R��R�������PM�/�QM

��C>	��
 "
(iii) �����-1.26(b)��
�PM = 

�

�
PQ,�NR = 1.2���R��R�/�MN II QR �������PR��'�
��
 "

6.�(i)�ABC �
��AB �/�AC �
��B��A��) ������X�/�Y��������2�>���)��XY II BC "
    (ii) ��������3
��*���������
��B��A����
���6���������&�����X������U
��
�����+�<	�������

���;��Y���
 "
    (iii) �*����������#<������3
��C>
��B��A�
����6��������&�����X����c��!?�����������;��Y��
�

&���#��
 "
7. �PQR �
��PQ �/�QR ������;	
��B��A��) ������M�/�N�"�PR �!&
��'�S��)��E#�����

��A��������&���#�
��)�MN ��QS �������;��Y��
�� "
8. ABCD����&�3�	�,�
�AB CDII "��C>�AC �/�BD �
��5���A��P�������&���#��
��)�

(i) AP : PC = BP : PD (ii) CP : AC = DP : BD

9. ABCD����&�3�	�,�
��AB DCII ���-�AD �
��B��A��P "�AB ��������U
�������X��
←→
PQ ��BC ����Q���A��
��5������&���#��
��)�Q���!5��BC �
��B��A� "

10. ABCD�����>�3
�AB ��BC ��CD �/�DA ��������X
��B��A��) ������P��Q��R�/�S "
(a)�&���#��
��)�PQRS��������U
������� "
(b)�!&�
�?������>3�ABCD�
��C>�;	�&
D
�&�����c������
���&���#�
��)��PQRS������	������ "

A

D E

CB

P

M N

RQ

9�����1.26)(a) (b)

500

650

650
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11. �����- 1.27��
���ABC�
�BA ��������
CM ����U
��AB �
��B���A��P "
PQ ACII ��QR CMII [
&���#�
��)�� PR AMII �"

1.4. ���
'������	������@
+=���GH/
��	�,	��	��
���	���C�3

�5	"
)� �
�'���� )�� ��	��� ���@
+=�4� ��#
� ��	��� �Q�+/�� �	#���� �D�L� ��!"

��+	+=���'	5���4����	�.����AB1�������	�4�����(���-,53��	#��@
����AB1�������	�
��R���	� :

�The bisector of an angle of a triangle divides the side opposite to the angle
into two segments whose lengths are proportional to the lengths of the corresponding
adjacent sides.�

�E����ABC��
���BAC�
����;��Y�� →
AX �BC ��������D���A��
��5����
 "

��	�	������ BD
CD

AB
AC

=

�.���� →
CA �!&�
��&
�������A��E����F���
�)�!�
�)&
����C - A- E���-�BE DAII � "

���	���� EB ADII ����-�EC �����5�� "
�����
%&�������BEA 
��DAC  ....(1)

&��P���EB ADII ���-�AB �����5�� "
�����U
��ABE 
��BAD .........(2)

������BAD 
��DAC           .........(3)���9�BAC�
����;��Y�� →
AX �����Z

(2)�/�(3) ���ABE 
��DAC ......(4)

(1)�/�(4)����BEA 
��ABE

���ABE �
�AE = AB           ......(5) ��9��������3
���>������#
��f��<�����������Z
�EBC �
�AD EBII �9�X�����)�	<Z

��� BD
DC

EA
AC

= �9!&&��6�@�1����)�	<Z

��
BD
DC

AB
AC

= �[(5)����)�	<]��9&���#��Z

(����� 1.28)

A

E

B CD

X

B

A

M

C

R

Q

P

9����� 1.27)
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����
�C�1.2�������	���C�3����
��/������ ����	����
)���
�'������I��
�)����	����/01����.
����S
��?���	����
��/���	#�����D�L���!"


�-����'	5����4������!"
����AB1�4�����(���-,53��	#��@
����AB1���#���	���	�/��#�,4
��S
"
��M�?���	�������@
+=���� :

(If a ray drawn from the vertex of an angle of a triangle divides the side opposite
to the angle into two segments such that their lengths are proportional to the lengths
of the corresponding adjacent sides, then the ray bisects the angle concerned.)

�E����ABC �
��BAC�
�2<W>�A�
���X��� →
AD ��BC �������

D���A��
��5���
��)&
������ BD
DC

AB
AC

=

��	�	�����
→
AD ���BAC ������;��Y���
 "

�.����
→
CA �!&�
�E��&
�������A��

�)&
����C-A-E���-�AE = AB "�BE ��X���
�)�! "

���	���� BD
DC

AB
AC

= ��9�QZ

�� BD
DC

AE
AC

= �9��AB = AE H��X�Z

����EBC��
� →
AD �II�EB �9!&&��6�@�2��;�
�Z

���U
��EBA 
��BAD ...... (1) �9
→
AD �II�EB �/�AB ��5��Z

��-��BEA 
��DAC ....... (2) �9
→
AD �II�EB �/�EC ��5��Z

������EBA 
��BEA�9�X�Z
��(1)�/�(2)���BAD 
��DAC��� �>�,� →

AD ���BAD 
����;��Y��9&���#��Z

1.4.1��
�'�����#
T�J���	������@
+=���
�����3
����g�'����#����;��Y���;�
����
%&��������&����ch�
�����������
��� "

9�����1.29)

A

E

B CD

A

D

B C
X

A

D

B C

A

B C

X
XY

(����� 1.30)(a)
(b) (c)
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�����- 1.30(a)��
��ABC �
��CAD��A�2<W>��A��J��
�������g�'����#���-� →
AX �!?

���g�'����#
����;��Y� "� →
AX �����BAC�
�����#
T���@
+=������)�� "

����&
��������1.30(b)��
��BAC�
����g���;��Y�� →
AX ���-������1.30(c)��
�A�2<W>

J��
���
������g�'����#��2�>)�
�&���6�
����;��Y���X���
�)�
5� "��#���J��
��BAC�

��
������g���;��Y����!5�� →

AX ���-� →
AY "

���������������������.6�����������H
(i)������1.30(a) �
� �����ABC�
�AB > AC "� AC ����������-�*F����g�'��CAD�


���;��Y�� →
AX �� →

BC �
2a�����5���
�5� "
(ii)������1.30(b) �
� �����ABC�
�AC > AB��AC ��-�*F����g�'��CAD�
����;��Y�

→
AX ��BC ���� →

BC ���E#��������5���
���������3#�&01�����7 "
(iii)� ����� 1.30(c)� �
� AB � /� AC � 
� ��LM>6� ���� "� �� �.���
��.6���� ������� �)

A 2<W>J��
�!&��F����g�'����#�;	
����;��Y�� →
AX ���-� →

AY �&���6�� BC �������U
 "��#�
!&�
�?���E#������;��Y��BC ���� →

BC ���� →
CB�����5���
������:�"

&�2; >� '� ����� - 1.31�
� �� ���3
� ��� ���#

���g���;��Y����f��<����������)!:���
���*�
�&
�#�
��
�������
��
���LM6>�������
%&��-�*F������;	

��LM>6
���#��d�>��5�������� "

���&
������ABC�9�)!: ��
�AC > ABZ����3��X���
 ���-�A 2<W>�
����g�'��BAD

�X���
 9�����-1.31����Z"���������g�'����#
����;��Y�� →
AX ��X���
��)&
������ →

CB���
�5���
�� "��5����A�
�����P ��� "��J��
� →

AX �� CB ����P ��A��
��#
�
1'	����
�5�������
����)�� "� CB �
������>��3�
��!&��F��-2���
�������� CP ���-� BP � "�B ��A�J��
� AP �����
���U
��
����X���
��)&
�������AC���E ��A��
��5���
�� "��Q>���������!&&��6-3

���
%&�I�
��
�&���#��
�&�
����)� AB

AC K� BP
CP "

� �>�,������3
�������#
����g���;��Y������U�!&&��6�@�3��B�&�)�36"
�����3
�������#
����g����;��Y������U�&���	�@�1.2
����
%&���T�U������@
��ABC�� →

CB�!&�
�E �&
�������A���)&
����C-B-E ��-
EB : EC = AB : AC �������BAD ���AE ���;��Y���
"

A

P

X

D

B C

A

E

D

B C

E

(�����1.31)

(�����1.32)
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B J��
� AE � ��������U
� �
��� �X���
�� &���	� - 1.2
����
%&�I�
��
����� &���#
�
�&�
�� "

�#�������3�#���@�)����
'������!��	#�����AB1�������	�������/
��	#�����#
�
1'	��
����&�	��
2��  �)#
��	#����
��/���/01�
2����-�D	�����+	+=��@	�	� ��#
��/01����&�	
�#
T�J���	�����@
+=
��#�) :�� �>�,�&���	-1.2����������3
���E#�������
������>��3��&�
:��B
&�)�36 "

����/*�/�- 1 (b)

1. �����1.33 �
���ABC
�BC ������!&
��'�D�����A����)&
����AD , �BAC
����;��Y� "
���� �������&������X��B
��J��,����&�������5�����F�
� ����2%�6�'���&%
#��
 "

��ABD / ��ADC 
��.��4�
����&���RRRRRRRRRRRRRRR
9AB : DC, BD : AC, AB : AC, AD : BCZ

2. ��ABC�
��ABC�
����;��Y��AC ��������D���A��
��5����
 "�AB = 4���R��R�
BC = 6���R��R���-�AC = 5���R��R�������AD�/�CD���C>	��
 "

3. ��ABC�
� AB BC, � /� CA ������ ��	
���LM>6��� ) ������c, a /�b ����
%�&��%���
�
�)�� "��ACB 
����;��Y��AB ���M ��A��
��5�������&���#��
��)�

(i) AM = 
bc

a b+ (ii) BM = 
ca

a b+

4. (i) �����-1.34 �
����ABC 
�AC �����&�����B���BP "
�BPC ��-�BPA�
��Ug���;��Y��) �����
BC /�AB ���X /�Y ��A��
��5���
U� "
&���#��
��)�←→

XY II AC "
    (ii) �����-1.34 �
��APB ��-�BPC�
����;��Y����� AB /� BC ��� ) ������Y /�X

��A��
��5���
U� "�)���←→
XY II AC �����������2>����)��P,  AC
��B��A� "

5. �����-1.34 �
���ABC 
�←→BP �B�� "��APB
����;��Y��←→PY , AB ���Y ��A��
��5�

��
 "� AC �������U
��
��Y���A��
� ←→YX ��X���
�)�
5����)&
������� BC ���X

��A��
��5���
�5� "�&���#��
��)�� →
PX , �BPC�
����;��Y� "

A

B
D C

(�����1.33)

A

B X C

Y P

(�����1.34)
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9�Z���+2����� 9�Z���>�������

(i)

(ii)

(iii)

(iv)

6. ��ABC �
��BAC 
����;��Y���BC ���P ��A��
��5���
���-��ABC 
����;��Y�

AP ���Q ��A��
��5����
 "�&���#��
��)�
AQ
QP

AB AC
BC

= +
"

7. ABCD ����U
�������
��BAD
����;��Y���BD ��C>���K��A��
��5���
���-��ABC


����;��Y���AC �C>���L ��A��
��5����
 "�&���#��
��)�←→
LK II AB "

8. ABCD �����>3
��DAB/��DCB���#�;	
����;��Y��&
D
���BD �C>�!&�
��5��
U� "
&���#��
��)��ABC /��ADC 
����;��Y���;	�&
D
���AC �C>�!&�
��5���
��� "

9. ��ABC �
��B 
����;��Y���AC ���E ��A��
���-��C 
����;��Y��AB ���F ��A��

�5����
 "� FE  II BC �&���#��
��)���ABC ���;����� "

10. ��ABC �
��A, �B /��C
����;��Y���BC , CA /�AB ����) ������D,E /�F ��A��


�5�����&���#��
��)� BD
DC

CE
EA

AF
FB

. . = � "

1.5 ���	�
�
���
���������	�����(Similarity in Geometrical figures) :

��E#����*��������������������������������������������������ch�
���
���I�
#���
� �! "
) ��@�(i) ����������������&
������)�!5���� �>�,����
��	���
�(shape) ���&
�[

(ii) ���������������������01��� �>�,����
��	�	��(size) ���01[
��!"
���	�
�
���
�����	���
���	��	�	���'
��'
�3��#�,4������!"
�����1����
��

(Congruent figure) ��#	D	)4���� �������3�#�5 "
�-K	����
�����!"
���	�	����	���	����	���#�4�D�
��'
��
�����	���
���	��#�)4

������
�����!"
��������(similar) �
�����#	D	) :

9�����1.35)
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����� -1.35 �
�9�Z��_�
�����*�01�����+2���U����-� 9�Z��_�
� ��������*�01�����>��
��U� "��-^�
��������DS��)����!"
�������
�����1������#	!�	�<
��
<����!"
���1����
��
��1�	�������"<
 :

�����3�#�5��)��*�������W�������3
�����*�01�������LM>6���2�S���-����#*�01������&
���#
��2�S "����
�-���!"
���	���-+����	#���
�
9���0���#�'���������"<
 :
1.5.1 �	�������E1�(Conditions for Similarity)��

��
��������3���!:���
#
����+2���������������������
����&%�>
����
��������3
����+26
�d�>�
�I�
#��&�
������26� "

D
C

A B

H
G

E F

M

L

J K
(����� 1.36)

�Q>���,������1.36 �
�ABCD /�EFGH ��
�����+2������>3� "�����������X��B
������
�����JKLM �����>3��������+2�����: "�ABCD /�EFGH ������>3��;	
��������X
���LM>6�/
2<W>��A����X�
� �������#���X
�&
���#���&������������������������@

(i) �A ����E, �B � �F, �C � �G, �D � �H )�-�(ii) AB
EF

= BC
FG

= CD
GH

DA
HE

=

�J��
�A /�E, B /�F, C  /�G ��-�D /�H�2<W>��)�01����X������(���/01�(Corresponding
Vertices) ����)�� "�) ��@�2<W>�A�
����
%&�2<W>������2<W>�E, B�
����
%&�2<W>������F

�6��� "����
%&�2<W>����X�
� �������#�������
%& "�) ���A 
����
%&����#���������E, �B

����
%&����#��F 
�6��� "����
%&�2<W>��)�01����X��&��U��A��
%�&���
�!&��F,���! �����������X�
����(���	#��(Corresponding Sides) ����)���"��) ��@

���A�� �� �
%&
← →⎯⎯⎯ ���E

���B�� �� �
%&
← →⎯⎯⎯ ���F

AB ����
%&�EF

����&
���BC ����
%&�FG ��CD ����
%&�GH��
�6��� "
���+26
���X����
�������������H�ABCD������>3�~ EFGH������>3
ABCD �����>3���-�EFGH �����>3��.���
�(i) ���(ii) �Q>�&%
#���! ��������ABCD

/�EFGH�����>3�;	�&
D
���+2����� "����
%&�����
�&i��3��W01��3������6��6������3���X

���+26
��Q>�!��=���
�&�
��� "



[ 22 ]

������#�'�������	���-+����	#��&�	���!"
��#�'���������#���D�
����	�.�
(i) �����(����	��	�����1���)�-�(ii) ����(���	#��	�����	���	�/ :

1.5.2 �������#�'���	�.���	�����(Naming Similar Polygons)��

�����- 1.37 �
�ABCD�/�EFGH 
����+26��2�>
�ABCD ���>��3�~ EFGH �����>3�������
��	�
����
%&�2<W>���A�*�01���������X
�����
.���
�������)�
 �� "���
#����.���
�A � E,
B � F, C � G ��-�D � H "�ABCD ���>��3�/�EFGH ���>��3��B�
� �������+26�������
�-����
�����&�
����ABCD �����>3�~ EFGH ����>�3���c��BCDA �����>3�~ FGHE ������>3
��c��CDAB ���>��3 ~ GHEF  �����>3�
�6��� "���U��ABCD ���>��3�~ GHEF ���>��3��������J��,
����: "
1.6��
�'���	�.�������	�����(Similarity in Triangles) :

�Q>���������$�V�����
���
��������3��B�
����+26��ch�
�����������
��� "
�����3��B���������3�9)���
�������-�6������Z "��#����+2������3
��-^���B���+2������3


�-^�
����
%& "��#���������������
��������3���+2�������)��������3���
��
�@
(1)����
%&��������������&��<[��(2)����
%&����#������>�� "

) ��H��ABC�/��PQR��B�
�
AB
PQ  = 

BC
QR K CA

RP ���-��A 
��P , �B 
��Q����C 
��R

�������ABC ~ �PQR���� "
�����3�;	��.���
�@ ���
%&�2<W>�H�A ��P,  B ��Q, C � R

���
%&������H�AB �� PQ, BC ��QR , CA � RP

���
%&����#�H��A ���P,  �B ���Q, �C � �R

������
�'����U��������	�������(���R��
�����-1.38��
����ABC ~ �PQR"
�ABC�
��AD ��BC &�����c "
AF , �BAC�
����;��Y� "
AE , BC �&�����B�� "

D
C

A B

H
G

E F
(�����1.37)

A

B D FE C

P

Q RS UT

(����� 1.38)
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����&
���PQR �
�� PS ��QR &�����c "
PU ���QPR 
����;��Y� "� PT ��QR �&�����B�� "
���
%&�2<W>�A�/�P�
���f��<�������&�����c������AD �/�PS ������3��;	
�����(���8�	V
���
%&�2<W>
���X����B�����
#
���AE �/� PT ,������3��;	
�����(�����	[
��-�AF �/� PU ������3��;	
�����(����	�����@
+=� "
��!���
��)�01�����
%&��c����
�)�01�����
%&��B������
�)�01�����
%&����#@���;��Y���B

�5� "����3���*�01���������
������
�������S���
 "
�
�'����	������GH/
�����	"
�%�1��
(i)�&���6�������3���3������+2��� �>�,���ABC ~ ��ABC

(ii) ���ABC ~ ��PQR � ��PQR ~ ��ABC

(iii) ���ABC ~ ��DEF,   ��DEF ~ ��PQR��� ��ABC ~ ��PQR

���+26�I�>����)�	<�(i), (ii) ��-�(iii) ���) ���������+26
�$���6��&��������-��-���<�I�>
����)�� "�!?�I�>*�01��
�*�#������6���
��+S�
��$�V�*�
��;�
��5� "

&
�Q><�!&&��6��6���
��
���*�01��
�&���#���3�
��
�)�
&�
�� "
1.6.1��
�'�����	������GH/
��E1�(Conditions on Triangle-Similarity) :

��
��������3
����+26���*�����F�
�&��Q���
����Q>�����
�&��
)�
 ��� "
1.����
%&��������X
���LM>6
������&������
2.����
%&����#���X
���>���� "
������������Q>�;	���&
��&
D
���
�&.�� ��
&
D
����>
2<� "����F�&
<.�*�01�������B����
 "
��/U	�C�1.

������Q>�@�1������T��
� ������
��������>3������1.39 �
�����)�
5� "
�����-1.39�9�Z��
�m�ABC =900���AB = BC = 1�������-�AD = CD = 2�������


�����>3��X������
5� "
�����1.39�9�Z��
�m�EFG = 450���EF = FG = 2 ������-�EH = GH = 4�������


�����>3�EFGH��X������
5� "

������DS��)� AB
EF

BC
FG

CD
GH

DA
HE

= = = [

��U�����
%&����#*�01�����>������:U���) ��H��B�/��F���>������:U� "

A D

B C

E

H

GF

9�����1.39)
9�Z 9�Z
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9�����1.40)
A

B

D

C

H E

FG

A

B C

X Y

D

E F

��/U	�C�2
������Q>�@�2������T�
� ������
��������>3������-1.40��
�����)�
5� "��J��
�ABCD���

��	��������-�EFGH�����*>���� "������;	�
��AB = EF "

������DS��)�ABCD�/�EFGH������>3���
��
����
%&����#������>���9&���6����

�����#Z����U�����
%&��������X
���LM>6
����&���*�01�����������U� "�) ��AB
EF = 1����U��BC

FG 
1

�'
���/U	���#��;��	%��#	!�&���D���!"
����'�1�������(���	#��	�.����	���	�
�	
)�-�����(����	��	�.����1���	���N���
'1��/*���#<
 :������!"
��E1���N���
���U :

��U����
��������3��B�
����
%&��������X
���LM>6
������&��������-����
%&����#���X

��>������Q>�;	�&
D
����>
2<� "�� �>�,��*������Q>���T���������6��Q>���$�g���T���� "
!&&��6�4�/�5��
����
�&���#�����)�
5� "
1.6.2��
�'����	������M�
1�����	���(Theorems on Triangle-Similarity)��

�Q>��������������3���
����B�
����+26��ch<	��Q>���)�?��%��������&���#��
��� "
���	���C�4

�5	"
)���
'�����
�
��	�4�����)����
'��������(����	���#���1����#�,4���
'��
��!"
������#��<
 :

�If the angles of a triangle are congruent to the corresponding angles of another,
then the triangles are similar.�

�E����ABC /��DEF �B�
��A 
��D, �B 
��E ��-���C 
��F

��	�	������ABC ~ �DEF

�.��������
�AB > DE "��AB �!&�
�X���A������)�!�
�)&
��A-X-B���-�AX = DE

XY ��X���
�)�!��)&
��XY II BC ���-�A-Y-C

���	����XY II BC �9�X�Z
���AXY 
��B�9���
%&����#Z
����AXY 
��E 9� ��B 
��E��QZ�RRRRR(1) (�����1.41)
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����&
��&���#��
�)�
�&��
��)���AYX 
 �F RRRRRRR�92Z
�AXY /��DEF��B�
���AXY 
 �E [(1) ���)�	<]
�A �
 �D �9�QZ����-�AX = DE�9�X�Z "����AXY 
��DEF 9���@���@�����>����Z
��AY = DF �9���
%&�����
���LM>6Z RRRRRR�(3)

�ABC��
��←→
XY II BC �9�X�Z

��
AB
AX

AC
AY

= �9!&&��6�@�1�
������T�UZ

��
AB
DE

AC
DF

= �[���AX = DE �9�X�Z�/�AY = DF�9(3)�
�&��j�] ........ (4)

BA �!&�
�Z���A����
�9�)&
��BZ = ED�Z���-�Z���A����
�AC �������U
��
��
��
�X���
��&���#��
�)�
�&��
��)�AB

DE
BC
EF

= RRRRRR(5)

(4) /�(5) ���
AB
DE

AC
DF

BC
EF

= = RRRRRR(6)

�ABC�/��DEF��B�
���A 
��D, �B 
��E ���C 
��F�9�QZ
��-����
%&��������X
���LM>6������&��<�[(6)����)�	<]
���ABC ~��DEF�9&���#��Z
9)���DE > AB�����������DE �!&�
�X���A����
����
%&������&���#��
�)�
�&�
�� "Z
"/�	�����-�.&�
����+26
������Q>���O��	C��	C��	��	����W�(A-A-A Similarity)������

����)�� "
����
F	<�C�(1) :��*����������3
���
������#�) ��������6���������3
���
������#���

��>����������+�<	����#��;	�$�g��>������U�"9�&���6�������3
��������#
�&
���#���S� 1800"Z
�#�����.���
������3�;	��B���+2����U� "����+26
������Q>����-�.&�
�O��	C��	��	����W

����)�� "
����
F	<�- (2) :���+2���#<������3��;	�9�*����
��������#�) ��������6��
���������#���

��>��Z�
����
%&��������X
���LM>6������&��< "�!&&��6�- 4 
�&���#�
��(6)��%����!?�����)�	<���DS "
���	���C�5

�5	"
)��
�'�����
�
��	#�����AB1�4�����)���
�'��������(���
�
�	#�����AB1���#���	���	�/
�#�,4��
�'�����!"
������#��<
 :

�If the lengths of three sides of a triangle are proportional to the lengths of the
three corresponding sides of another triangle, then the two triangles are similar.�
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A
D

B C

E F

P

Q R

�{

�E�����ABC�/���DEF��B�
�� AB
DE

BC
EF

CA
FD

= =

��	�	������ABC ~ ��DEF

�.������PQR��X���
�)�!���)&
��QR 
�EF , �Q 
��B �/���R 
��C

���	�����ABC�/��PQR��B�
���B 
��Q�/��C 
��R�9�X�Z
���ABC ~ �PQR�[!&&��6�@�4�������T�U�(1)]��.............(1)

��
BC
QR

AC
PR

AB
PQ

= = ��[!&&��6�@�4�������T�U�(2)]�Z

��
BC
EF

AC
PR

AB
PQ

= = �[QR = EF�9�X�����)�	<Z] RRRRRRRRR(2)

����� BC
EF

AC
DF

AB
DE

= = �9�QZ RRRRRRRRR(3)

(2)���-�(3) ���� AC
PR

AC
DF

= ���-�
AB
PQ

AB
DE

= ��PR = DF�/�PQ = DE ........... (4)

�PQR �/��DEF �B�
��QR = EF 9�X�Z�PR = DF ��- PQ = DE �[(4)����)�	<]
���PQR 
��DEF�9.���@��@�����>����Z����PQR ~ �DEF ............ (5)

(1) �/�(5) ���ABC ~ ��DEF �9���+26
��-���<�I�>Z�9&���#��Z
��9�����!&&��6�@�5��
� ���������,3��B�
����+26
��Q>����-�.&�
�O�	C�	C�	��	����W

9S-S-S SImilarityZ�����)�� "
���	���C�6

�5	"
)� �
�'���� ��!� �	#��� ��AB1�4� ���� )�� ��
'���� ����(�� ��!� �	#��� ��AB1�� �#
��	���	�/��#�,�)�-��	#��	�.��<51����	����!"
���1����#�,4���
'���@
������#��<
 :

�If the lengths of two sides of a triangle are proportional to the lenghts of the
corresponding two sides of another triangle and the angles included between those
sides are congruent, then the trianlges are similar.�

�E����ABC�/��DEF��B�
�� AB
DE

AC
DF

= �/��A 
��D� "

(�����1.42) (�����1.43)(a) (b)
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��	�	������ABC ~��DEF� "
�.�����PQR��X���
�)�!���)&
��PQ 
� DE ���P 
��A, �Q 
��B� "
���	�����ABC�/��PQR��B�
���A 
��P�/��B 
��Q�9�X�Z
���ABC ~ �PQR �9!&&��6�@�4�
������T�U�(1)Z RRRRR�(1)

��
AB
PQ

BC
QR

AC
PR

= = �9!&&��6�@�4�
������T�U�(2)�Z RRRRR�(2)

�
AB
DE

AC
PR

= ��9��DE = PQ��X�����)�	<Z�������� AB
DE

AC
DF

= 9�QZ RRRRR�(3)

(3) 
����
AC
PR

AC
DF

= ���PR = DF ....... (4)

�PQR /��DEF ��B�
� PQ 
� DE �
PR 
� DF �9(4)����)�	<Z

���P 
��D�9�A 
��D�9�QZ���P 
��A�9�X�ZZ
���PQR 
 �DEF�9��@���@�����>����Z
���PQR ~ �DEF ....... (5)

(1)�/�(5) ���ABC ~ �DEF�9���+26
��-���<�I�>Z����9&���#��Z
��9�����!&&��6�@�6��
� �������+26
��Q>����-�.&�
�O�	C��	C�	��	����W��S-A-S

Similarity������)�� "
1.6.3��������
'�;;���GH/
����	�������
	5��

&%�>�Q<>�!&&��6���X�
���
��������3���!:���!:��Q>�
���+2����U�������3�#������-���7
�
!k�����*�
�,�;&%C>�� 6������3�#��� "�!?�� 6�����������
�����+2������3
����
%&��������X

��LM>6� �����&��<� ��U� "����� ^��
�!&�)�*��
�� ��!� ������*�
��;� &%C>� � 6������&
�Q<>
���������
�&G1��� "

����
�C�1.3�H���!"
�������
�'�����U��X*������	�4����	�.������(���	#��	�.
��AB1����5	1���	���#���	� :

A

D

B C
E F

(�����1.44)

P

Q R

(�����1.45)

�{

(a) (b)
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�The areas of two similar triangles are proportional to the squares of the lenghts
of their corresponding sides.�

�E����ABC ~ �DEF � �>�,���A 
��D, �B 
��E, �C 
��F

��	�	����� Δ
Δ

ABC
DEF

AB
DE

BC
EF

CA
FD


��.��4�

��.��4�

= = =
�

�

�

�

�

�

�.����AM ��BC ���-�DN ���EF ��X���
�)�! "
���	�����ABM �/���DEN��B�

����AMB 
 �DNE �9&���6�������#�@��X�Z
��ABM 
 �DEN 9��+2������3
����
%&����#Z

�������ABM ~ �DEN �9���@�������+26Z���
AM
DN

AB
DE

= ��9���+26
��-^�Z .........(1)

&��P��ABC ~ �DEF�9�QZ���
AB
DE

BC
EF

= �9���+26
��-^�Z.........(2)

(1)�/�(2) ���
AM
DN

BC
EF

= �.........(3)

Δ
Δ

ABC
DEF

BC AM
EF DN


��.��4�

��.��4�

=
�

�

�

�

x
x �� BC

EF
AM
DN

x ��� BC
EF

BC
EF

x �9(3)����)�	<Z

���������K� BC
EF

�

�
RRRRRRRRRR(4)

������ABC ~ �DEF �9�QZ���
BC
EF

AB
DE

AC
DF

= = ��RRRRRRR(5)

(4)�/�(5) ��
Δ
Δ

ABC
DEF

BC
EF

AB
DE

AC
DF


��.��4�

��.��4�

= = =
�

�

�

�

�

� 9&���#��Z

����/*�/�C�1(c)
���C��
'	5�

1.�H�/������Y
�;��E���	>
��(���J	���(�������
(i) �ABC�/��DEF��B�
��m�A = m�D, m�B = m�E, AB = 3���R��R��BC = 5���R��R

��-�DE = 7.5���R��R�������EF��K�@@@@@@���R��R 910, 10.5, 12, 12.5Z
(ii) �ABC �
�AB = 5���R��R��BC = 7���R��R��CA = 8���R��R[��PQR��
�PQ = 10 ��R��R�

QR = 14 ��R��R " PR�K�@@@@@���R��R��������ABC�/��PQR���+2���#<����� "
(12, 16, 20, 24)

A

B M C

D

E N F

(�����1.46)
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(iii)  �ABC�/��PQR��B�
��B 
��Q � " �ABC�
�AB = 8���R��R���-�BC = 12���R��R "
�PQR�
�PQ = 12 ��R��R���-�QR = 18 ��R��R"��ABC�
��.��4��48��*>���R��R������
�PQR�
��.��4��K�RRRRRRRRRRRRRR�*>���R��R�����"

984, 96, 104, 108Z

(iv) �ABC �
��ABC�
����;��Y��AC ����P���A��
��5����
 "�AB = 12 ��R��R

/�BC= 9���R��R�������AP : AC................. �94:3, 3:4, 7:4, 4:7Z

(v) ��
���������������3
��.��4�
����&���16 : 25�����������������3��;	


���
%&��)�01�
���LM>6
����&���RRRRR "�94:5,  2:5, 5:4, 5:2Z

(vi) &�2;>�'������
��m�B = 500, m�BDC = 1000

/��DBC ~ �CBA �������m�ACD......

9600,  700,  800, 900Z

(vii) &�2;>�'������
���ABE �/��ACD�
��.��4������

�������BOC ~ ........

9�ADE, �DOB, �EOD, �OECZ

(viii) &�2;>�'������1.49��
��ABC�
�AE �/�BD �) �����

BC �/�AC �&������&
<��2<W>���A�
���c������

�BEM ~ ��..........

[BEA,   ABD,  BDC,   AEC]

(ix) �����1.50��
�BC �!&
��'�D������A� "

��ADC 
��BAC�������CB . CD�K�@@@@@

(AC2, AB2, AD. AB,  AD. AC)

(x) �ABC��
��BAC�
����;��Y��BC ����M���A��
��5���
 "

������AB :AC = 2:3���-�BC = 15���R��R�������BM�K�RRRR��R��R�96, 9,  10, 12)

A

D

CB
(�����1.47)

A

D E

B C
O

A

DB C

A

D

EB C

(�����1.48)

(�����1.49)

(�����1.50)

M
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�+�C��
'	5�

2. (i) �ABC��
�AB = 2.5���R��R��BC = 2���R��R��AC = 3.5���R��R��-��PQR��

PQ = 5 ��R��R���QR = 4 ��R��R��PR = 7���R��R"�m�A = x0�/�m�Q =y0�������m�B,
m�C��m�P��/�m�R���C>	��
 "

(ii) �ABC�/��DEF��
��B 
��E, AB = 4���R��R��BC = 6���R��R��EF = 9���R��R�/
DE = 6���R��R "��ABC�
��.��4��20��*>���R��R��������DEF�
��.��4����C>	��
 "

(iii) ��
�����+2������3��B
��&� ���
��.��4���;��<	��
��.��4�
�9��*�#������������3���
��

���
%&�������;	
����&�����C>	��
 "

(iv) �����1.51��
���BAC 
��ADC, AC = 12 ��R��R�/
BC = 15 ��R��R"��ADC�
��.��4��32��R��R��R
�������ABD�
��.��4����C>	��
 "

(v) �ABC 
�AB = 5���R��R��BC = 7���R��R�/�CA = 9���R��R "��PQR ~ �ABC���-��PQR

�&
��<���63���R��R�������PQ, QR �/�PR���C>	��
 "

(vi) �ABC ~ �PQR; AB = 5���R��R��BC = 12���R��R��AC = 13���R��R��/�QR = 8���R��R
�������PQR��.��4����C>	��
 "

(vii)��ABC~ �PQR�"��ABC &
��<���60���R��R�/��.��4��81 �*>���R��R��-��PQR�

&
��<���80���R��R����������
��.��4������ 8

3.�&���#��
��)���
�����+2������3

(a) ���
%&�!O�����X
���LM>6��!?������3��;	
����
%&��������X
���LM>6���������&��< "
(b) ���
%&����#����;��Y�����X
���LM>6��!?������3��;	
����
%&��������X
���LM>6

��������&��< "
(c) ���
%&��B������X
���LM>6�������3��;	
����
%&��������X
���LM>6���������&��< "

4. ��
�����+2��l��3
�&
��<��������������&���#��
��)������3���
�����>�� "
5. ��
�����+2������3
��.��4�������������&���#��
��)������3���
�����>�� "
6. &���#��
�H���
�����+2������3
��.��4�
����&����!?������3��;	


(a)����
%&�!O�����X
���LM>6
��*�>��&���������� "
(b)����
%&����#@���;��Y����X
���LM>6
��*�>��&���������� "

�

A

DB C
9�����1.51)
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(c)����
%&��B�����X
���LM>6
��*�>��&���������� "
(d) &
��<��
��*�>��&����������"

7. ��ABC 
� AB /� AC ����� !&�
�P /�Q �&
����
��� ��A�� �)&
�����BQP /��CPQ

���.��4����2�S "�&���#��
��)� PQ
BC

AP
AB

= "

8. �����1.52 �
�AB /�CD 
��5����A��O "
    (a) AO . OD = BO . OC ������&���#�
��)��AOC ~ �BOD "
    (b)CO . OD = AO . OB ������&���#�
��)��AOC ~ �DOB

    (c)&%�>�Q<>���!:��.���
�AC /�DB ���U
����� 8
9. ABCD����&�3�	�,�
�AB II DC "��C>�AC /�BD &
D
���O ��A��
��5���
U� "

AO = 3 ��R��R���-�OC = 5 ��R��R "��AOB 
��.��4��36 �R��R��R��������COD 

�.��4����C>	��
 "

10. �����1.53 �
��ABC /��DBC !�	�����%���BC !&
��' "
AC /�BD 
��5����A��O �����

&���#��
�H� Δ
Δ

ABD
BCD

AO
OC


��.��4�

��.��4�

=

�5�C��
'	5�
11. &���#��
��)���������3
��������X
��B��A�
��-�)�3���
���Y���X��;�
�������3����)!:

���
���������3�
�&
�#����������������>���/�&���6���%�������3������+2 "�&��P�&���#
�
��)�!&��F����
 ����&���6�������3
��.��4����%������,3
��.��4�
������� �>-2 "

12. �����1.54 �
���ABC
��ABC��������# "�PQRS
�����	������������&���#��
��)�
�APS ~ �QCR ~ �PQB ~ �ACB

13. �����1.55 �
��AB �II DC "
�ADO ~ �BCO ������&���#��
��)�AD = BC
9�%����H�&�2F�5 �
�&���#���� 6����6���
��
Z

14. ABCD ���&�3�	�,�
�AD �II BC "��ABD 
��DCB �����
�&���#�
��)�BD2=AD . BC "

A C

O

D B

A D

B C

O

(�����1.52)

9�����1.53)

A

B C

R

Q

P

S

A B

D C

O

(�����1.54)

(�����1.55)

�
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15. �ABC 
� AB �/�BC �����!&�
�) ������X /�Y ��A�����'����)&
����XY �II BC "�&���#
�
��)���ABC 
��B���AD ��XY ������;��Y���
 "

16. �ABC �
�AD ����B�����-�AD 
��B��A� E "� →
BE 
2a��AC ���X ��A��
��5�����

&���#�
��)�BE = 3EX "
17. �ABC �
� AD ��� BC ��-�AD2 = DC . BD�������&���#�
��)�(i) �BAC ��

�����#�(ii) �ABD 
��.��4��/��CAD 
��.��4��AB2 /�AC2���������&��< "
18. �ABC /��DEF �
�m�A = m �D, m�B = m�E "�BC /�EF 
��B��A��) ������X /

Y ������&���#��
��)�(i) �AXC ~ �DYF  (ii) �AXB ~ �DYE "
19. �����1.56 �
��ABC�
�AB !&
��'�Q �����A��

QR BCII �)&
����A-R-C, DR QCII �)&
��� A-D-B "
&���#�
��)�AQ2 = AD x AB

20. �����1.57 �
�AB CD EFII II ��-�AF /�BE &
D
��
C ��A��
��5���
U� "�&���#��
��)�EF x BD = DF x AB

21. ��
�����+2������3
��Ug�+Q
��6���T>��;	
����&���
!?������3
���
������
%&�����
���LM>6
����&������������&���#��
 "

22. A-P-B /�A-Q-B �������-�
AP
PB

AQ
QB

= ������&���#��
��)�P /�Q �����F "

23. �����1.58 �
��ABC 
��ABC ����'%�����# "
A 
�� →

BC &�����X�����c
�&�����A��D "
)���AD2 = BD . DC ����
&���#��
��)��BAD �/��CAD &
D
����
%&� "

24. �ABC 
�AB /�AC !&�
�) ������X /�Y ��A�����'�����)&
����XY BCII "����&�3�	�,
XBCY 
��.��4����AXY 
��.��4�
���J*�#�������AX : BX ��C>	��
 "

25. ABCD �������U
������� "�
→
AG 
2a��� BD CD, /� →

BC ��� ) ������E, F /�G ��A��

�5������&���#��
��)�AE : EG = AF : AG "

A
D

RQ

B C

A

B

C

D

E

F

9�����1.56)

9�����1.57)

D
<

A

B C
9�����1.58)
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1.7. ��������#<������3�����d+?���+2������3���X��B�
� ����������!&���	�� 6����F
&���	�/����
������T�U�
�����������
�)�
5� "

����
�C�1.4 : )������	�/��
�'��������	����/01����Z1����
��.
��,G��@	�	��D�L
��!"
��
�'�����&�3�#�)4�����@
���������(*��
�'����#
������� ���N������ :

9When a perpendicular is drawn from the vertex of the right angle of a right-triangle
to its hyptenuse, each of the two triangles formed is similar to the original triangle and
those are mutually similar.Z

�E����ABC �
��ABC �����# "�BD AC⊥ "�!&��F������3��;	��ABD ��-��BCD "
��	�	�����(i) �ABD ~ �ACB

(ii) �BCD ~ �ACB

(iii) �ABD ~ � BCD

���	�����ABD /��ACB �B�
�
�BAD 
 �BAC

�ADB 
 �ABC 9&���6�������#Z
�����ABD~ ��ACB 9���@�������+26Z�RRRR�(1)�R9(i)&���#��Z

��BCD /��ACB �B�
�
��BCD 
 �ACB ��-
�BDC 
 �ABC 9&���6�������#Z
� �BCD ~ �ACB 9���@�������+26Z��RRRR�(2)�9(ii) &���#��Z
(1) /�(2) ���ABD ~ �BCD 9���+26
��-���<�I�>Z��9(iii) &���#��Z
����
F	<����ABC 
��ABC �����#���-�BD AC⊥ ����

 (a) AB2 = AD . AC,  (b) BC2 = CD . AC ��-� (c) BD2 = AD . DC
(a) �����	����9�����1.59 ��S�6Z

!&&��6�
�&���#���H���ABD ~ �ACB ���
AB
AC

AD
AB

BD
BC

= =

AB
AC

AD
AB

= ��
��&�
���AB2 = AD . AC

(b) �����	����9�����1.59 ��S�6Z

!&&��6�
�&���#���H��BCD ~ �ACB ���
BC
AC

DC
BC

BD
AB

= =

BC
AC

DC
BC

= ��
��&�
���BC2 = AC . DC

A

B C

D

{
9�����1.59)

{

�

�
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(c) �����	����9�����1.59 ��S�6Z

!&&��6�
�&���#���H��ABD ~ �BCD ���
BD
DC

AD
BD

AB
BC

= =

BD
DC

AD
BD

= ��
��&�
���BD2 = AD . DC

������GH/
���������	#����
��	#���C�1 : �&���	�@�1.4�
�&��	�*��
���&� ��*�
��,�!&&��6�&���#��
 "
�E����ABC �
��ABC ��������# "
��	�	�����AC2 = AB2 + BC2

�.����BD AC⊥ 9�C>Z��X���
�)�! "

���	�����ABD ~ �ACB 9&���	�@�1.4Z
��AB2 = AD x AC� 9�����T�U�(a) ZRRRRRRRR(1)

&��P��BCD ~ �BAC 9&���	�@�1.4 Z
��BC2 = CD . CA 9�����T�U�(b) ZRRRRRRRRRR(2)

���AB2 + BC2  =  AD x AC + CD . CA   9(1) /�(2) ���)�	<Z
          = AC (AD + CD) = AC x AC = AC2 9&���#��Z

��	#���C�2 �����
��������#<������3��B�
��*����
��C>�/��������
���LM>6���6������3

�C>�/��������
���LM>6���������&��<�����R�&���#�
��)������3��;	���+2���U� "

�E����ABC 
��B ��-��DEF 
����#��E

&���6�������# ��-� AC
AB

DF
DE

= "

��	�	������ABC ~ �DEF

���	���� AC
AB

DF
DE

= 9�QZ

��
AC
AB

DF
DE

�

�

�

�
= ��

AC
AB

DF
DE

�

�

�

�
� �− = − . 9!�	�&�2;>
��1 ���	�*��
�*��Z

��
AC AB

AB
DF DE

DE

� �

�

� �

�

− = −
���

BC
AB

EF
DE

�

�

�

�
= 9&� ��*�
��,�!&&��6Z

A

B C

D

9�����1.60)

A

B C

D

E F

9�����1.61)
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��
BC
AB

EF
DE

= ���
BC
EF

AB
DE

= . 9�����&��
����U
�&����	�Z�RRRRRRRRRRRR(1)

�ABC /��DEF �

�B 
��E 9&���6�������#Z
BC
EF

AB
DE

= . 9(1)��
�&���#��Z

���ABC ~ �DEF 9��@���@������+26Z 9&���#��Z

����/*�/�C�1 (d)
�O�W��
'	5�

1. �h�<��B
��J��,�!Q
���5��2%�6�'���&%
#��
 "
(i) �����1.62 �
� ������ABC �
�m�ABC = 900

��-�BD AC⊥ �
m�ABD = ........ [m�BAD, m�DBC, m�DCB, 2m�BAD]

(ii) �����1.62 �
� �����ABC �
��ABC �����#���-�BD AC⊥ �����
(a) AB2 = AD x ..... [BC, CD, AC, BD]
(b) BC2 = AC x ..... [DC, AD, BD, AB]
(c)  BD2 = DC x ..... [AC, BC, AB, AD]

�O+W��
'	5�
2. �����1.63 �
� �����PQR 
�m�PQR = 900 ��-�QM PR⊥

(i) QM = 12 ��R��R����-�PM = 6 ��R��R�������PR ��C>	��
 "
(ii) PQ = 6 ��R��R���-�PM = 3 ��R��R�������PR ��C>	��
 "
(iii) QR = 12 ��R��R���-�MR = 9 ��R��R�������PM ��C>	��
 "
(iv) PQ = 12 ��R��R�/�RM = 7 ��R��R�������PM ��C>	��
 "
(v) PQ = 8 ��R��R�/�QR = 15 ��R��R�������QM /�MR���C>	��
 "

3. �����1.64 �
 �m�ABC = m�DCB = 900 AC �/�BD �
��5����A��O���-�AC BD⊥ "
OC = 6 ��R��R���-�OD = 4 ��R��R������
(i) BO ��C>	��
[��(ii) OA ��C>	��
[
(iii) BC ��C>	��
[�(iv) AB ��C>	��
���-
(v) CD ��C>	��
[

A

B C

D

� {

9�����1.62)

P

Q R

M

9�����1.63)

A

B C

D

O

9�����1.64)
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A

B C

D

M

�O5W��
'	5�
4. �ABC �
� �ABC �����#���-�BD AC⊥ " AD = p ������-�BD = q ���

������&���#��
�H�(i) BC = 
q p q
p q
( )+

+� � (ii) AB = 
p p q
p q
( )+

+� �

5. �ABC �
��m�ABC = 900 ��-�BD AC⊥ �����
&���#��
��)��AB2 : BC2 = AD : DC "

6. �ABC �
���ABC �����#���-�BC2 = AC . BD ������&���#��
��)�BD ��!5�
�ABC 
����;��Y� "

7. �����1.65 �
� ���������>3�ABCD �

m�ABC = m�ADC = 900 ��-�AB = AD "
�C>�;	
��5���A��M ������&���#��
��)
AM x MC = DM2 9&���	�-1.4 �
�&��	�*��
��&���#��
Z "
8. ��ABC �
�m�ABC = 900 ���BD AC⊥ ���-��ABC 
����;��Y��AC ���E ��A��


�5����
 "�&���#��
��)�AE2 : EC2 = AD : DC

9. ��ABC �
��m�BAC = 900 ��-�AD BC⊥ "

&���#��
��)��ADC 
��.��4��K� AB AC
BC
x �

�
�

10. ��ABC 
��ABC �����#��BD AC⊥ ��-��BAC 
����;��Y��BD ���E ��A��

�5���
 "�&���#��
��)�BE2 : DE2 = AC : AD "

(�����1.65)
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�������	
��

�
�
(CIRCLE)

2.1 ������� ������(Basic Concepts)� �
�������	
����
�������������	���������������������������	�
 ������!���"#�
$�����	�

%�$�& '�(������)��������	����*+,)��-.���/�����#� ������	� '���0��$�1�������1���)� ���
2�	�
 �������1�	���(�����0���/.	��������34�(�	�5�����6��	�����������6 '�	�
������78
	�5����������������	����9��1�����������	�����:;������<�	� '

����� �� ������� ������� 	������ ������� ��� ��� ��� !�� � ��� "�#�$%� �&������ '(
������� 	������ ��)� ��� �� ���*� � �
�� +Circle,� � -�.�� /

 ����2.1����	�����=������0���O�(��!��	�5� '�O�	�5��9���
r�(���!����������	�
>����0���/.	����?�	�5�����6��S��������
(��	������	� '�S��"��
>�����@<���	�5��O�9����r�!��������&� '
�/�
���OA = OB = OC = r '�(9����O����	���S������0�(Centre)
(	:���A�
B�!�����r����	�����1���2$�+radius,�������( '

�����:���	0�	������5��2�	����C
�!��/.�#�	��6���
�D
��������D�
�����E/�( '�	���
	����C
�����#������	������5��2�	���7����F������@<���	�5���!�������	�G�/�7�(	:�	����(�
	����C
�����#�	���7����F�(��	�5��P�(	:���5��O����:��������$�$H���	�G�/�7 '��/�
���
��
3�1���2$4� ��� �"��5�� ��)�� ��61�� ���� 3��� �1���2$4� �-'7�� ��� ��6�68 /

S

A

C
O

r

B
I ����2.1J
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�/��K� ����2.2���/.	��	����	����C
���7&��2���L��L
I�!��OA = 2���L��LJ�(	:�OA �2�OB ���7&"�
7>�	����!�E6��	����C
 '

�0%�1� �
1.��������?����#� �����	���(	:�������?�	�5��(�����0����	�F������	 '
2.�����)�2.2������������<����	�����(����0��$������/.	������@<��������6��	�5�

�!E����6�(������	������������E����	 '���<��	���7����F�����@<��������6��	�5��!M����	��6�
�� �����( '�7����>�	���S����I ����2.1J������ABC�	�������������%��������	� '

3L�ABC�	������������� ��N�‘ABC �’ �!M�����������%������( '
91��(Chord)����
���� :���;
<�*���� �����.�9����6�68� ��
������91��� -�.�� /
�1���(Diameter)����.'=�91�����
������0�	��������-��91�� ��
�������1���� -�.�� /

 ����2.1���AB �(������(	:�AC �(��	��� '��������	�����������	�5����5�9������!��	�
,1
AO = OC '��!��ABC�	����	����C
�r�O�2���L��L���(����	�AC = AO + OC = 4���L��L���	 '
�/�
���������� �
���� �1���2$�r� ���� �-�>� �1���2r� ���� �-� /�P0���	����Q(��	���R
��7&��(����$�$H����������"	�5��!M)�	���7����F�(	:���	�5����7&����5� '������Q	���R���7&�
(��-���.��	�?	��:$�� '�	������5���������	�������	�5� '� ����2.1���A�	�5������!E�����
��34�(�������������#S���������	����AC �	������!TU
�1�7>�	��������@<���������!TU
�9���
	���� '��/�
���������� �
���� ��� �1��� �-'7�� �-��� ��?$��� 91�� /

�
��� 	@��$A� B� �-���$A� �
(��	�������0����	�F���	�5�������7>�	���
��5�9����!�����������S,������06�������6�
�:%���	��>���( '��/��K
(i) 	@��$A� K� 	���� ��5�9���� 	���� ���0� 7����F� ��78� ��?� 	�5��� !����� 7>� 	���

	����C
9����S�!��������34����	����	@C��� ��� � (Interior Points) ������( '��/�
�����5��	�5��O
/.	��(��	����	����C
�r�(������#�7>����0�F�(��	�5��P�#�����!��OP < r���(����	�P�7>
	����(���"V�F�	�5����	 '� ����2.3����P�(���"V�F�	�5� '�	�����"V�F�	�5���������������
	����	@��$A�(Interior)�������( '

(ii)��-���$A�D�	������5�9����	�������0�7����F���78�	�5�������!�����	����	����C
9���
	���������34����	�����-�C��� ��� �(Exterior points)�������( '��/�
���(��	������5��O�(	:

O
A

B

O P Q

	���!
%

�"�!
%

I ����2.2J

I ����2.3J
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	����C
�r�(������#��!��	�������0�F�	�5��Q�#����OQ > r���(����	�Q�	����(��	��V�F�	�5� '
 ����2.3���Q�(��	��V�F�	�5� '�	����	��V�F�	�5����������������	�����-���$A� (exterior)
������( '�(9��������$�	��7 �����	���1�	���2�(�����"�!
%�	��,�����0��������?
	�5�������	����	��V�F�	�5��������( '

(iii) ��
��7����F���?�	�5� '
 ����2.3��� �������:%6��	�����"�!
% '�AB �	��������@<����������#�A�2�B����"�!M)

	��,�������������?�	�5��	�����"�!
%����	�F�� '�(��������<������)�W�2.11������C�"�W�2�
��	�
,�����X!��!$ '

�@�1� D�(��	�����"�!
%�(��' � ����6����6 '
����� ��1. ��$��� �
�� ��(��-.��	����	����C
���������#�����������$��� �
��(Con-

gruent Circles)�������( '
         2.���$��� 91�� �����6�(�	�����	��(��-.���	
���	�������78�����������!TU
�

���������������$��� 91��(Congruent Chords)��������( '
��	�
,���)��������(��-.���	
���	�����/.	���	
��������*+������#� ������	� '

2.2� 91�� �EF��� ������ ';;��1� �
';;��1� D�7

�
��� ���0� � �-��� �1��� G�"H� ��� 91�� ;0��� 	I��� >E� '(� 91�� � �����68� ��� /
[The perpendicular drawn from the centre of a circle to a chord, other than a

diameter, bisects the chord.]

� � � ��S�	�����AB �	�������N�(�����1��	������5��O�9����AB ������#*�OD '
;0����1���AD = DB
	 I " � ��OA �2�OB ������� '
;0���� ��� OAD�(	:�� OBD�����
OA = OB I(���	����	����C
J1���OD ���-��<�	����'
�ODA ����ODB I�������(�������<J
���OAD ����OBD I�����<W�D
�W�	���J
��AD = DB I����<��J

A B

S
O

D

A

O

B CD
	" ��2�@������6�(���0��$��	�����!�E6�����-.�

	�5�����&!��������Y '

I ����2.4J

I ����2.5J

{
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;0���� ���!���Z	���(����	���0��$�6��	����������M)��������6�����N�	�5��A,B�2�C�����&!
��� '�O�	������5��(	:�OD 1�AB �������#*���7 '

	�
����AB �2�AC �	����!�E6������(	:�7���!��W�7���(�����[B����AD = DB�(	:
AD = DC '������:�DB = DC� '������D-B-C������(�����Z	 '������:���0��$�6��	����
!�E6�����-.��	�5�����&!����	����Y '

I�� ���K�(9��������������<���	���,��7>������-���������
�!M����(����Z	�����F�����
��\��#]�����������<���������������<����&� '�(�������������<����<�����	�J���"� ;0����
(Method of contradiction)�������( '

;0����2.1 +';;��1�-7 �� ��;���� �<"� B� ;0���,� �
������� �
��� �1��� G�"H� ��� 91��� �
��� � B� ���0� � �.��� �� <5��� ��6�� '(� 91�� ;0��

>E� 	�� /
[The line joining the centre of a circle to the midpoint of a chord, other than a

diameter, is perpendicular to the chord.]

� � � ��S�	�����AB �	�������N�(�����1�O�	������5��(	:�D1�AB �����	�5� '

;0����1� ��←→
OD ��� AB

	 I " � � ��OA �2�OB ������� '
;0���� ��� OAD�(	:�� OBD�����
OA = OB�I(���	����	����C
J

AD = DB I��  D, AB ����	�5�J1�OD ���-��<�	��� '
���ADO ����BDO�I	���W�	����W�	���J
��m�ADO = m�BDO

��"��m�ADO + m�BDO = 1800 I��N����������������<J

��m�ADO = m�BDO = 900 ��/�
���←→
OD ��� AB �I����<��J

	" ��2�@� D�1� �
��������
������0��-����.�������91��������68��>E�';���	������ /�������.

������� 91��� �
��� !���� ����� ������� ���0� >E� 	I��� �-�:;���� /

A B

S
O

D

I ����2.6J
{�
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	" ��2�@� D�2� �
(i)���������
���� :���	���@��91��������68��>E������
������0���������- 	@� /

����� 	" ��2�@� D�1� 	" .���� �
��� ���0� ;0��1�� �����68�� >E� ';��� 	����� /
(ii)���������
���� :������@��91��������68��>E�����
������0���:�.�:<5�����

�����6���� 	������ +��-K��� L, /

	�
�������������<��������	����AB �(��	�����������#�A�2�B����N����6���������?
	�5��	�����"V�F�	�5� '� ����2.7���P, AB �����7�������"�	�5�����N�����@<���(��	�5� '�OD � AB
���#�OP2 = OD2 + DP2 ��OP2 < OD2��+ DB2 ���OP2 < OB2 '

�����:�OP <�	����C
 '��/�
���P�	����(���"V�F�	�5� '�I ������D-P-B�������E&�'
�!��P-D-B���(����	��������<����������	 'J
�!��A�	���7����F�(��	�5��2�P�	����(���"V�F�	�5����(

���	� →
AP �	���������(��	�5�����&!����	 '�(���^�V��C����

��7/.�#���8�(������>���0������<������������E������!$�	� '
 ����2.8���/.	��	������5��O�(	:�	����C
�r '

P�	����(���"V�F�	�5�1��OD ���
→
AP �(	:�OD = d���7 '

��<��d 	�OP < r���	 '������:� r d� �− �(��-���.�

	�?	��:$�� '��� →
AP �7����(����(��	�5��B��&���������

D-P-B�I��*��P-D-B)�(	:�DB = � r d� �− '

	�
����OB = OD DB� �+  = r ��B�	���7����F�(��	�5� '
�������<�1����6�(���A�
B���0��$���������	������"������7>���0��$��7����F����

������!�E6��	�5����	�F������<�	����	%�� '������S���!�E6��!��	�5���!E��������	0����6�(
�������0��$�������������	� '�	�
������%N�7�9�������6�(�	����������	������"����������
�����6��	�5�����	%�����<�	�� '

 ����2.9����A�2�B�!�E6��	�5� '�D, AB����	�5�

(	:�←→
MN ���$��D�	�5����AB ������#*����"� '

A

O

B
D P

O

BP
A

D

r d

A

O

D B

N

M

O/

I ����2.7J

I ����2.8J

I ����2.9J

�
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����)�2.1 ������C�"�W�1���������←→
MN �7����F�����@<���	�5��O, �A (	:�B�	�5���!E

��E/	��I�/
����AB �����/.	��J���@<���(��	������5����	 '�(�����[B����AB �7>�	����(�
������	�(	:�OA = OB =�	����	����C
 '��/�
���!�E6��	�5��A�2�B�����!E���:$��	������&� '
��	�
,�����)������������<����	�����(����A�
B�	�����D
)����	������"����������������6�
	�5����	�F�������<�	����	%�� '����N����#� �����(�����[B���	 '

;0����2.2 : ��������6����	������"�<5����.����������"������� ��
���:�������
���� ����� ������� �
�� 	I"� ���.�:� ;���� /

[There is one and only one circle that passes through three non-collinear points.]

�����A, B�2�C�(����0��$������/.	�������6��	�5� '
;0����1���A, B�2�C�	�5����)��!E����6�(�(	:���	0����6�(�	��������Z	 '

	 I " ���AB �2�BC ������� '�←→
PQ �(	:�←→

MN ���$�!M)
�/������ AB � 2� BC �����!M�$H��#*����"� '�A, B� 2�C�(�

��0��$������/.	����←→
PQ �(	:�←→

MN ���$�!M)���[�����&!
����	�(	:�������&!	�5��O���7 '�OA 1�OB �(	:�OC ����
�� '

;0�������������O�	�5��AB �����!M�$H��#*�7�����	�F�����<��OA = OB� '��������
OB = OC�'������:�OA = OB = OC '

	�
����O�	�5������5������OA�	����C
���E�(��	���S�������#�B�2�C�7>�	���7����F
!�E6��	�5�����	 '��/�
����A, B�2�C�	�5����)�S�	���7����F����	 '

	�
��������<����	�����(��������������6�(�	������������E����	'���������7�(��	��
S/�����&� �����7����A, B�2�C��	�F�� '�O/�(���	���S/�����5����7 '

	�
����O/A = O/B � O/,�AB����!M�$H��#*�←→
PQ �7����F�(��	�5� '���������O/B = O/C

� O/, BC�� ��!M�$H�� #*� ←→
MN � 7����F� (�� 	�5� '� �/�
���O� (	:�O/� ←→

PQ � (	:� ←→
MN

��$�!M)��!�E6���&!	�5�����������Z	1����<�!�E6����0��$����������6�(�	�5������[�����&!
��"� '������:�O�(	:�O/������N��6"� '���(	�OA = O/A���<��S�2�S/�����N��6"� '�I����<��J

����� �� ������� �0�G 9�� A�M$��� �0�� ��:� 	I��� �
�� � '(� �0�G 9�� ;���
��(Circum-
Circle)� B� �-��� ���0��� � � '(� �0�G 9�� ;�����0�(Circum-Centre)� � -�.�� /

A

C

S

B

P

O

M

D

N
Q

I ����2.10J
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 ����	������-.��	�5������!E��	
!��	��������Z	����E������� '������S����!�
��@<��� ����
��	��	�������%,_
	�5������(��	���7������"�����	������ ����
��	��	�������
�
��@>�$6��� (inscribed in a circle)� ����
��	��	������������( '�����)�W�2.2������),�(�
��������	
!��	���"#�
$�����( '

	" ��2�@� ��!�E6��	�����[����!�E6�����-.��	�5�����&!���"�����Y '
�!��(�����,)��&!	�5��/�(����	��&!�	�5����)�!�E6��	���7��������	 '�����)�W�2.2

�����),�(�����Z	 '
��%N�K�(����0��$����/.	�������6��	�5���!E����6�(�	��������Z	����`�I�� ���K��!�

�Z	����	��������S�������0��$�6���Z�	��	����������6��	�5�����&!����	 '�7���!��W�7�
�����C�"���(���	����-���� '�J

';;��1� D�8

������� �
��� ���"� ��N?$1� ��A�%� 91����"� ���0!�� � ���&���$� /
[Chords of equal length in a circle are equidistant from the centre.]

�����S�	�����AB �2�CD �!�E6������(	:�AB = CD '�O�	������5��I ����2.11J

OE �(	:�OF ��/������AB �2�CD ������#* '
;0����1���OE = OF '
	 I " � ��OB �2�OC ������� '
;0���� ���������OE ��� AB 1

OE 1�AB ������!M�$H����	 '�I7���!��W�7J

�����:�AE = EB � EB = �
�

 AB

�������OF ����CD ���	
�����������E	��CF = �
�

CD '

��"��AB = CD�I!�J��� EB = CF '
	�
����� OEB�(	:�� OFC�������EB = CF I��	
�������<��J1
OB = OC I(���	����	����C
J�(	:���m�OEB = m�OFC�I������������<J
���OEB ����OFC�I�����<�W�	����W��D
J
� OE = OF�I����<��J

A

CB

E

O

F

D

S

I ����2.11J
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�@�1���7����>�7���!��W81�!�E6��I	������-.�J��	
���	�������"���������� '�(����
��0�7���!�W8������<��-�������F0�	��%_�������������	�
����������<������E�����	 '
��	�
,���)���������!$�	��	����*+,)��������34�(�7���!��a�����)���������6�(�	�������"
7�#b$������E&������34���(��-.���	
���	�������"���������� '����	�����34����^�c�����<
!�����E����8 '�����34�����0�7���!�������<��-��������	 '���	0�7!���<�^����!�E6���	
��
	�������"�7���!��W�8����������/��(	:�����<����N���!�����E&� '

�<"���� :�����$����
������"���N?$1���A�%�91����"�"�9�"�9����0!�� ����&���$� /
��� ��!�E6���	
���	���S1�2�S2�����5���/������O1�(	:�O2 I ����2.12J '

AB �2�CD ��/������S1�2�S2���!�E6������(	:�AB = CD '
O E

�
��� AB �(	:��O F

�
��� CD '

;0����1� ��O1E = O2F

	I"� ��O A
�
�(	:�O C

�
������� '

;0�������������O E
�
��� AB ���<��O E

�
�
� AB ������!M�$H����	 '

�/�
���AE = EB � AE = �
�

 AB

�������O F
�
��� CD ���<����	
�����������E	��CF = �

�
CD

��"��AB = CD�I!�J '���AE = CF '
	�
����� O1EA�(	:�� O2FC�����
AE = CF�I��	
�������<��J
O1A = O2C �I!�E6���	
���	����	����C
J
m�O1EA =� m�O2FC �I������������<J
���O1EA �� ��O2FC ��O1E = O2F I����<��J

S1

A E B

O1

C F D

O2
S2

I ����2.12J

{�
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;0���� D�2.3� �� ';;��1� D�8�� ��;���� �<"� B� ;0���� �
������� �
���� ���0!�� � ���&���$�� 91���"I�� ��N?$1� ���" /
[Chords of a circle equidistant from the centre are of equal length.]

� � � ��S�	����AB �2�CD �!�E6����� '�O�	������5� '

OE �(	:�OF ��/������AB �2�CD ������#* '�OE = OF

;0����1���AB = CD

	 I " � ���OA �(	:�OC ������� '
;0��� � ����AEO�(	:���CFO�����
         OE = OF �I!�J

OA = OC�I(���	����	����C
J
m�OEA = m�OFC�I������������<J'
����AEO ����CFO I�����<�W��D
�W�	���J���AE = CF ......... (1)

��OE ��� AB 1��OE 1��AB ���������!M�$H�����I7���!��W�7J
��AE = EB ��AB = 2AE

���������OF ���CD ���CF = FD ��CD = 2CF

��"���AE = CF  (1 ��) '������:�AB = 2AE = 2CF = CD�I����<��J
� :��� ��$��� �
�� "���@� ;0���� D�2.3� �� �<"� �
� :��� ��$��� �
���� "�9� "�9� ���0!�� � ���&���$�� 91�� ��"I�� ��N?$1� ���" /
(��������<���0�����)�W�2.3��������� '�������� '

	" ��2�@�D�1�����������
���� :���91���
��O����0!�� ��&���$��91�����N?$1�"���� �
91��� ��N?$1!�� � P �0�� /

[Of any two chords of a circle, the length of the one farther from the centre is
smaller than the length of the other.]

� � � ���O�(��	������5�� '�AB �2�CD �7>�	����!�E6������ '

OE ��� AB �(	:�OF �� CD �'�OF > OE I ����2.14J '
;0����1���CD < AB

	I"� ��OA �(	:�OC ������� '

A

B
E

O

S

D

F

C

D

CA

E

B

F
O

I ����2.13J

I ����2.14J

{�
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;0���� ����OEA�(	:���OFC�!M)������<,
OE2 + EA2 = OA2 �(	:�OF2 + FC2 = OC2 ��I��/��������7���!�������),J
��"��OA = OC �I(���	����	����C
J
� OE2 + EA2  = OF2 + FC2��� EA2 �– FC2��= OF2 – OE2��> 0 ( �  OF > OE  I!�J�)

�� FC < EA ��
CD AB
� �

< ��� OF ��� CD �(	:�OE ��� AB ��

�� CD < AB I����<��J
(��-.���	
���	�������"������C�"�-1�������������<���������� '�(�����/��2�����<

������� '
	" ��2�@� D�2 :� ������� �
��� � :��� 91�� �
� � P �0��� 91���� ���0!�� � 	�5�� �&���$� /

I�����C�"�W�1����	���,�J
�[Of any two chords of a circle the smaller one is farther from the centre than

the other.]

� � � ��O�(��	������5� '�AB �2�CD �7>�	����!�E6����� '
CD < AB�'��OE ��� AB �(	:�OF ��� CD �I ����2.14��!$J

;0����1� ��OF > OE

	I"� ��OA �(	:�OC ������� '
;0���� ����OEA�(	:��� OFC�!�E6�������<,���������

���OE2 + EA2 = OA2�(	:� OF2 + FC2 = OC2 ........(i) I��/���������������������J
��"��OA  = OC�I(���	����	����C
J
�� (i) ��� OE2 + EA2 = OF2 + FC2 ��� �OF2 – OE2 = EA2 –  FC2

��OF2 – OE2 = 
AB CD
� �

� �

�
�
�
�

− �
�

�
�  ( � OE ��� AB �(	:�OF ��� CD )

�� OF2 – OE2 = 
�

�
(AB2 – CD2) > 0 ( �  AB > CD !�)

��OF > OE I����<��J
(��-.���	
���	�������"������C�"�W�2��������������<���������� '�(�����/��2�����<

������� '



[ 47 ]

2.3� 91�� ������ ���0��� ';5"H� �����(Angle subtended by the chord at the centre):

AB �(����$�$H '�P, �←→
AB �7������/.	�������@<���(�

	�5����7 '� →
PA �2� →

PB �!M����7�.�N��APB����AB �!M����P�9���
7�.�N����<�(Angle subtended by AB  at P)�������(
I ����2.15(a)J '

���������������
��� AB ��1���G�"H����91������O
���0���� ��-�>��AOB�� �91�� AB ����������0!����';5"H
����� 	<��� AB � 91�� �-� �Q
(� ���0��� ����� (Central
angle)� � -�.�� /� ����2.15(b) !�B	� '

�AOB, AB ���������
�>�(����5��F����< '���5��F����<��*+,)�	�%!����#� ������
��	� '

';;��1� D�9
������� �
��� � :��� ��$��� 91�� ���0!���� �.'=� ����� ';5"H� ��@�� �����"� ��$�� /
[In a circle the angles subtended by two congruent chords at the centre are

congruent.]

� � � ��S�	�����O���5��(	:�AB �2� CD �!�E6���	
�������I ����2.16J�'� AB �2� CD
��5�9�����/�������AOB (	:��COD�7�.�N���"� '

;0����1������AOB �� �COD

;0��������AOB (	:���OCD ����
OA = OC, OB = OD I(���	����	����C
J
AB = CD I!�J
����OAB � ��OCD I	���W	���W	���J����AOB �� �COD I����<��J
!�E6���	
���	�������"�7���!��W�9����/��K�� :�����$����
���� :�����$���91��"�9

"�9 � � � � 0! ���� �.'=� ����� ';5"H� ��@�� �����"� ��$�� /�(��������<�������� '
;0� ��� D�2.4 :� ';;��1� D�9� �� ��;���� �<"� B� ;0���� �
� � �� ��� �
��� � :��� 91�� ������ ���0!���� ';5"H� ����� :��� ��$��� �-�>� 91�� � : ��

�� $��� � -�� /
(In a circle the chords subtending congruent angles at the centre are congruent.)

B

P

A

S
A

B

O

D

C

I ����2.15(a)J

I ����2.16J

A B

O

I ����2.15(b)J

{
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� � � � ��S�	������O ��5��(	:�AB �2�CD �!�E6����� '��AOB �� �COD I ����2.16J
;0����1���AB = CD

;0���� ����OAB (	:���OCD�����
�  OA = OC, OB = OD �I(���	����	����C
J�(	:�m�AOB = m�COD I!�J
�� �OAB �� �OCD I	���W���<W	���J
���AB = CD I����<��J
(��-.���	
���	�������"�����)�W�2.4��������������<���������� '�!�E6���	
���	��

����"�(�����/�K
� :�����$����
���� :���91��������"�9�"�9����0!����';5"H������� :�����$����-�>

91�� � :��� ��$��� �-��� /�(��������<�������� '

	" A��"��D �2 (a)

+��D���G��,
1R�'(����!��*�<5�>�T� � � � � G  > � < 5 � > �F� � > 6 /
iJ (�����0���/.	��(��	����$����������	�5��7>����0�7����F�(��!��	�5�9����(�

��A�
B�!�������/.�#�	����$�6����	���������( '
iiJ 	�����������	�5����@<���(��	����C
��(�����"�	�5����6 '
iiiJ (��	������:$��	�������&� '
ivJ ��5�1�	����(������	�5�������	�����������	����7�����	�F�� '
vJ (������	�����"�!
%�����78�!�E��:%���	��>�������������������7�0���6���6"� '
viJ 	����(��	�������6�(���������!M�$H���#����������[�������#*��6"� '
viiJ ��������������������5��(����(���"V�F�	�5� '
viiiJ (��	������5�1�(����(�������"V�F�	�5������9����	�����������	�5���!��������� '
ixJ (���%d,�	��������6�(������	�5�����&!���� '����	��%d,����!��	�5�6��	����(���"V�F

	�5����	 '
xJ (��	�����AB �2� BC �!�E6���	
����������#�B�	�5����,�	����C
1��ABC������!M�$H

��� '
(xi) ���6�(�	�5��!�E�	������-.��	������5�����E����	����Y '
(xii) ���6�(���0��$�����6�(�	������	
!��!�E6��	�5�����&!���� '
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2R� ;0��� �J��1� '��� � !��*� '����� ��7�� A&"1���"� ;&��� �� /
i) !�E6������"��������&!	�5��LLLLLLLLLLLLLLL���6 '

a) 	����(���"V�F�	�5� b)�	����(��	��V�F�	�5�
c) �	���7����F�(��	�5� d)�	���7����F���*���"V�F�	�5�

ii) P�	�5��	����(��	��V�F�	�5�����#�	���7����P�9������!��	�
,�LLLLLLLLLL����34��	�5���&� '
a) 1 b) 2 c) 8 d)���:$�

iii) ���6�(���$�$H��	�
-.��LLLLLLLL�6��	����	����C
����E�����	 '
a) 1 b) 2 c) 4 d)���:$�

iv) ���6�(���$�$H��	�
-.��LLLLLLLLLLLLLLL�6��	�����������E����	 '
a) 1 b) 2 c) 4 d)���:$�

v) ���6�(�	�����(����������6�(����"	�5�� ��5�9����5� ��L��L�!�����(	:����6�����	�5�
��5�9����3���L���!������&� '����6����!TU
��.............���L��L '�
a) 8 b) 12 c) 16 d) 20

+6�D���G��,
3. (��	����16���L��L��!TU
��	�%�B����6�(�����(��	����C
� OP �!M����D�	�5������!M�$H��

��( '�	����	����C
�10�����L����#�DP ����!TU
����D
)��� '
4. ���6�(�	������5��O�'�(������AB �����	�5��D����#�����<�������OD 1��AOB���

��!M�$H���� '
5L ���6�(�	������5��O� '�(����AB �2�AC �!�E6���	
������ '�����<�������OA 1��BAC

�����!M�$H���� '

6L ���6�(�	������5���O�(	:�AB �2�CD �(����!�E6�����"����� '�P�2�Q��/������AB �2

CD����	�5�����#�����<�������O�	�5�1�
←→
PQ �7����F���	 '

7L ���6�(���	�����������������5�9������������	����������!��	�
,�W�����<��� '
8L ����<�������	������(��	����(����	�������� '�I�� ����K�(���������5�9����!����

d 
�0�(	:�	����	����C
�r����#�������!TU
��2 r d� �– 	 2r��O�	���J '
9L ���6�(�	�����!�E6�����"�������(����%M
���	������5���	�F�� '�����<�����������!M)

�	
������8"� '
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10L AB �2�CD ����6�(�	����!�E6�����"����� '�AB = CD = 8�����L '�	����	����C
�5����L�
���#�����!M)����	�
,�!�������D
)��� '

+��D���G��,
11L 10� ��L��L�	����C
�	�%�B� ���6�(�	����!�E6�����"������ AB � 2� CD ������!�����10

����L '�AB �������5�9����6���L��L�!������	�F������#�AB �2�CD ����!TU
����D
)��� '
12L ���6�(�	������ABC��"#�
$������E&� '��!��AB = AC���(�����<�����BAC�����!M�$H�

�%d��	������5��	�5����,���6 '
13L����6�(�	����!�E6������(��	����!M������!M�$H������#�����<������������!�E6�����"� '
14L�����<����������6�(�	����!�E6��������[������!M�$H���#���������&!	�5��	������5�

��	 '�I�� ���K����Z	�)����<�0,�(Method of contradiction) 	�	������J
15L����6�(�	����!�E6������AB �2�BC 1�B�9����900����<�7�.�N���"� '�	������5��O����#

����<�������A, O�(	:�C�(��(���$,) '
16L�����<�������(�������<,�����������D

����	�5�1�(�������	������5����6 '

17L PQ ����6�(�	������� '�P�2�Q�9����7>���������������#*�	������/������R�2�S�9���
�&!���"� '�����<�������PQSR�(����)�� ��� '

18L  ����2.17���A�2�B�!�E6����[���&!,�	������5�
(	:�P�2�Q�	���!M)���&!	�5���6"� '
����<�������(i) ←→

AB 1�PQ ���-��<���������!M�$H���� '

LL �������(	:�(ii) ←→
AB ����PQ

I�� ���K�AB �2�PQ ����&!	�5��C����#��ACP�2��ACQ�(	:��APB�2��AQB�����
��0�����J

19L  ����2.18���!�E6��	�����[����P�2�Q�	�5�����&!���"� '
P�9����PQ �����������#*�	���!M)���A�2�B�9�����&!
����2���������Q�9����PQ �����������#*�	���!M)���C
2�D�9�����&!���� '�����<�������AB = CD

20L�A�2�B���5��	�%�B�!�E6��	�����[����P�2�Q�	�5�����&!���"� '�P�����!E�AB �����
���"����0��$��	���!M)���M�2�N�	�5�����&!���#�����<������1�MN = 2AB� '
I�� ����K�AC �2�BD 1�MN ������#*���������!%�
����1�AB = CDJ

P

A

Q

B

A

D

BP

QC

I ����2.17J

I ����2.18J
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21L  ����2.19�������6�(���0��$��!�E6��(����5����	���S1�2
S2 ����/������A, C, D�2�B�	�5�����&!����&� '
����<�������AC = DB '

22L����6�(�	����(��	��V�F�	�5��P�����!E������!�E6���&!��	�����A, B�(	:�C, D�	�5���
�&!���"��������P-A-B�(	:�P-C-D '��!��AB = CD���(1�����<�������PA = PC�(	:
AC �''�BD '

23L ABC�	������5��O '�(����!�E6���	
�������AB �2�CD ���[����(���"V�F�	�5��P�9���
�&!���"� '�B�2�C, OP��(����%M
�F����#�����<������1(i) PA = PC�(	:�(ii)AC ''�BD '
I�� ���K�OE �� AB �(	:�OF �� CD ���������O, P��������J

2.4� � S�;�(Arc) :

 ����2.20���S�(��	���(	:�7>�	���7����A�2�B�!�E6�����N�	�5�����#�	��6��A�2�B�	�5�
!M����!�E�������	��>���( '�A�2�B�	�5����������������������������6�(����6�(� ������	� '
��������������#�A�2�B�	�5��!M)������“A�9����B ���
�"’’�	����(���	�&��N��:%���7&��(�
 �� '� ����2.21���←→

AB ,  S�	����(���&!��(Secant)��'

P,��&!��
←→
AB ���(����%M
���	���7����F�����(��	�5����7 '�	������78��:%���P�	�5�

�&��������:%6����APB��/	��BPA� ���������( '�	�
��������� �����:;�����N�������	�'
����� �� ��� �
�� ';����� A� B �B� � :��� ��� � �-�>� A� B � B� ��� � ����� AB � 91��� ��

;�A�$��� <5��� �
�� ';����� ��� ��"I� ���*� � ��� S�;� � -�.�� /� '(� ���*� 	@G $(� P� ��� ��� 

�-�>� ';5"H� S�;� �APB� ��E��BPA� S�;� �&�;� "����� ���.��� ���� '(� S�;� � ��E�
�������������;0��A����.�� /

� ��� S�;� �-�>�A� B�B,� S�;�� � :��� ;0�@��� �(End points)� 	�@�� ���� S�;�
	"1���)���� I �S�;��	@C������ �(Interior points) � -�.�� /�Q,��&!��

←→
AB ��������%M
��

I ����2.21J�	���7����F�(��	�5�����#�AQB� ���� 	� B Q A �:����!M��������%����	� '

A B
DC

S

B
A

B

A
S

Q

I ����2.19J

I ����2.20J I ����2.21J
P

S1

S2
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A�2�B�7�)� (	:  �������"	�5���6"� '� �2� � ��!M)�����[��
��;����S�;�+Opposite arc,�������( '�7>� ���!M)���:��������
�D
�	��6���9�����7/.	���
���6���������;��;&��� S�;� (Supplementary arc) ���������( '�(��� ��!M)��� AB � 91�
������ ';5"H� ��� �7���� ���������(�(	:�AB �������7�)�S�;�� �Q
(� 91��(Corresponding
chord)�������( '
2.4.1 P �0S�;O��
-�*S�;�����	2$�
��(Minor arc, Major arc and semi circle) �
P �0S�;O� �
-�*S�;� �

�!����@<��� ��� ���P�	�5��(	:�	������5��	�5���
�>�AB ������	���,����%M
����	�F��
���"�����	 ���(��P �0S�;�+Minor arc,�������( '�(��S�!� ����	���,�� ������
-�*S�;
+Major arc,�������( '

 ����2.22��� �S�!� ���2� 	����� ����6"� ' (��S�!� ������#�(�����eAB

S�!� ����!M��������%������(�2�������� 	����� �����“AB�	����� �����!M��������%������( '
	2$�
�� �

(��	�������@<��� �����
�>�����	����(��	�������#� ��6����(��	2$�
��(Semi circle)

������( '� ����2.22�� C Q D (	:� C P D ���������C
	����6"� '��:;���������C
	���(��S�!� ��
	��	����� �������8 '�(���C
	����	���,�� ������(���C
	�� '
2.4.2 S�;�� ��N?$1�(Length of the arc) �

���������������$�$H���!TU
����������&����������	����
������� ���� �!TU
�� ��������&� '� (����������<�0,� ���������
���#� ��������	 '����	�AB �����!M����7�.�N� ���!M)������S�!�
 �����!TU
��	����� �����!TU
�9����S�!��� '� ������N?$1�(length)� 
�  ��N�!M������ ��������( '� � A P Q , A P Q � �����!TU
��������� �(� '�!�E�	���,�� ���
�!TU
�����B��	�����!TU
����6 '�	�����!TU
����	����;���5�(Circumference)�������( '
�"H�-��� S�;�(Adjacent arcs)�

���6�(�	�����!�E6�� �������6�(��������-��<�	�5��/.�#�7>�	�5�6��������� ����(�����"
	�5����	�(	:�(������!�E6�� ������"H�-���S�;�(Adjacent arcs)�������( '�!�E6����N����� ���
�:������������ ����9�����( '� ����2.22��� Q C A �(	:� �!�E6����N����� �����:������
Q A B �9�����7�&� '

��"�6� ��!�E6��	����� �����*��!�E6���C
	�����N����� ������E�����	����Y '

Q

A
B

C O

P

D

I ����2.22J
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2.5� S�;� ������ ';5"H� ����� +Angle subtended by an arc,�
���6�(�	�����I ����2.23J �(��S�!�� �� '�X,

AB �����7������/.	��	�������0�������(��	�5�����#
�AXB���� � ���!M����X�9����7�.�N����<� (angle
subtended at X)�������( '�	������5��O����#��AOB ��

�!M������5�9����7�.�N����<�	���:�S���� ��
���0��� ����� (Central angle)�������( '��/�
������ P �0
S�;����������0!����';5"H������'(�S�;�����0������� /

  A B ���P�����@<����"V�F�	�5�� ���#��APB����   A B  ����(��	@>�$6��� ����
(Inscribed angle)� ������( '�Q, �� 	���,��  ��� 7����F� (�� 	�5�� ���#��AQB ��

� ������;���� S�;�@>�$6���	��;��;&��� S�;�@>�$6��� �����(Angle subtended at a

point on the opposite arc or supplementary arc)�������( '�I ����2.23 �!$J
�������	
�����<��&1��AOB�6��AB �����!M����7�.�N���5��F����< '�(���[B����AB ����

!M����7�.�N���5��F����<�(	:   A B S�!� ���!M����7�.�N���5��F����<�!M)�����N�I ����2.24��!$J '
 ����2.25��� �(��	����� �� '

A R B !M����Q�9����7�.�N����<��AQB, ���(���"#�
$������< '��ARB, �
(��	���,�� ���"#�
$������< '
2.5.1 ����� ������ �7���� S�;�(Arc intercepted by an angle) �

���6�(� ���<�� 	���!M)� (�� 	����� �&!� ��#1� ���<�
�"�!
%��� /.	��  ��1� ������ ���"	�5�!M)� ���<�� !�E	���� 7����F
���"�1��������'(� ���������� �7���� S�;� � -�.�� /� ����2.26��
�EOF����<�!M�����&!��� �����7&� E Q F (	:�AXB�!M�����&!��
 ��!M)����# (	:� C Q D '

B
P

A

O

X

Q

A

O

B
A

B
R

Q

X

B

P

A

O

D
F

Q

E
C

I ����2.23J

	���,�
 ���"#�
$������<

��5��F����<

�"#�
$������<

I ����2.24J I ����2.25J

I ����2.26J

O
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2.6� S � ; � � T � � 0 � � ; � � � � ; � +Degree measure of an arc,�
�������S�!� �����5�9����(�����<�7�.�N���� '����<�������E8������������������]��/�K

3���,1���34�����2����34��	�	������( '��!����),� �������������������������:;��!�����E����	 '
���N�������@<��� ����3���,����������:;��!�����E&� '

����� ��������� S�;� �� T��0�� ;����;� 0� B� 360� �
��$�� ��� ��)�� ��61�� .�-�
m � ������ �&S��� - �� ���� "��H���� ������
�� - � �

O�	������5�����#1

(i) m P �0S�;�= m�AOB

(ii) m 	2$��
��= 1800

(iii) m �
-�*S�;�= 3600� �–  m�AOB

�:;�����),���� S�;� B� �-��� ��;���� S�;�� T��0�� ;����;�� ��%��3600 /

 ����2.27���AC �	����2  m�AOB�O�1200����#�m �O�1200�1�m A P C O�18001
m B Q C �O�600�(	:�m A C B O�3600�W�1200�O�2400���	 '

I�&S"��� ����3���,������������(������34�������������0�2�2�������(��	�?	��:$���(	:����34
�������0�2�400������(��	�?	��:$�� '�7f����<�������34��������������	��0�	�	���
��( '�(�������#� ������������������	 '�(9������	0�(�����������E��������������� S�;�
��N?$1� �Q
(� �
��� �1���2$� �-� ���"� �-�>� S�;���� ���0��� ������ ��TU�	�"*� ;������1C� 	��
����T��0��;����� ���

π 	�� /���-��<����	�����@<��� �� ����34�����������<������������J

 ����2.28��� A X P � 2� P Y B �!�E6����N����� ���(	:�P�����������-��<�	�5� '�7>
 ��!M)���:��������9��� ��3���,���������
�>� ��!M)��3���,�����������B����	 '

�/�
���m O�m A X P  + m P Y B

����������N����� �����!TU
����	� ��������#��������E	�

� �O�� A X P  + � P Y B

(��������<���������#� ����������>�����8 '

C

Q
A

O

P B

P

X

O

B

A

Y

I ����2.27J

I ����2.28J

�
	����C
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2.6.1 S�;�� ��$���� �(Congruence of arcs) :
����� ��������� �
���� +	<��� � :� ��$��� �
���,� � :��� S�;�� T��0�� ;����;� ���"

�-�>� S�;� � :��� ��$���(Congruent) - 	@� /
 ����2.29����m�AOB  = m�COD �� � C Q D '
(/.�����[B���
(i)����6�(�	����!�E6���	
���S�!� ������5��F����<!M)��	
���(	:�	���,����������6�(

	����!�E6��S�!� ������5��F����<!M)��	
������#�S�!�� ��!M)��	
������	 '
(ii)� ���6�(� 	���� !�E6�� S�!� ��� �	
��� ���#� �������

	���,��	����� ���!M)�����	
������	 �'�(����	���,��7>�6�
������ '

(iii)����6�(�	����!�E6���C
	����	
�� '
7����>��/��(i)����(iii)���
�"�����@<���!�E6���	
���	�������"���������� '
��������
����S�;����N?$1�S�;�����0��������;����;��-����" ;��� /����0�������

;������� -0��� ��� �
2�� �-��� S�;�� ��N?$1�� ���" ;����� -0��� ��� �
2�� ?��<�� /
��"�6� ������6�(�	�����!�E6���	
��� �����!TU
���������(�(	:�	���,�����������

�!TU
��	�%�B� ��!M)��	
������"� '
';;��1� D�10

������� �
���� � :��� ��$��� S�;� �-� �Q
(� 91����� ��$�� /
(Corresponding chords of two congruent arcs in a circle are congruent.)

� � � ��ABC�	�����O���5��(	:� A X B �2� C Y D �!�E6���	
���S�!�� �� '�AB �2�CD
 ��!M)���
�>�����I ����2.30J '

I�!�� A X B �2� C Y D �!�E6���	
���	����� ������"�����	���������	���,�� ��!M)
�	
���S�!� ������	 '������:���	0�S�!�� �����E8�����<���/B 'J

;0����1� �� AB ���CD

	 I " � ��OA 1�OB 1�OC �(	:�OD ������� '
;0���� ��� OAB�(	:�� OCD�����
OA = OC, OB = OD�I(���	����	����C
J

m �AOB = m �COD �I�� A X B � C Y D ��������������34���,������������J
��(	�� OAB ����OCD�I	����W����< W 	�����	
����J
��AB = CD ���� AB ���CD I����<��J

O
A

P

B C

Q

D

A

X

O

B

D

C

Y

I ����2.29J

I ����2.30J{�
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�@� 1� D� 1� ��7����>�7���!��W10���� A X B �2� C Y D � ��!M)�!�E6���C
	������#
�����������
�>�����!M)��	
������	����<��
�>�����!M)�(���	����!�E6��	�����6"� '

2.�!�E6���	
���	�������"�7���!��W�10���������� '��/�
���� :��� ��$��� �
���� � :��
��$��� S�;� �-� �Q
(� 91�� ���� ��$�� /�(��������<�7���!�W10�������<�����������	 '

;0���� D�2.5� �� � ';;��1� D�10� �� ��;���� �<"� B� ;0���� �
��������
���� :���91����$����-�>�����"I��-��Q
(�(i)�P �0S�;�������$������

(ii)� �
-�*� S�;� ���� ��$�� /
[If two chords of a circle are congruent, then the corresponding (i) minor arcs

are congruent and (ii) major arcs are congruent.]

� � ���ABC�	�����O ��5��(	:�AB �2�CD �!�E6���	
������ '� A X B �2� C Y D ��/�����
AB �2�CD ���������
�>� S�!� ���(	:� A Y B �2� C X D ��
�>�	����� �� '�I ����2.31J

;0����1���(i) A X B � C Y D (	:�(ii) A Y B � C X D

	 I " � ��OA 1�OB 1�OC �(	:�OD ������� '
;0���� ��� OAB�(	:�� OCD�����

�OA = OC, OB = OD I(���	����	����C
J
AB = CD�I��AB ���CD �!�J
��� OAB ����OCD I	����W�	����W�	�����	
����J
��m �AOB = m �COD ..................(1)

�� A X B � C Y D I(i) ����<��J
���g�(1) ���3600�W�m �AOB � = 3600– m �COD

�� A Y B � C X D I(ii) ����<��J
�@� 1�������)�W�2.5,�!�E6���	
���	�������"���������� '�(�����/���#$�����������<����	���
� B���� '
2.6. 2 ������� S�;�� 	@>�$6��� ����� �Q��$�� ��� � � ��;&V$� �<1� �

;0����D�2.6�������
�����������S�;��	@>�$6���������;�������-�����;����S�;�
T��0�� ;����;�� 	�2$� /

[In a circle, the measure of an inscribed angle of an arc is half the degree mea-
sure of the opposite arc.]

Y

CB

X

D

O

A

I ����2.31J

{�
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� � � ��APB�	�����O���5� '��APB, ��(���"#�
$������< '� A X B , �
	���,�� �� I ����2.32J�'

;0����1���m �APB = �
�

m A X B

	 I " � �� →
PO �	�����D�	�5�����&!���� '�AO 1�BO ������� '

;0���� ��(9�����������6���Z�	����&� '��Z�	����)����#�W

(i) �(��S�!� ���I ����2.32�IaJJ1

(ii) �(���C
	���I ����2.32�IbJJ�(	:

(iii) �(��	����� ���I ����2.32�IcJJ
	�
���� ����2.32 IaJ1�IbJ�2�IcJ�����"�� OAP ���
AO = PO I(���	����	����C
J���m�OAP =  m�OPA ... (1)

�AOD �	��V�F����<���m�AOD = m�OAP + m�OPA�I�"V�F�!��	�
,J
�  m�AOD = 2m�OPA�I(1)�!M���J LLLLL(2)

���������OPB �����E	��m�BOD = 2m�OPB ..... (3)

I2J�2�I3J����������E	��m�AOD + m�BOD = 2m�OPA + 2m�OPB

���m�AOD + m�BOD  = 2m�APB ..... (4)
	�
���� ����IcJ���
    2m�APB = m�AOD + m�BOD = m�AOB [(4) �W�!M���]
��m�APB = �

�
 m�AOB = �

�
 m A X B I����<��J

���g� ����IbJ��
   2m�APB = m�AOD + m�BOD [(4) �W�!M���]

                      = 1800 �I ��C
	��������AB �	���J

O
B

D

A
P

O

D X

A

P

B

D X

P

O
A

B

(b) (c)(a)
I ����2.32J

X
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��m�APB = 
���

�

�

 = 
�

�
m A X B ��I� A X B ���(���C
	��J�I����<��J

�%_��� ����IaJ���m�AOD = 1800 – m�AOP LLLLLLLLLLLL(5)

I � ��AOD 2��AOP���[����N������������J
��������m�BOD = 1800 – m�BOP LLLLLLLLLLLL(6)

�����:�2m�APB = m�AOD + m�BOD �[(4) �W�!M���]
  = 3600 – (m�AOP + m�BOP) [(5) 2�(6) �!M���]
  = 3600 – m�AOB

[�AOP 2��BOP !M)���N�����(	:�P, �AOB����"�!
%����	�F��]

= m A X B ��m�APB = 
�

�
m A X B �[����<��]

7!���<�^���1� ����2.32�IaJ��� A X B ���	���,�� ��� ���P�9����7�.�N����<
�APB�������<1� A X B ��3���,�����������C
� '

�@�1� �� �	�����  ��� �S�����!�����E/.	�� ����2.32� IcJ� ���O�	�5�6���APB�
�"�!
%�������&� '��!��	�5�6���APB ��	���!
%�������I ����2.33J����	�����<���������
���	�
����	 '

 ����2.33��
2m�APB = 2 (m�OPB – m�OPA)

= m�BOD – m�AOD [(2) 2�(3) !M���]

= m�BOA  = m A X B  [� A X B (��S�!�� ��]

	" ��2�@�- 1 :

(i)���������
����� :�����$���S�;��	@>�$6�������������$�� /���;�����0��O�������
�
����� :���S�;��	@>�$6�������������$����-�>�S�;������$�� /�[S��0�2.34� +a,]

(ii)���������
����� :�����$���S�;����;����S�;�@>�$6�������������$�� /���;���
�0��O� ������� �
���� � :��� S�;�� ��;���� S�;�@>�$6��� �������� ��$��� �-�>� S�;���
��$�� /�[S��0�2.34� +b,]

B

A

X
O

P

D

I ����2.33J
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����<�K�(i)  ����2.34�IaJ�����"�K
� � � �� A X B � C Y D � '���APB 2��CQD���������!�E6���"#�
$������< '
;0����1��� �APB �� �CQD

;0������ A X B � C Y D ����� A Y B � C X D I	���,�� ��J
���������m A Y B  = m C X D I�:;�J��������(1)

	�
����m�APB = �
�

m A Y B �(	:��m�CQD = �
�

m C X D ���I����)�W�2.6������),J
�����:�(1) � �APB � �CQD
	���,��������APB � �CQD ��m�APB � m�CQD

��
�

�
m A Y B  = � �

�
m C X D �I����)�W�2.6 �����),J

�� A Y B � C X D I�:;�J��� A X B � C Y D I	���,�� ��J�I����<��J
(ii)  ����2.34�IbJ�����"�����<��������� '

I�&S"���APB�2�CQD��/������ A X B �2� C Y D ���	���,�� �����"#�
$������<��6"� ' J
�@�1� ��!�E6���	
���	�������"������C�"�W�1�������<���������� '

!�E6���	
���	���S1�2�S2���� A X B � C Y D �2��ARB�(	:��CSD��/�������������
!�E6���"#�
$������<����#��ARB ���CSD���	 '��������� A X B �2� C Y D ��	���,�� ��!M)�
�"#�
$���!�E6�����<��APB�(	:��CQD�����	
������	 '�(/.��E8�����<�������� '

Q

D

C Y

O

A

P

B
IaJ

D

C

P

YD

Q

A

X

B

IbJ

A
R

B

S1

P

X

IaJ

C
S

D

S2

Y

IbJ

Q

X

I ����2.34J

I ����2.35J
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	" ��2�@� D�2:�(i)�������� �
���� ������� S�;�� 	@>�$6��� ����� TU��� ��$�� /
(ii) ������� �
���� ������� S�;�� ��;���� S�;�@>�$6��� ����� TU��� ��$�� /

 ����2.36��� A X B ��������6���"#�
$������<��APB, �AQB�(	:��ARB�������������
�����<�	���,�� �� A Y B ��3���,�����������C
��I����)-2.6J'

�����:�m�APB = m�AQB = m�ARB = �

�
m A Y B  ......(i)

�� A Y B ��	���,�� �����"#�
$������<��34����	
�� '

�� A X B ���"#�
$������<��34����	
�� '
	" ��2�@� D�3� �� ��� 	2$�
��� 	@>�$6��� ����� ��� ������ /
	" ��2�@�D�4����������S�;��	@>�$6�������������������-�>�S�;������	2$�
� /
����)W�2.6������<��"�
���Z�	���(ii)� ����2.32�IbJ����(�����[B '��/���������M�!�B���

�����C�"�W�3�2�4���^�c�����<����N���!�����E&� '
	" ��2�@� D�3� �� ;0���� �
� � � ��S�	�����BAC�(���C
	��� '�( ����2.37)

;0����1� ���BAC�(�������< '
	I"���O�	������5�����#�OA 1�OB �2�OC ������� '
����<�K�BAC��C
	��������BC �	����	��� '
�BAO����OB = OA�I(���	����	����C
J���m�OAB = m�OBA
���������CAO ���m�OAC  = m�OCA
�����:��m�OAB + m�OAC = m�OBA +  m�OCA
��m�BAC = m�OBA + m�OCA
��2m�BAC = �m�BACh��m�OBA + �m�OCA = 1800

[�ABC �����<�����������<����B��1800 ]
��m�BAC = 900���/�
����BAC (�������< ' I����<��J
	" ��2�@� D�4�� ;0���� �
� � ��S�	������BAC, B A C ��(���"#�
$������<�(	:��BAC (�������< ( ����2.38)'
;0����1� �� B A C �(���C
	�� '

P

A

Q R

O

B

Y

X

B O C

A

A

C
O

S

B

D

S

I ����2.36J

I ����2.37J

I ����2.38J
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	I"���O�	������5�����#�AO 1�BO �(	:�CO ������� '� →AO �	�����D�	�5�����&!
��� '

;0��������ABO ���OB = OA I(���	����	����C
J
��m�OBA = �m�OAB .....................(i)

��BOD, ��ABO ��(��	��V�F����< '
��m�BOD = m�OBA + m�OAB = 2m�OAB �[(i)!M���]
������������<������E�������1��m�COD = 2m�OAC

��m�BOD + �m�COD = 2m�OAB + 2m�OAC = 2m�BAC = 1800

[�m�BAC = 900�I!�J]

��
→
OB �2� →

OC ���[��	���,���%d, '��/�
��B, O, C�(����$,) '

O ��5�������BC �(��	��� �� B A C (���C
	�� '�I����<��J
2.7 �
�68O� �
�68��� ����� ���� �
����

(Segment, angle inscribed in a segment and sector) :
 2.7.1� �
�68� �

�
��� ��� 91�� ���� 91�� �-� �Q
(� ������� ��� S�;�� ���.����� ';5"H� ���*� � ��
�
�68�� -�.�� /� ����2.39���AB �����!M����7�.�N�(��	��$H���7&� AXBA'� A X B (��	����
 ������E/.	�������8�AXBA� ��� �
-�*� �
�68 (Major Segment)/�������������������<��
AYBA� � � � P  � 0 � � 
 � 6 8 (Minor Segment)/
2.7.2� �
�68��� ����� �

� � � � � � � S � ; � � � � � 	 @ > � $ 6 � � � � � � � �  � � Q 
 ( � � 
 � 6 8 � � � � � � � � (Angle inscribed in a
segment)�� -�.��� /� ����2.39����ACB, AXBA�	��$H�F����<���6 '

���������ADB, AXBA�	��$H�F�����(�����<���6 '
����)�W2.6������C�"�-2 �����N�	��i��/�6����[B K
������� ��� �
�68��� ��)� ����� ��$�� /
 ����2.39����m�ACB = m�ADB�'
������������)�W�2.61������C�"�W�3���	��i��/�6�������[B '
	2$� �
�68��� ����� ��� ������ /

A

Y

B

C X
D

I ����2.39J

O
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2.7.3� �
����� �
� 
 � � � � � � � � � � � � � S � ; O � S � ; � � ; 0 � @ � � �  �  � � � � 0 � � - � � � � . � � � � �  < 5 � � � � 1 � � � 2 $ � � � � �

���.����� �
�����(Sector)� �!��� - � /� ����2.39 ���OAYB (��	���0� ��6�'
����������	��$H�2�	���0���*+���	�%!����#� ��������E&� '

2.8� �
��@>�$6��� S� G $9�(Cyclic quadrilateral) :

�������<�����(����0��$������/.	�������6��	�5��!��/.�#�7>�	�5�������	
!��(��	��
7��������	 '��/�
�������������6��	�5���!E��	
!��(��	��������Z	� '���"�� ���6��	�5��!�
/.�#���������	
!�����6(�	���7��������	����`�(����	
!���Z	�����8 '����N������#� �����

���<����/.�#� ���6��	�5��(��	���7����F�(Concyclic)����	 '

;0� ���D 2.7� � ���  : � � � � � �  � � � � � . � 9 � � � � 6 � 6 8 � � � � � � � � ; � A � $ � � � 	 " 1 � �  : � � � � � �  ! � � �
';5"H� � �  <5��� �������� ��$��� �-�>� ��� � S������ ��� �
�� ';��� �-��� /

� � [If the angles subtended by a line segment joining two points at two other
points lying on the same side of the segment are congruent, then the four points lie
on a circle.]

� � � ��A�2�B�	�5��!M)���:��������$�$H�AB �(����(�
��%M
���/.	��C�2�D�	�5�9�����ACB�2��ADB�7�.�N�����&��(	:
�ACB �� �ADB�I ����2.40J�'

��2�@���A, B, C�2�D�	�5�� ���6��(��	���7����F����	 '
(��������<���9�����	����
>�/.	����(9�������#� ��������E

���Y '������,�&���&���,������"�(������)�����%�B�������)�2.7 �
����<�!�����E&� '

(��	���7����/.	�� ������6��	�5��A, B, C�2�D�(�� ����
��ABCD��9�����/.�#��/
���
AB 1� BC 1� CD �2� DA ��������@<���!�E6����[�������"�	�5�����N��������&!�������/.�#
ABCD  ����
����	���"#�
$��� ����
�����	� '

����������S� G $9��A�M$��� �� TU�������
��';���	�����
�-'<5�>�S� G $9��� ��
��@>�$6���S� G $9�(Cyclic Quadrilateral)
�  - � . � � /

 ����2.41���ABCD�(��	���"#�
$��� ����
� '
(��	���"#�
$��� ����
������<����������/.	���*+
7���!�W�11 ���!�����E&� '

A B

D C

D

C

B

A

I ����2.40J

I ����2.41J
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';;��1� D�11

��� �
��@>�$6��� S� G $9�� ��;���� ������"� ;�W�� ;��;&�� /
[The opposite angles of a cyclic quadrilateral are supplementary.]

�����ABCD�(��	���"#�
$��� ����
��I ����2.42J
;0����1���m�A + m�C = 1800�(	:�m�B + m�D = 1800

;0������ABCD� ����
����AC �2�BD ��D
!M)���[�����&!���"�
I����<�����"��"	����!$J '
��B�2�D�	�5��!M)�AC ���	���,����%M
����	�F�� '

�� A B C �2� A D C �!�E6��	���,�� �� '
��<�� ����3���,����������:;�������

m A B C  + m A D C  = 3600 ��
�

�
m A B C  + �

�
m A D C  = 1800 ............ (1)

��"��m�ADC  = �
�

m A B C (	:�m�ABC = �
�

m A D C �I����)�W�2.6J

��m�ADC h�m�ABC = �

�
m A B C  + �

�
m A D C  = 1800 I(1) !M����J

��"���������<�����(�� ����
����m�A + m�B + m�C + m�D = 3600

�����:�m�BAD + m�BCD = 1800 I����<��J

�@� 1���ABCD� ����
��	���"#�
$������#�(�����D

!M)�AC �2�BD ���[�����&!���"� '

;0�������!��AC �2�BD ���[�����&!�����"��I ����2.43��!$J����	�B�2�D�AC ���(�
��%M
�������	 '��/�
����D, A B C �7�������	 '�������D, B Y C ����"V�F '�A, A B C ���(�
���"	�5�����E/.	���� B Y C ���"V�F���	����Y '

��A �2�D, BC ���	���,����%M
�F����	 '

�� AD � 2� BC � ��[���� �&!� ����	1� �������  ����
��
�:;�����),���Z	 '���<��D, B Y C ����"V�F���	����Y '��������
D, A X B ����"V�F���	����Y '������:�D, A B C �7������������	
���8� '���<��AC �2� BD ���[�����&!�����	 '�I����<��J '

D
A

C

B

I ����2.42J

A

X

B

Y
D

C

I ����2.43J
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	" ��2�@� D�1� �� �
��@>�$6��� ����@���� S��0� ��� 	���S��0 /
;0������ABCD�(��	���"#�
$�������"���� ����I ����2.44J

��m�A = m�C�I����"���� ������j�$,�����<������	
��J
��"��m�A + m�C = 1800�I7���!��W�11J
��2m�A = 1800 ��m�A = 900

����"���� ��������6�(����<������< '����ABCD�(����)� ��� '
	" ��2�@� D�2� �� �
��@>�$6��� �E�� ��� ��$S��0�'
�����C�"�W�1������),��*������6�(����<�(�������<���	 '
	" ��2�@� D�3�� �
��@>�$6��� S� G $9�� ��� �-�C��� �����

;������ �-��� 	@C��� ��;���� ������ ;������ �-� ���" /
 ����2.45����ABCD�	���"#�
$��� ����
����CBX��(��	��V�F����<
��m�ABC + m�CBX = 1800

��"��m�ABC + m�ADC = 1800�I7���!��W�11J�� m�CBX = m�ADC

;0���� D�2.8� �� � +';;��1� D�11�� ��;���� �<",� �
�������S� G $9����;����������"�;�W��;��;&����-�>�S� G $9����
��@>�$6����-� /
[If the opposite angles of a quadrilateral are supplementary, then the quadri-

lateral is cyclic.]

� � ���ABCD� ����
����m�A + m�C = 1800�(	:�m�B + m�D�O�1800�I ����2.41J
��2�@���ABCD� ����
�6��	���"#�
$��� '
����)�W2.8�������<���9�����	���
���/.	���������,�&���&���,������"�(������)�����%�B��

7>�����)������<�!�����E&� '
�
�� �EF��� ���������� '��-��� �

'��-�����D�1����6�(�	�����!�E6������AB �2�CD ���[����	�����"V�F�(��	�5��P�9���
�&!���"� '�����<�������AP . PB = CP. PD '
�����"��� ����2.46����AB �2�CD �����!M)���[����P�9���

�&!����&"� '�����<����	������	����PA . PB = PC .PD

	 I " � ��CA �2�BD ������� '
;0���� ����PAC�2���PBD�����

m�ACP = m�PBD I(��� ��� A B D ����"#�
$��J]

D C

A
B X

I ����2.45J

C
B

PA

D

I ����2.46J

A

B

D

C

I ����2.44J
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m�PAC = m�PDB�I(��� ���   B C ���	���,�� ���"#�
$��J�(	:
m�APC = m�BPD I���,�����<J
���PAC ~ ��PBD I���W���W������!�%�J

��
AP
PD

PC
PB

= ����PA . PB = PC. PD�I����<��J

'��-���D�2� � �(��	����	��V�F�P�	�5����,�!�E6���&!��	������/������A, B�(	:�C, D
	�5�����&!���"��I ����2.47J�����<������1�PA . PB = PC. PD '

�����"��� ����2.47���P�	�5������!E�!�E6���&!��→
PB �2� →

PD �	������/������A, B�(	:
C, D�	�5�����&!����&"� '

;0����1�������<����	������	����PA . PB = PC. PD '

	 I " � ��BC �2�AD ������� '

; 0 � � � � � ����PAD�2��PCB�������APC���-��<�'
m�ADP = m�CBP I(��� ���   A C ��	���,�� ���"#�
$��J

���ADP ~ ��PCB I���W������!�%�J

��
PA
PC

PD
PB

= ���PA . PB = PC. PD I����<��J

'� �-���D�3����(��	����	��V�F�P�	�5����,�!�E6���&!��	������/������A, B�(	:�C, D

	�5�����&!���"� '�����<�������m�APC = �
�

[m  B D  – m   A C ]

�����"��� ����2.47����P�	�5���!E�!�E6���&!��→
PB �2�→

PD �	������A, B�(	:�C, D�	�5���
�&!����&"� '�����<����	������	����m�APC = �

�
[m  B D  – m  A C ]

	I"� ��AD ������� '

;0��� � ���PAD����m�APD = m�BAD – m�ADP I��BAD 	��V�F����<J�....(1)

��"���m�BAD = �
�

m  B D �(	:�m�ADP = m�ADC = �
�

m  A C

�����:��m�APC = �
�

 [m  B D  – m   A C ] [(1)�I��J] I����<��J

P

A

C

D

B

I ����2.47J
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;��A�%
�����,�&���&���,����E8�����)�2.7�2�2.8 ������<����N���!�����E&� '
;0���� D�2.7�� ;0���� �
� � � ��C�2�D�	�5��!M)�AB ���(����%M
����	�F����(	:�m�ACB = m�ADB '
;0����1���A, B, C�2�D�	�5�� ���6��(��	���7��������	 '
	 I " � ���������A, B�2�C�(����0��$��������"�1������������!E�ABC�	�������

��7 '
;0������	�
���������!%�
E	�����D�	�5�6��ABC�	���7�������	 '

������D�	�5��	����	���!
%������	�I ����2.48J����	� ←→
BD ���*�� ←→

AD �	�����(�

	�5�����&!����	 '�I���0�7����AB��C���%M
���D��	����N��	�F������E�(�������<������	 'J

������←→
BD �	��6����E�	�5�����&!���� '�AE ��������7 '

�������C�2�E�	�5��!M)� A C B �7�����&"� '

����)�W�2.6������C�"�W�2�!M���

m�ACB = m�AEB ...........(1)

�ADE�����AEB�	��V�F '

�����:�m�AEB �  m�ADB

��"��!���&�����m�ADB = m�ACB

��m�AEB � m�ACB������I1J���	����-����&� '

��������←→
AD �	�����(��	�5����E/�9�����&!���#�BE' �����������	
����������!�E6�

��[��	����-,�7>����E	� '
��<��D�	�5�6��	����	���!
%������	�����8 '��!��D 	�5�6��	�����"�!
%���D/�9�������

���	�7����>�-�����������!�E6����[��	����-,�7>����E	� '���<��D�	�5��	�����"�!
%��
���	�����8 '

�����:�D�	�5�6��ABC�	���7�����	�F�� ' I����<��J

C E/

D

D/

E

BA

I ����2.48J
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;0���� D�2.8�� ;0���� �
�����ABCD� ����
����m�A + m�C = 1800�(	:�m�B + m�D = 1800�I ����2.49J

;0����1���ABCD� ����
�6��	���"#�
$�� '
;0������I��Z	�)����<�0,J�������ABCD� ����
��	���"#�
$�������8 '����	�A,B�2�C

����!E������	���7����D�	�5���	�F�����	����Y '������:�D, ABC�	����	��V�F�I ����2.49JIaJJ
��*���"V�F�I ����2.49J�IbJJ���	 '�7�)��S�����m�A + m�B + m�C + m�D

= (m�A + m�C) + (m�B + m�D)  = 1800 + 1800 = 3600

��ABCD �(��7�0� ����
� '�(�����D
!M)�AC �2�BD ���[����E�	�5�����&!���"� '

E�	�5��ABC�	�����"V�F���	 '�I��E�	�5��AC �����7����FJ������:� →
BE �ABC��	�����(��	�5�

F�����&!����	 '
	�
����!�E6���Z�	����/��K�(i) E-F-D��I ����2.49IaJ�(	:�(ii) E-D-F�I ����2.49J�IbJJ

������Z�	���(i)�������<�K
 ����2.49�IaJ����m�ADC = m�ADB + m�BDC�(	:

m�AFC = m�AFB + m�BFC ...(1)
	�
����ABCF �	���"#�
$��� ����
����m�ABC + m�AFC = 1800

��"��m�ABC + m�ADC = 1800�I!�J
�� m�ABC + m�AFC = m�ABC + m�ADC

��m�AFC = m�ADC ... (2)
��ADF �����AFB 	���F���m�AFB > m�ADF
���������CDF����m�CFB > m�CDF
�����:�m�AFB + m�CFB > m�ADF + m�CDF
��m�AFC > m�ADC I(1) !M���J ...... (3)

IbJIaJ

D
E

A

CB

F

D

A

B C

E

F

I ����2.49J
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(2)�2�(3)���[��	����-,�7>� '
�����:���������<����/.	������Z���7>�6����������8 '��/�
���ABCD� ����
��	���"#�
$��

��	 '��Z�	���(ii)��S����������������<� ����2.49IbJ����������!�����E�����	�I����<��J

	" A��"�� D�2(b)
+�� D� ��G��,

1.�"��H�'(��� TU�����!��*�'(��;�:=�T� B � G  > � ' ( � � ; � : = �F� � > 6 /
(i) 	����(��7���6���� �����"� '
(ii)  ����(���"V�F�	�5���
�>�	�����"V�F�	�5������8 '
(iii) ���6�(�	�����P�2�Q�!�E6�� ������-��<����"	�5�����#� ��!M)���[����������

 ����6"� '
(iv) ������� �������"	�5�!M)�����5��������������#���78����<�7�.�N���(������7>

 ������5��F����<���6 '
(v) !�E6�� ����3���,�����������B��3600 ����-.�����E�����	����Y '
(vi) 	���(��7�0���6������8 '
(vii) ���6�(�	�����!�E6�� �������6�(���-��<����"�	�5��/.�#� ���!�E6����N����� ������	 '
(viii) !�E6���	
�����������
�>� ��!M)���N����� ������#� ��!M)���:��������	
!�

	����� ����9�����	 '
(ix) !�E6���	
���������[����#*���	���	����(���"V�F�	�5��P�����&!���"� '�	���

��5��O�9����������������OQ OR, �#*��9�������&� '����	�O, Q, P�2�R�(�
	�
 �����%,_
	�5�����	 '

(x) B P C ��3���,��������300 '�A�	���7����F�(��	�5�����#��ABC�����A��������<
�	
!���150 ��	 '

(xi)  ���6�(� �����:$��	�5������������6 '
(xii)  	���"#�
$����*���(��	��
 ��� '

2R� A&"1���"� ;&��� �� /
(i) (��	����� ����3���,��������LLL�����	%, '
(ii) ���6�(���_��_34������������	����(�������	������5�9����7�.�N����/.	����5��F

���<�������<�LLLL� '
(iii) ���6�(�	���"#�
$��� ����
���ABCD��m�A = 500�2�m�B = 1200����#�m�C 2

m�D �������"��LLLLLLLLLLLLLLLLLLLL'
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(iv) ���6�(�	�����!�E6���	
�������AB �2�CD ���[����	����(���"V�F�	�5��P�����&!
��"� '�O�	������5��(	:�B�2�C OP ��(����%M
���/.�#  A D 2�LLLLLLL�!���8��	
�� '

(v) ���6�(�	�����(��������!TU
��	����C
������������#�7>�����!M�����&!���S�!�
 ����3���,��������LLLL '

(vi) AB ���(����%M
���C�2�D�!�E6��	�5� ' m�ACB = m�ADB = 200 '��ACD�
���	������5��O����#�m�AOB = .... '

(vii) m�ABC = 900 ���#��ABC �����	�����AC �(��LLLL�'
(viii) ABCD (��	���"#�
$��� ����
� '�m�BAD ............  ����3���,�����������C
� '
(ix) (���C
	����3���,��������LLLLLLLLLLLLL '
(x) ���6�(�	�����(�� ����3���,��������900 ���#1��:��>�����2�	����C
��������

LLLLLLLLLLL '
+6� D� ��G��,

3.����� ����2.50����ABC�	���"#�
$���(	:���Sd���<, '�D, E, F,�	���7����F������6��	�5�����#
���N���%N��34����7���!�� '
(i) �B ��78� �����"#�
$���`
(ii) �B !M������78� ����&!���`
(iii) BC ����!M�����&!���S�!� ���2�	����� �����(�`
(iv) �A �������<���78���5��F����<������<����C
��`
(v) �ABC ����!��AB = BC���(����	���78� ���!M)��	
������	�`

(vi) !�E6����N������ ���������#$�����������������:������� B A D ��9�����	 '

(vii) B F C 7����(����(��	�5��P�������������m�BPA=m�C'�(���������6��	�5���&�`
A D C 7����(������@<���	�5���&�����`� B E A �7����(������@<���	�5���&����`

4.  ����2.51����ABCD�(��	���"#�
$��� ����
���������D
!M)
���	������5�9�����&!���"� '�m A E B  = 1000����#
(i)� ����
�����?����<������<���D
)��� '

(ii) A H D �2� B F C ����������
�
��!$�&�`
(iii)  ABCD���������� ����
��`

C

O

B

D

A
E

F

D

A

H
E

B

C
GF

I ����2.50J

I ����2.51J
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5.  ����2.52����AB �2�CD �����!M)���[���
	����(���"V?�	�5��P�9�����&!���"� '
m�PBD  = 800 1�m�CAP = 450����#

(i) �BPD ������<������<��34�����D
)��� '
(ii) �APC �����<������<���34�����D
)��� '
(iii) �APC �2��DPB ����������
�
��!$�&�`
6. �ABC ����A � �� ��!M�$H�� �������� ���	�����D� 	�5���� �&!� ��#� ����<� ��� ��

�BDC���!M�	��� '

7.  ����2.53�������6�(�	����(��	��V�F�	�5��A �9����→
AP �2� →

AR ��%d��!M)�	������/������P, Q

(	:�R, S�9�����&!���"� ������A-P-Q�(	:�A-R-S '
(a) ����<��������APR ~ �AQS

(b) ����<��������APS ~ �ARQ

(c) �!�� PS �2�QR ����&!�	�5��T���(1����	
(i) ����<�������TP . TS = TR . TQ

(ii) ����<�������m�PTR = �
�

 (m   Q S  + m   P R )

(d) m�PAR = 150 �(	:�m Q X S = 500����#��m�PTR ��D
)��� '

8.  ����2.54���ABC�	���� A X B �2� B Y C �!�E6�� ���
3���,���������/������800�2�1400

(i) m�BAC ��D
)���� '

(ii) m A B C ��D
)��� '

(iii) m A C B ��D
)��� '

(iv) A Z C �2� B Y C ����������
�
��&��`
9L (��	������5��O�(	:�AB �(��	��� '�	���7����F�P�2�Q�	�5��!M)�AB ���(����%M
��

�	�F�� '��!��A�2�P����"�	�5��	�%�B� ����3���,��������600�(	:�B�2�Q����"	�5��	�%�B� ���

B

D

PA

C

A
P

T

Q

X

R
S

A X

O
Z

C

B

Y

I ����2.52J

I ����2.53J

I ����2.54J
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3���,��������500���(����	�W
(i) A �2�Q����"	�5��	�%�B�S�!� ����3���,�������1
(ii) P�2�B����"	�5��	�%�B�	����� ����3���,��������(	:
(iii) P�2�Q����"	�5��	�%�B�	����� ����3���,����������D
)��� '

10. AB �2�CD �!�E6�����"������I ����2.55J
����<�������i) m A X C  = m B Y D ,   (ii) AC = BD

11.�ABCD�(��	���"#�
$��� ����
� '
(i) AB �II�CD ����#�����<������1�AD = BC (	:�AC = BD
(ii) AD = BC ���#�����<������1�AC = BD �(	:�AB �II�CD

12.�(i)����6�(�	����� A X B �(�� �� '�����<������� A X B ���"V�F����6�(�(	:���	0����6�(
	�5��C��&��������  A C �2�  B C � ��!M)��	
������	 '�IC�	�5��� A X B ����	�5��������(J

�I�� ���K��AOB����!M�$H����$�� A X B ���C�	�5�����&!���#�C���	%���	�5����	J

      (ii)  ������	�5��-��<����	�	������������<������� A X B ������:$��	�5���&� '

13.  ����2.56����AB �	����(��	����(	:�O���5� '

OD �����@<���(��	����C
 ' AC ODII ����#1

����<������� B X D �2� D Y C ��	
�����/�
���D, B D C ���	�5� '
I�� ���K�OC ����������!%�
����1��m�BOD = m�DOCJ

�� D� ��G��

14.  ����2.57���CD �����AB �	����������"�
(	:�CD = OB� '�����<�������m�BDC  = 2m�OBD '

15. ABCD�	���"#�
$��� ����
���AC �2�BD ��D
!M)���[����P

9�����&!���"� '�O�	������5��(	:�B�2�C,
←→
OP ��

	���,����%M
����	�F�� '��!��AC = BD���(1
���	�����<������
(i) AB = CD, (ii) PA = PD �(	: (iii) BC ADII '

C

A

X

B

Y

D

D
YC

X

BOA

OA B

C D

I ����2.55J

I ����2.56J

I ����2.57J
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16. (i)�����<�������(��S�!�� �����"#�
$������<�(���F�0���< '
(ii) ����<�������(��	����� �����"#�
$������<�(����Sd����< '

[�� ���K�(i) A P B �(��S�!�� ���2� A Q B �(��	����� �����7 '�AD �	���������� '
m�APD = 900 < m�APB ]

17.�(i) ��ABC������	������5��O�������6���(���"V�F�	�5�����#�����<������
m�BAC + m�OBC = 900 '

   (ii) �ABC������	������5��O�������6���(��	��V�F�	�5��'�O�(	:�A, BC��	���,����%M
�F
���#�����<������ m�BAC – m�OBC = 900��'

18. ����<�������(��6������)��������"��	���!M)��	
������#�6������)��6��	���"#�
$�����	 '
19. !�E6��	�����[����P�2�Q�	�5�����&!���"� ' �P�	�5������!E�(����0��$��	��!M)���K

2�L�	�5�����&!���� '����������Q ����!E�(����0��$��	��!M)���M 2�N 	�5�����&!
��� '��K�2�M� PQ ���(����%M
���/.�#�����<�������KM LNII '

20.�ABCD�(��	���"#
�$��� ����
�����B�2��D�����!M�$H��!M)���[����E�	�5�����&!

��"� '�←→
DE �	�����F�	�5�����&!���#�����<�������BE BF⊥ �'

21. �ABC �����<��������!M�$H�����������������	�����X, Y, �2�Z�	�5�����&!���"� '

����<��������XYZ������<�����������<��/������900 – �

�
m�A, �900 – �

�
m�B�2

900 – �

�
m�C '

22. �ABC(��	���"#�
$�����	���������� '� BC ���������
�>�S�!�� ���7����P�(��	�5� '
����<��������PA = PB + PC  '

I�� ���K� →
BP �7����D�����������PC = PD���	 '��BCD�2��ACP�����0����� 'J

23. �ABC ����A ����!M�$H���ABC �����	�����P�	�5�����&!���� '�P�	�5����→
AB �2� →

AC

����������#*�!M)����!	�5���/������Q�(	:�R '�����<�������AQ = AR = 
AB AC+

�
'

I�&S"����!%�
������PBQ ���PCR ��BQ = CR �J
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24. �ABC�����A ����!M�$H���ABC������	�����P�	�5�����&!���� '�AP �2�BC ����&!
	�5��D����#�����<��������ABD�2��APC��!�%��6"� '������:�!%�
����
AB . AC = BD . DC + AD2 '
I�� ����K��ABD 2��APC �!�%���AB . AC = AD . AP, AD2 = AD (AP – PD)�J

25.�+��>��I�';;��1,�ABCD�(��	���"#�
$��� ���
�����#�����<������
AC.BD = AB . CD + BC . AD� '
I�/�
���(��	���"#�
$��� ����
�����D
!M)���!TU
�����<P01� ����
����j�$,��	��������
�!TU
�����<P0����B����k����� 'J

I�&S"�� �������� m�ADB >  m�BDC ' E, AC ��7����(����(��	�5����7������

m�BDC = m�ADE� '�	�
�����ADE�(	:��BDC��!�%���
AE
BC

AD
BD

= '

���g��ADB �(	:��EDC �!�%���
CD
BD

EC
AB

= )
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�
����	
��

�
���WA$�
(TANGENTS TO A CIRCLE)

3.1 � ';�0������(Introduction)� �
�������	
����#� �������<����1����6�(���0��$��(��	�����!�E����-.��	�5�����&!����	

���Y '�	�
��������$��������6�(���=�������6�(�	���(	:��������=�������6�(���0��$�����
���	� '� ������!%�
��E/.	���Z�	�����������/.	��������������@<����Z�	���7����&�����`
��,S�������!$ '

(�� ���0��� 	��6�� ���� �#�� ���1� ��0��$�6�(� ���� ��#� ���� ���� �������6�
�Z�	���7���� '��������#��W�(i) ��0��$�6��	������&!��������Y�I ����3.1(a))�(ii) ��0��$�6�
	�����!�E6��	�5�����&!�����I ����3.1(b)J�(	:�(iii) ��0��$�6��	��������6�(������	�5�����&!
����I ����3.1(c)) '

 ����- 3.1(a) ��������6��L B��
���
�������������������� �"�-K /��/�
�����0��$�
L, ��
��ABC���-�C���	����0��$��L 2�	���ABC ;�W��	��7�� /

 ����- 3.1(b) ��������6��L B� �
��ABC � 'G��� � :��� ������� ��� � +��� �7���� ,
	7@� /�(�����S�������0��$��L 2�	���ABC �����[��&!,��	�#��������(�(	:�L ���	���ABC
��(��� 7 � � � � � 6 � �(Secant) �������( '�P �2�Q ��7&"���&!	�5� '

A

B C

L
(a)

A

P

B
Q

C

L

B
L

T A

C

(b)
(c)

I ����3.1J
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 ����- 3.1(c) ��������6��L B��
��ABC ;�W��7��O����0����P�0����7���� �+��
������� ��� � ,� ��61�� �� /�(�����	�F������0��$��L ���	���ABC ��(��WA$��(tangent)
������(�(	:�T 	�5����7&��L [%
���WA$��� �(Point of contact) '

���������������������	���������
��B���������6�������������0��������� ��  
+� �� � 7 � � �� ,� <5�>O� '(� �����6�� � �
��� ��� WA$�� � -�.��� ���� ����"I�� ������
� ��  �  � �Q 
(� WA$��� WA$��� � � -�.�� /

 ����3.1(c) ���	���ABC �����6�(�[%
����7&��L (	:�T ��7&��7>�[%
���[%
	�5� '
�@�1� �� �L ��0��$��	����� �T 	�5�����&!��������	�����	��
�L ��0��$��	����

T 	�5����[%
������	�#�����	� '
�
��� ���0� B� WA$��� � � �.��� �� <5��� ��6�68� � WA$��� ����� �1���2$� � -�.�� /
L ��0��$��7����F�[%
	�5��T ���N�����(��	�5��Q ���#�(���	����(��	��V�F�	�5����	

I ��� 3.2 J '��� ���←→
PQ �/
����L ��$��	�����!�E6��	�5�����&!����	 '�I	����*+,)����)�

����)�W�2.1 �����C�"�W2���	�
,����#� ����!$J'������:�����������$�	��7 �����1�������
�
��� ��� WA$��� WA$��� � �1���� 	"1� ��)� ��� � �
��� �-�C��� 	�@� /

';;��1� D�12

������� �
��� ��� WA$�� �-��� WA$��� ����� �1���2$� ;0��� >E /
(A tangent to a circle is perpendicular to the radius drawn through the point of

contact.)

�����ABC 	������5��O 1�L ��$��(��[%
��2�P 	�5�
��7&��[%
	�5� '�OP ���7&��P 	�5����,�	����C
 '
;0����1���OP ����L
;0������P ���N1���$��L 7����F���������@<��
	�5��Q, ABC �	����	��V�F '
� OQ > OP �I��OP 1�	���ABC ��(��	����C
J
�����Q 	�5�1�L 7����F�P 9�������N���@<���(��	�5� '�(<��Q ����������	�F���#����OQ > OP

	��OP < OQ '
��O 	�5����L ��$��������������$�$H����������OP ���!TU
��S�!��� '
��OP ����L I����<��J

A O

B

PL Q

C

I ����3.2J
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;0����-3.1� � � � � � � � � � � � +';;��1�D�12 �� ��;���� �<"� B� ;0���,� �
�
������������� ��O�'(���� ������1���2$�;0���	I���>EO�'(��
������WA$��	�� /
(The line drawn perpendicular to the radius at a point of a circle through that

point, is a tangent to the circle.)

� � ��ABC 	������5��O '�	���7����F�(��	�5��P, P 	�5�9���������	����C
�OP �(	:�L ���OP '
;0����1���L ��$��ABC 	����(��[%
� '
	I"���L ��$��7����1�P 	�5�9�������N�(��	�5��Q ������7 '�OQ ������� '

;0������L ��� OP �I!�J
�� OPQ (�������<,��������(	:�OQ �(�����D
 '

�/�
���OQ, 	����	���C
�OP 9����	���� '��I��OP �(��	����C
J
(<�1�Q 	�5���	����(��	��V�F�	�5�� '
�� P 	�5����7&��	���ABC 2���$��L ��(��������-��<�	�5� '
��L ��$�1�	���ABC ��(��[%
� ' I����<��J
	" ��2�@� (1) � ��� �
��� ������� ��� WA$��� WA$��� !���� '(� WA$�� ;0��� >EO� ���0

��� ����� �-� /
	" ��2�@� �(2) ���
��� �.������� ��� !���� ������� ���� ����

������� WA$�� 	I��� �-�:;���� /����<�P 	���7����F� ����@<���	�5�
���#� 	����C
� OP�� P 9���� OP � ����� ��	0� ���6�(� ����� #*� ����
���E����	 '���<�����6�(�	������:$��[%
������&� '

�0%�1��� ����3.4 ���S �	������5��O '�	���7���������6��	�5��P,
Q 2�R �������E�7>�	�5�����9����[%
��������������E&� '��������
���������&!	�5�������!M����ABC ���������9�����7&��(	:�	���S,
�ABC ���"�!
%������&� '�P, Q, R � 	�5���)��	����N� �	�F����� ��E���������N� ���N� ������
��E	� '������S��������@<���(���������ABC �!��/.�#�(�����������	������[%
����/.	�
��	0����6�(������	���PQR ���D
)������E����	 '�7>�	��������������"#�
$���	���	��	@C�
�
+Incircle,�������(�(	:�7>�	������5��O �����������	@C���0�+Incentre,�������( '�P, Q, R
[%
�	�5�����E/	����OP , OQ , OR ���/��������������	����AB 1�BC 1��2�CA ������#*��6"� '�(��
����������<������E�����	����OA �OB �2�OC ��/�������A, �B �2��C����!M�H���6"� '
3.2 �
��� �-�C��� ��� � � �
�� ;0��� 	I��� WA$�� �

����$��������6�(���=����	��6�(��������(	:�	����	���!
%������6�(�	�5�� ��N6����
��������!���P '�P 	�5���!E�������Z	���$�������� '� ����3.5 �0�� ���6�(���E	 '�����

A
O

B

P Q

C

I ����3.3J

A

R

C
O

SB
Q

P

I ����3.4J

L
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 ������P 	�5���!E������&����6����$��L1, L2, L3,...L6

�������	0�!�E6��L1 �2�L5 � ������/	��	�������
[%
�����E/.	����!$�	 '

(<�������(������
������<��#�������6�(�	����	��V�F���@<���	�5����7>�	��������!�E6��(	:
��	0�!�E6��[%
��������Z	 �I�	%��(�������<��������/�J '������(��������<��������#� ���
�������>�����8 '

�
��;0���	I���WA$���AX� �� ����3.5 ���P 	�5����,���$��L1 2�L5 ��������	��������[%
� '
 ������[B���1� →

PM ���L1�(	:�
→
PN ���L5�'�[%
��L1 ��[%
	�5��M,

→
PM �7�����	�F���(	:�[%
�

L5 ��[%
	�5��N,
→
PN �7�����	�F�������� →

PM �2� →
PN ����	��������6�(����6�(�	�5����[%


��"� '�(<������� →
PM �2� →

PN ����	���	�V�F�P�	�5����	�������������[%
���%d���	�#�����	� '� ���
3.5 ��� →

PM �2� →
PN ��������1��
�>�	�������6�(����6�(�[%
���%d��(	:�M �2�N ��/������ →

PM

2� →
PN ���[%
	�5� '�����%�/�7����������[%
���%d��	�������6�(����6�(�[%
���6"� '

WA$��D68�(Tangent segment) : � ����3.5 ���	����	��V�F�P �	�5����	�������������[%
�
L1 ��[%
�	�5��M �(	:�[%
��L5 ��[%
	�5��N '

PM �2� PN ����������	���	��V�F�P 	�5����	�������������WA$�D68�������( '�(��[%
�
���6�(���$�����E/.	����(������@<�����A�
B��!TU
����/�( '������(��[%
�W$H����6�(���$�$H
���E/.	����'(� WA$�� 68�� ��� "�#�$%� ��N?$1� <�� /

�������Q	���	��V�F�(��	�5�R�����#������	�������0����/��	����	���!
%���/.	��(�
	�5����	�G�	� '

';;��1� D�13
������� �
��� �-�C��� ��� ��� � � '(� �
�� ;0��� 	I��� WA$�� 68� ����� ��N?$1� ���" /
(The lengths of two tangent segments drawn to a circle from an external point

are equal.)
�����	���C ����5��O (	:�(��	��V�F�	�5��P '

P 	�5����C 	�������������!�E6��[%
��$H���7&"��PQ

2� PR �(	:�Q �2�R �/��������������[%
	�5� '
;0����1� ��PQ = PR

	I"� ��OP 1�OQ �(	:�OR ����������7 '

Q

P

R

C

I ����3.6J

O

I ����3.5J

P

M

N

L1

L2

L3

L4

L5

L6
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;0������OQP (	:���ORP ��
�OQP � �ORP I������������< '���OQ �(	:�OR �[%
	�5�����,�	����C
J

�D
�OP ��� OP �I��-��<�	���J�(	:�OQ ����OR �I(��	����	����C
J

�����OQP � ��ORP I�L�L	���	
����J
�� PQ ��� PR �I��	
������������������	���J��/�
����PQ = PR �I����<��J

	" ��2�@�- (1) ����@<���	����(��	��V�F�	�5��P 9����	�������������[%
��$H� PQ �2� PR

���#�(	:�O 	������5�����#1� PO 
��QPR (	:��QOR �����!M�$H���� '
l����>�7���!�-13��������<������E&��K��OQP � �ORP

����OPQ � �OPR I�	
���������������������<J '
�/�
���PO �!M�����QPR ���!M�$H�����( '
���g��POQ ���POR

�������������I�	
���������������������<J '
�/�
���PO �!M�����QOR ���!M�$H�����(J '
	" ��2�@�- (2) ����@<���	����(��	��V�F�	�5��P 9���������[%
��$H�PQ �2�PR ����#�(	:

	������5��O ����#�PO 1�   Q R � �������!M�$H���� '
 ����3.7 ���PO �	�����M 	�5�����&!����&� '�m�QOM = m�ROM ������QM �2�MR

I���������E����J�����!M)��	
�� '������:�M, Q M R �����	�5� '
3.3 ���@�� S�;�(Alternate arc) :

 ����3.8 ���/.	��ABC 	����T 	�5����	��������←→
PQ �[%
������ '�T 	�5����TA �������

���� '�TA �������←→
PQ �[%
���WA$��� ����� 91���	�#��������( '

�[%
	�5����,�����TA 1�[%
��←→
PQ �����ATP�2��ATQ �������� '�����TA �!M����	��

Q

P

RI ����3.7J

M O

A

T

C

B

D

P Q

{�

I ����3.8J

ABC �7����!�E6�� ��� A B T �2� A D T �7�.�N���( '�(��
#S�������E���������TA ��������78���%M
���[%
��7����F�P
	�5���	�F��1���R��	���,����%M
���	���7����B 	�5���	�F�� '
(9��� A B T ����ATP�����@��S�;�������(�(	:�(��� ���
�"#�
$���ABT ����ATP �� � � � @ � � S � ; � @ > � $ 6 � � � � � � �
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������('��ACT �����ATP ������(��(��"�� ���"#�
$������<���6 '�����������<����ATQ

��(��"�� �����7&�� A D T �(	:�(��(��"�� ���"#�
$������<���7&���ADT '
3.3.1 � ��� WA$��� WA$��� ����� 91�� B� '(� WA$�� 	@�$�� ����� �Q��$�� �<1� �
(��[%
���[%
	�5����,�����(	:�7>�[%
���"�
�����<����(��"�� ���"#�
$������<�

�
�
����������	�
,�����)����m4�	� '
;0���� D�3.2� �� �
��� ��� WA$�O� �-��� WA$��� ����� ������� ��� 91�� �-��� �.'=� ����

';5"H� ���O� ��4�� ;������ �-� '(� ������ ���@�� S�;�@>�$6��� ������ ;������ ���" /
(The measure of an angle formed by a tangent to a circle and a chord through

the point of contact is equal to the measure of an angle inscribed in the alternate arc.)

� � ���O ��5��	�%�B�	���PQR ��P 	�5���������[%
��←→
AB �(	:�PQ 1�[%
	�5����,�(�����

I ����3.9J '�←→
AB ����PQ �7�.�N����/.	�����<�!�E6�����#��APQ �(	:��BPQ '��APQ �

(��"�� ��� P R Q �(	:��APQ �����6�(�(��"�� ���"#�
$������<��PRQ �'����������BPQ�
(��"�� ��� P S Q �(	:��BPQ ��(��(��"�� ���"#�
$������<��PSQ '

��2�@���(i) m�APQ = m �PRQ

(ii) m �BPQ = m �PSQ

;0���� D�3.3 :� +;0����3.2 �� ��;���� �<",� �
��� �
��� ������� ��� 91�O� �-��� ��� ;0�@��� � ��:� 	I��� ��� �����6�� �-� �.'=

�����';5"H����O���-��'(����������@��S�;�@>�$6���������-���;��������A�%��-�>O
�����6���� �
�� ;0��� ��� WA$�� �-� /

(If the angle which a chord makes with the straight line drawn through one
end of it is equal in measure to the angle inscribed in the alternate arc of the angle,
then the line is a tangent to the circle.)

� � ���PQR �	����PQ �(������(	:�P 	�5����,�(����0��$��←→
AB � '��APQ ��(��"�

 ���"#�
$���(�����<��PRQ '  m�APQ = m �PRQ

��2�@���←→
AB ���7&��PQR 	����P 	�5����[%
� '

�@�1�������)�3.2�(	:�����)�3.3������<���������#� ���
�������>�����8]���	0����)���!�B������C�"��
�����$�	��7 �� '

Q
R

S

A P B
I ����3.9J

O

Q R

PA B
I ����3.10J
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3.4 �
��� �-�C��� ��� ��� � ��:� �
�� ;0��� 	I��� �7��� �
 ����3.11 (a) ���L ��$��ABC 	����(���&!����$��(	:�(���	���ABC ���A �2�B 	�5���

�&!����&� '�A, B �(	:�A �2�B �����	�
,���?�	�5�����N�L ���$��7����F�������?�	�5��	��
ABC ��	��V�F '

 ����3.11(b) ���	���	��V�F�P (����A�
B�	�5� ' �(9�����&!����$��L, P �	�5���!E����� '
P �	�5���!E�	���ABC �������&!����$����7&��L1 '�(���0��P �	�5���!E���:$���&!�����
�Z	 '

';;��1� D�14

��� �
��� �-�C��� ������� ������� ��� � P ��:� �
�� ;0��� ��� WA$�D68� PT � ���� ��

�7��� PAB
←→ �	I����-�>O�PA x PB = PT2 � /

(If from an external point P of a circle a tangent segment PT  and a secant PAB
←→

are drawn, then PA x PB = PT2.,
� � ���TBA 	������5��O (	:�P 	����	��V�F�(��	�5� '�P 	�5���!E�������&!�1�	�����A

2�B 	�5�����&!�����(	:�←→
PT �[%
�1�	�����T �	�5����[%
���� '

;0����1���PA x PB = PT2

	I"����TA �2�TB ����������7 '
;0������TAB 	����T 	�5����←→

PT �[%
��(	:�TA ���7&��(��[%
	�5����,���� '
� m�PTA = m�TBA I����)�W�3.2 J
�PTA �(	:��PBT �����
�m�TPA = m�TPB I��-��<����<J�(	:
m�PTA = m�TBP

� �PTA ~ �PBT I���W������!�%�J

��
PA
PT

PT
PB

AT
BT

= = ���
PA
PT

PT
PB

= ��PA x PB = PT2��I����<��J

L

A

C

B
(a)

C
L1

B

P
A

(b)
I ����3.11J

�

L

{
P A

O

B

T

I ����3.12J
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�@ � 1�(i) ��7����>�����<��1��&!��7����F�	�5��P, A 2�B ���P - A- B �����������E&� '
���	�5�������6����P - B - A ������������#��������<�����&�����	�
����	�����8 '

�@�1�(ii)����	
�����<���7���!�������<��#��	�0� ����3.13
�0����� ����������E���� '

	" ��2�@�D1��(��	����	��V�F���@<���(��	�5��P ��!E�!�E6�
�&!���!��	������/������A,B �2�C,D �	�5�����&!���"�1����	
[%
��←→

PT �I[%
	�5��T J�������������<������E����	���1

PA x PB = PC x PD

3.5 � ����5�� �
�� �EF��� ������ �<1� �
(�����0��������!�E6��S1 �2�S2 ��	����N��	�F�������N� ����������!%�
��E&� '

A
P

T

B

CP

A

B

DT

I ����3.13J

I ����3.14J

S2

S1

S2 S1

S2

S1

IaJ IbJ IcJ
I ����3.15J

(a) ;�W�� 	��7��� �
�� �
 ����3.15 IaJ���/.	��	���S1 �2�S2 ���[���<�&!,�(	:���[���	��V�F '
 ����3.15 IbJ���/.	��	���S1 �2�S2 ���[���<�&!,�(	:�	���S11�S2 	�����"V�F�'
 ����3.15 IcJ���/.	��	���S1 �2�S2 �;�W��	��7���(	:�	���S1�����	���S2 ���"V�F�(	:

'G�� �
��� ���0� 	G�"H '�(����	��!M)��������0��� �
��(Concentric circle) ������( '
!�E6�����-.���:$���	������(���5�������E���"� '
!�E6��(���5����	�����:�������(���
���
�������(Circular annulus) �9�����( '�(�

	��������	0)�2�(�������:��>��-�C����
���	@��$A�B�	@C����
����-���$A���7���������!��
�P�0� � �����
��� �P�0�(Annular Region) � -�.�� /
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(b) ������� ������� ��� � <5��� �
� /

 ����3.16 IaJ���S1 �2�S2 �	���!M)�����6�(���-��<�	�5���&��2��������7&��P '
 ����3.16 IbJ���S1 �2�S2 �	���!M)�����6�(���-��<�	�5���&��2��������7&� P '�(9����S2

	������5�1�S1 	�����"�!
%����	�F�� '�IaJ�2�IbJ�������� ������/.	��	������34����WA$�� 
�
(tangent circles) ������( '� ���IaJ���/.	��[%
�	���!M)����-�CWA$���
��(Externally tangent
circles) 2� ����IbJ���/.	��[%
��	���!M)���	@CWA$���
��(Internally tangent circles) ������( '

(c) � :��� ��� ��� ;�W�� � �7�� �� <5��� �
�� �

P

S1

S2

S2

P

S1

O1
O2

P

Q

S2
S1

O1
O2

S1

S2

P

Q

P

S2
QS1

IaJ IbJ

IaJ IbJ

I ����3.16J

I ����3.17J

I ����3.18J

 ����3.17 IaJ�2�IbJ����������/.	��	���S1 2 S2 ���[����!�E6��	�5��P �2�Q ����&!
��"� '� ����IaJ�2�IbJ���	�����34�!M)������	��%_���&����/
������Y '�IaJ� ������/.	��	��!M)�
��5��!�E6��7�)�	�����"�!
%����	�F���/.	���	�0�IbJ� ������/	��	���!M)����5��!�E6������
���������	0����6�(�	�����"�!
%����	�F�� '

 ����3.18 ������!�E6��	�5������[�����&!����/.	��!�E6�
	���S1 2�S2 !%
���E&� '�P 2�Q ���7&"��	���!M)���&!	�5�'
←→
PQ ����$����	���!M)����TU���>*� 	P�(Radical axis) ������( '

��TU���>*�	P��';������.���������� � ��
������;0���	I���WA$�68
����� ��N?$1� ���" /

��34���#���S��*+���7f����<������-.����<�	 '�PQ ���$�$H���	���!M)���������91�
(Common chord) ������( '
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3.6 �������WA$��(Common Tangents)

(�����0���/.	��!�E6��	�������������0�����78���0��$��[%
����������7>�	���!M)�
�������WA$��(Common tangent)������( '�	����N��������	�F������!�E6��	������-��<�[%
��
 �������N���!%�
��E&� '

(a) ;�W�� 	��7��� �
��� ������� WA$�� �
 ����3.19 IaJ�2�IbJ����������!�E6���<�&!,��/����[��	��V�F�	���� ����!%�
��E&� '� ���

3.19 IaJ���/.	��S1 2�S2 �7�)�	�����L1 ��0��$��[%
����&� '�	���!M)����5��O1 2�O2 �7�)
L1 ��$������6�(���%M
����	�F�� '�(�����F�0�L1 ��$����	��!M)�������������WA$��(direct
common tangent) ������( '�L2 ��$����� ����IaJ���/	��	���!M)������(����0���-��<
[%
� '�(<����� ������� 	������ � :��� 	��7��� �<�� ;�W�� �-�C��� �
��� � :������ ���
������ WA$�� <��� +S��0�3.19 IaJ, /

 ����3.19 IbJ���/.	��S3 �2�S4 �	���!M)���L3��0��$��[%
����&��(	:�#S�������E����
�����5��O3 �(	:�O4 1�L3 ���$���	���,����%M
����&"� '�(�����S����1�	���!M)����-��<
[%
������.$1�*� ������� WA$��(transverse common tangent) �������( '

 ������[B����� :��� 	��7��� �<�� ;�W�� �-�C��� �
�� >���
� :��� ��.$1�*� ������� WA$�� <�� /+S��0�3.19 IbJ,

 ����3.20 ���� :���	��7����
���S1 �B�S2 ��
� �S2 �
��S1

�
��� 	@C�� /� �� � �;��� �P�0��� ������� ������� WA$�� �-���
�J� � " � -= /

O1

O2

S1

S2

L2

L1

I ����3.19J

O3 O4

S4

L3

L4

S3

IaJ IbJ

S2 S1

I ����3.20J
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(b) WA$�� �
��� ������� WA$�� �

(i) �-�CWA$��WA$���
��������������WA$���� ����3.21 IaJ���S1 �2�S2 �	���!M)�[%
�
	���I	��V[%
,J�L1�2�L2 �7�)�S1 �2�S2 �	���!M)����0���-��<�[%
� '

(ii) � �-�CWA$�� WA$�� �
��� ��.$1�� ������� WA$�� �

3.21 �IbJ����S3 �2�S4 �	��V[%
,�[%
��	�� '�L3 ���7&��	���!M)���,�
�����-��<�[%
� '
(���	���!M)��[%
�	�5�����Y�	���!M)���[%
����&� '

(iii) �	@CWA$�� WA$�� �
��� ���� ������� WA$�� �

 ����3.21 �IcJ����S5 �2�S6 �	���!M)��"V[%
,�[%
��	�� '�L4 ���$��7�)�	����[%
�	�5���
	���!M)���[%
����&� '�(�����7&��	���!M)����0���-��<�[%
��'

 ����3.21 �IaJ�2�IcJ��S�����[%
��	���!M)�������������0���-��<�[%
��(	:� ����3.21
IbJ��S�����[%
�	��������������,�
�����-��<�[%
� '����Y���`

(c) � � � ;�W��7��� � :��� �7�� ��� � <5��� �
��

������� WA$�� �

 ����3.22 ���S1 �2�S2 �	���!M)���[����A �2�B �	�5���
�&!���"� '�(9����L1 �2�L2 ���$�!M)��������S1 �2�S2 �	��
!M)���[%
���"� '�	���!M)����5��O1 �(	:�O27�)�L1������6�(
��%M
����	�F�� '�O1�(	:�O2 7�)�L2 ��������6�(���%M
��
�	�F�� '�(<��L1 �2�L2 �������1�S1 2 S2 �	���!M)����0���-��<
[%
� '

O1

S2

S1 O2

L1

L2

O3 O4

L3 S4

S3
S6

S5

O5 O6

L4

I ����3.21)

I ����3.22J

S1

O1 O2 S2

A

B

L2

L1

IaJ IbJ IcJ
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3.7 � :��� WA$�D�
��� WA$��� � B� ����"I�� ���0����� 	��;P��� 	������� �
��[����[%
����/.	��!�E6��	����[%
	�5��(	:�	���!M)����5��1(�����������6��	�5�������S��

�	�F�����*+�����	�
,�7���!�����m4�	� '
';;��1� D�15

� :��� WA$�� �
��� ���0� ���� B� WA$��� � ��� �����6���� 	����� /
(The centres of two tangent circles and their point of contact are collinear ,

� � � ��S1 �2�S2 [%
��	���!M)��[%
	�5���P (	:�����������5���/������O1 �(	:�O2 '
 ����3.23���	���!M)�	��V[%
,�(	:� ����3.24���	���!M)��"V[%
, '

;0����1���O1, O2(	:�P �(����0��$�����	�F�� '

	I"� ��	���!M)��[%
�	�5������-��<�[%
��←→
PT ����������7�(	:�[%
	�5����,�	����C


PO
�
�2�PO

�
����������7 '�I ����3.23 2� ����3.24 ����/�������,�
�����-��<�[%
��(	:���0

��-��<�[%
����������E&� 'J

;0���� ��S1 �	����[%
��
←→
PT �(	:�[%
	�5����,�	����C
�PO1 '��� O P PT O P PT

� �
⊥

←→
⇒

←→
⊥

←→

��������S2	����[%
��
←→
PT �(	:�[%
	�5����,�	���C
�O P

� '

�� O P PT O P PT
�

�⊥
←→

⇒
←→

⊥
←→

�����←→
PT ��P	�5�������6�(�2���	0����6�(�#*��Z	 '���←→

O P� �(	:�←→
O P� ���$�!M)�����N '

(<��O1 1�O2�2�P �	�5���)�(����$�����	�F�� ' I����<��J
	" ��2�@�-1 ��!�E6��	��V[%
,�	������5��!M)����	�
,�!����1�7>�	���!M)��	����C
����B�

��������[ ����3.25 IaJ]
	" ��2�@�D�2 ���!�E6���"V[%
,�	������5�!M)���	�
,�!����1�7>�	��!M)��	����C
���"�

��������[I ����3.25 IbJJ]

O1 O2

S1
T

S2P
O1 O2

S2

S1
T

P

I ����3.24JI ����3.23J
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� ����3.25 IaJ����O1O2 = O1P + O2P [�O1-P-O2]

� ����3.25 IbJ����O1O2 = O1P – O2P [�O1-O2 -P]

WA$�� �EF��� ������ '��-��� �
'��-���-1 ����(��	����	��V�F���@<���(��	�5��P 9����7>�	�������������[%
���%d�� →

PA

2� →
PB ���[%
	�5���/������A 2�B '�m�APB = 420 ����#�A �2�B ����"�	�5��	�%�B�S�!� ���

�"#�
$���(�����<�������<������`
����� ����3.26 ���/.	��	���ABC��	��V�F�(��	�5��P
(	:� →

PA 2 →
PB �[%
���%d�!M)��[%
	�5���/������A 2�B'

A X B ���7&��A 2�B ����"	�5��	�%�B�S�!� �� '

�AXB ��7&�� A X B � �����"#�
$������6�(����< '

m�APB = 420 '

"��V$����m�AXB

	I"� ��AB ��������������7 '

�����"� �� [%
�� ←→
PB � 2� BX � [%
	�5����,� ���� ����1�m�XBP = m�BAX� I(��"�

 ���"#�
$������<J '�������m�XBP = m�BAX�= a0 ��7 '
��������<�����m�XAP = m�ABX = b0��7 '
�� m�PAB = (a+b)0 (	:�m�PBA = (a+b)0

�PAB ��1��m�PAB + m�PBA  + m�APB = 1800

��(a+b)0 �h�(a+b)0 �h�420 = 1800

��2(a+b) �= 180 – 42 ��2(a+b) �= 138 ��a+b =
���

�
 = 69  ... (1)

O1 O2

P
O1

O2
P

X
P

B

C
A

I ����3.26J

I ����3.25JIaJ IbJ
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�AXB ����m�AXB + m�XAB  + m�XBA = 1800

��m�AXB + a0 �h�b0 = 1800 ��m�AXB + 690 � = 1800 [(1) �����),�]
��m�AXB = 1800  – 690 � = 1110 I7��J
'��-���-2 ��!�E6��	��V[%
,�	����	����C
�r1 �2�r2 �(�� ' �	��!M)��(����0���-��<

[%
��7����F�[%
	�5��P �2�Q ����#�PQ ���!TU
����D
)��� '
� � ��� ����3.27 ���L←→

PQ ���7&��	��V[%
,�	���!M)��(����0���-��<�[%
� '�AP �2�BQ

��7&"��[%
	�5����,�	����C
 '�������AP= r1 1�BQ= r2 �(	:� r1 
 r2 �'
"���$$���� PQ ����!TU
� '
	I"� ��BC AP⊥ ����������7 '
�����"����APQ �2��BQP �����������6�(����6�(������<

[AP �2�BQ �[%
	�5����,�	����C
�����]
�BCP������<�I���������),J '
(<��BCPQ  ����
��� ��/
����<��CBQ ����(�������< '���BCPQ (����)� ��� '
P0���PQ = BC ............ (1)

(	:��PC = BQ .............. (2)

AP = r1  ,  BQ = r2(	:�AC = AP – PC = �r1   – r2

�ABC ��, �ACB = 900 [� BC AP⊥ ���]

BC2 = AB2 – AC2 = (r1 + r2)
2 – (r1 – r2)

2O�4r1r2

�[	��V[%
,�	������5�!M)������!�����O�r1 + r2 ]

��BC = � �
� � � �

r r r r=

�� PQ = BC = �
� �
r r �I7��J

	" A��"��D �3
+�� D� ��G��,

1. A&"1���"� ;&��� ��� �
(i) (��	������5��O 1�	���	��V�F�P ��@<���(��	�5��(	:�PT �7>�	����(��[%
�$H����#1

m�OTP = ...........

(ii) (��	������5��O �'�	����	��V�F�(��	�5��P (	:� PX �2� PY �7>�	�������������!�E6�
[%
�$H '��XPY (����Sd���<����#1��XOY (��LLLLLLLLL����< '

P
Q

A B

C

I ����3.27J
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(iii) (��	������5��O1�	����	��V�F�(��	�5��P �(	:� PT �7>�	��������(��[%
�$H����#1
m�TOP + m�TPO = ............

(iv) (��	������5��O 1�	����	��V�F�(��	�5��P �(	:�PX �2� PY �7>�	��������!�E6��[%
��$H
���#1 IaJ�XOP ���<�2�LLL����<��������<�	�%�B]

IbJ�YPO ���<�2�LLLL����<��������<�	�%�B '
(v) (��	������5��O (	:�	����C
�r (�� '�	�������0���P (��	�5��(	:�OP 2�r ����

............ 	��������#1�P 	�5����	��������(��[%
��$H������Z	 '
(vi) 5 ��L��L�	����C
�	�%�B�(��	������5�9����13 ��L��L�!�����2�	�������0����	�F���(�

	�5��P ����#1� PT �[%
�$H���!TU
��........... ��L��L
(vii) ��5��O (	:�r ��L��L�	����C
�	�%�B�(��	�������0���	����	��V�F�(��	�5��P 9����7>�	��

����������(��[%
��$H���!TU
��t ��L��L����#�OP �O�LLLLLLLLLL���L��L '
(viii) !�E6��	��V[%
,�	����(a) ��0���-��<�[%
���:$����O�LLLLLLL�(	:

   (b)����
������-��<�[%
���:$���O�LLLLLLLLL
(ix) !�E6���"V[%
,�	���

(a) ��0���-��<�[%
���:$���O�LLLLLLLLLL
(b) ���
������-��<�[%
���:$���O�LLLLLLL

(x) ��[��	��V�F����E/.	��!�E6���<�&!,�	���
(a)���0���-��<�[%
���:$���O�LLLLLLLL
(b)����
������-��<�[%
���:$�����O�LLLLLLLL

(xi) ��[��	��V�F����E���/.	��!�E6���<�&!,�	���
(a)���0���-��<�[%
���:$���O�LLLLLLLL
(b)����
������-��<�[%
���:$�����O�LLLLLLLL

(xii) � ABC ��AB = AC '�� ABC �����	���7����F�A 	�5���������[%
��7����P (��	�5�1
������P 2�B 	�5�!M)�AC ���	���,����%M
����	�F�� '

m�PAC = 700 ���#1�m�ABC = .....

(xiii) ���6�(�	����	����C
�8 ��L������#�(����!�E6�����"��[%
����	�
,�!�����LLLL���L��L '
(xiv) !�E6��	��
[%
,�	������5��!M)���	�,
�!�������7&��	���!M)��	����C
������LLLLLLLLL���

���� '
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(xv) !�E6���"V[%
,�	������5��!M)���	�
,�!�������7&��	��!M)��	����C
������LLLLLLLLL���k
���� '

(xvi) (����0��$��7����F����6�(�	�5��P 9������0��$�6���	�
-.��LLLLL�	������-��<�[%
�
���E����	 '

2. ���<5���'(��G ><5�>�+�-�� ����'(���"�)���S��'(��(Negative Statement)��1�-��
"� ���,� ���A��"� �� /

(i) r (���	����C
�	�%�B�(��	����L ��$��(���&!�����#1�	������5�9����L ��!�����= r
(�� '

(ii) ���6�(�	������5��O (	:�	�������0���	���	���F���@<���(��	�5�� P '�P 	�5����	�������
�����(��[%
��$H� PT ����#��OPT�����POT�(�������< '

(iii) ���6�(�	����	���C
�r �(�� '�	�������0���	���	��V�F�(��	�5��P 9����	������������
[%
��$H� PT ����!TU
�� t�(���(	:�	������5��O �9����P ��!�����d �(������#1
d2 + r2  = t2 L

(iv) (��	�������0���	���	��V�F�(��	�5��P ���7>�	�������������[%
�$H�PT ]�P 	�5����,�(�
�&!�1�	��6����A 2�B �	�5�����&!����1�������P-A-B '����	�PT2 = PA x AB

(v) (��	�����"V�F���@<���(��	�5��Q 9����7>�	��������!�E6��[%
�$H����������E����	 '
(vi) (����A�
B�	����C
�	�%�B����6�(�	����	��V�F���	0����6�(�	�5��P �&�1���789����	�������

�����[%
�$H�(����A�
B��!TU
��	�%�B���	 '
(vii) !�E6��[%
��	������5��	�5��!M)���	�
,�!��������7>�	���!M)��	����C
����B������

���#1�	���!M)��"V[%
,����	 '
(viii) !�E6���"V[%
,�	������5��!M)����	�
,�!����1�	���!M)��	���C
�!M)����/
���������� '
(ix) !�E6��	�����������6�(����6����"�!
%����	�F������#1����!�E6��	�������6�(�����

��-��<�[%
�����	 '
(x) !�E6��	�5������[�����&!����/.	��!�E6��	������	0����6�(����
�����-��<�[%
��/�( '
(xi) !�E6���"V[%
,�[%
�	����[%
	�5�1��"V�F�	����(��	��V�F�	�5������8 '
(xii) !�E6��	��V[%
,�[%
��	����[%
�	�5�1�7�)�	����������@<��6����"V�F�	�5������8 '
3. ���6�(�	������5��	�5��O (	:�	����C
�8 ��L��L '�7>�	����	��V�F�(��	�5��P (	:�PO=17

����L����#1�P �	�5����7>�	�������������[%
�$H���!TU
�������`
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6�D���G��
4.�!�E6��	��V[%
,�	����	����C
�4.5 ��L��L�2�12.5 ��L��L� '�	���!M)��(����-��<�[%
��	��

!M)���P 2�Q �	�5�����[%
���#1�PQ ���!TU
�������`
5. !�E6���<�&!,�	����(�����
�����-��<�[%
��	���!M)���P 2�Q 	�5����[%
���"� '���5�

!M)���	�
,�!�����20 ���L��(	:�	����C
�!M)�7 �����2�5 ����L����#1�PQ ��������L��L`
6.  ����- 3.28 ���	����	��V�F�	�5��P '�P �	�5����,����6�(

�&!��!��	�����A 2�B 	�5�����&!�������������P-A-B '�P
	�5����,� ����(���&!��7>�	�����C 2�D �	�5���� �&!����
��������P-C-D '�(i) [%
�W�
�>�7���!�����)�����������<��� '

PA x PB = PC x PD

(ii) �PA = 10 ��L��L�PB = 16 ��L��L�2�PD = 20 ��L��L����#1�CD ��<

)��� '
(iii) PA = 8 ��L��L�2�AB = 10 ��L��L����#1�P 	�5����,�[%
�$H���!TU
����D
)��� '
7.  ����3.29 ���/.	��	����	��V�F�(��	�5� P '�P 	�5����,�(���&!������	�
>�	�����A 2�B

	�5�����&!���� '�������P-A-B '�P 	�5����,�[%
��%d���[%
�	�5��T �'

(i) m A X T  = 600 (	:�m B Y T  = 1300 ���#�m�ATP,

m�APT, m�ATB 2�m�BTQ ��D
)��� '

(ii) m�BTQ = 2m�ATP ���#1

����<����K�(a) BT = TP (b) TA = AP

(iii) PA = 8  ��L��L�2�PT = 12 ��L������#1�AB ��D
)��� '
(iv) PT = 2AP (	:�AB = 18 ��L��L����#1 PT ��D
)��� '
(v) PT = 2AP (	:�PB = 24 ��L��L����#1��PT ��D
)��� '
8.(a) !�E6��	���	��V[%
,����#1�����<�������(�������
������-��<�[%
��7����F�����@<���	�5���

	��!M)�����������[%
�$H�!M)��	
�� '
   (b) !�E6��	����"[%
,����#1�����<�����������������-��<�[%
��7����F������@<���	�5���

7>�	���!M)�����������[%
�$H�!M)��	
�� '

9. ��[��&!,�!�E6��	�����&!	�5� �A 2�B '�←→
AB �7����F�P (��	�5��������A-B-P '�����<

������	���!M)������P 	�5���������[%
�$H�!M)��	
�� '

B A P

C
D

Q T P
X

A

B

Y

I ����3.28J

I ����3.29J
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10.  ����3.30 ���r1 2�r2 �(���	����C
�	�%�B�	���S1 �2�S2 ����5���/������A �2�B '� ���
3.30 IaJ���	��!M)�����6�(����
������-��<�[%
��AB ����M 	�5�����&!���� '�����<������
AM : MB = r1 : r2

 ����3.30 IbJ����	���!M)�����6�(���0���-��<�[%
�� →
AB ���M 	�5�����&!����1

��������A-B-M L '�����<�������AM : BM = r1 : r2 '
11. ���6�(�	�����PQ �2�PR �����!M)��	
�� '�����<�������	��������P 	�5���������[%
�1

QR �������"� '
12. !�E6��(���5����	�����������6����(������AB ����	�����P 	�5����[%
���#1�����<���

���P 	�5���AB ���!M�$H�����( '
13. ����<������1�	����!�E����"��[%
���[%
	�5��!M)���:��������$�$H�7>�	����(�

	��� '

14. �ABC �
�>�BC �	���1� →
AB �%d��2� →

AC ��%d����PQR 	��
�/������P,Q 2�R 	�5����[%
�����I ����3.31J� '
����<������1�AQ = �

�
 (AB + BC + AC)

15. (������"���� �������?�	���������6�(
	���[%
���#1�����<�����������"���� ���6��(���*�� '

�� D� ��G��
16. ���6�(�	������5��O �(	:�(���	����	��V�F�(��	�5��P '�P 9�������	�
>�	������������

[%
��$H�!M)���7&"��PA �2�PB � '�OP ����!TU
��	��6���	���������������#1�����<
�������ABP�(����	���������� '

17. ���6�(�	������5��O �(	:�P 	����	��V�F�(�	�5� '� →
PT [%
��%d���[%
�	�5� �T, OP �

��	�5��Q I	���7����F�	�5�J����#�����<�������QT = QP '

S1

A B

Q

M
S2

P

S2
BA

P
S1 Q

M

P

C
R

B Q

I ����3.30J

I ����3.31J

A

(a) (b)
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18. ���6�(�	����	��V�F�(��	�5��P (	:�[%
���%d��→
PT ���[%
	�5��T '�P �	�5����,�(����$��7>

	�����A 2�B �	�5�����&!����1���������P-A-B '�AB �7����A 2�B ����	�
,�C (�
	�5� '�����<���K�(a)

→
TC , �ATB�����!M�$H�����#1�PC=PT

                    (b) PC = PT ����#� →
TC �!M�����ATB���!M�$H�����( '

19. �ABC ��	����AB �2�AC �7�����/������X �2�Y

	�5���	�F��1����������ABC ���"V	�����XY

[%
����	�I ����3.32J�'
����<�������AX + XY +YA= AB + AC – BC

20. 	��V[%
,�!�E6��	���S1 2�S2 ��[����P 	�5����[%
���"� '
	���!M)��(����0���-��<[%
��S1 2�S2 	���!M)����/�����
A 2�B �	�5����[%
���"��I ����- 3.33J'�P �	�5���!E
�������-��<�[%
��←→

AB ���C 	�5�����&!���#1
����<����K�(a) AC = BC (	:

       (b) m�APB = 900

21. S1 2�S2 �	���!M)���[����A 2�B 	�5�����&!���"�
I ����3.34J '�S1 7����F�(��	�5���P��!E������ PA

→ �2� PB
→

S2	������/������C �2�D �	�5�����&!���"� '�����<���
���P 	�5����S1 	�������������[%
�1�CD ������"� '

22. !�E6����[���<�&!,�	����	����C
�r1 2�r2 (���(	:�r1 > r2�'�	���!M)����5��!M)�����
!�����d (�� '

     (a) 7�)�	������0���-��<�[%
���[%
	�5��A 2�B ���#1�����<�������AB2 = d2 –(r1 – r2)
2

(	:
     (b) 7�)�	�������
������-��<�[%
���[%
	�5��C 2�D ���#1�����<�������CD2 = d2–(r1+ r2)

2

23. ���6�(�	����	��V�F�(��	�5��P �(	:�P 	�5����,�[%
���%d��!M)��[%
�	�5���/������Q �(	:
R '�QR �����!M�����&!���S�!�� ������	�5��S ���#1�����<������� →

QS �!M�����PQR
��!M�$H�����( '

X Y

A

CB

S1
S2

A C B

P

S1
B

A

S2

C

P

I ����3.32J

I ����3.33J

I ����3.34J
D
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24.  ���� -3.35 ���/.	��	���� AT �(��	��� '�	���7����F
����(��	�5��B '�→

AB �(	:�T �	�5���������[%
����[���
P �	�5�����&!���"� '�B �	�5����	�������������[%
�
←→
TP ����Q �	�5�����&!���#1�����<�������Q �	�5�
��7&�� PT �����	�5� '

25. ���6�(�	����� AB �(��	��� '�B�	�5����	������������[%
��7����C �(����(��	�5�
������CA 1�	�����D �	�5�����&!���� '�����<�������AB2 = AC x AD

26. ���6�(�	�����AB �(��	��� '�B �	�5����	�������������[%
��7����C �2�D !�E6��	�5�
������C-B-D '��!��CA �2�DA ��/������	�����P 2�Q 	�5�����&!���"�1�����<������
AC x AP = AD x AQ

27.  ����3.36����S1 �2�S2 �	���!�E6��	��V[%
,�(	:
G ���������[%
	�5� '�	���!M)����0���-��<
[%
��%d�� →

PX �2�
→
PY �!M)����-��<���0�	�5� P'

S1 �2�S2 ��	�����
→
PX ��/������C �2�E �	�5���

(	:� →
PY ��/������D �2�F �	�5����[%
���" '

(a) ����<����K
(i) P, A, G, B�(����0��$�����	�F���2
(ii) CE = DF

          (b) �7�)�	���������������-��<�[%
�� →
PX �2� →

PY �����/������M 2�N 	�5�����&!���#1
����<����K�(i) PM = PN, (ii) MG = NG '

28. ��[���"V[%
,�!�E6��	����[%
	�5��P '�(����0��$�����6�(�	�����A �2�B 	�5����2����
	�����C 2�D 	�5�����&!���� '�����<��������APC 2��BPD ��	
�� '�[A-C-D 2
A-D-C ���������S���������<������ �']

29. �ABC ���"V	��1�AB , BC 2�CA ����/������P, Q
2�R 	�5����[%
���� '�I ����-3.37J�BQ O�8 ��L��L
CQ = 6� ��L��L�(	:��ABC ������,���36 ��L��L
���#1�AB �2�AC ���D
)��� '

O

Q

A

B P

T

I ���� 3.35)

M
C

E

P A G
B

N
D

F Y

X

I ���� 3.36)

P R

A

CB Q
I ���� 3.37)
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L1

O
K

N
Q

P

M

I ���� 3.38)

30. ���6�(�	������5��O (	:����#�$��� ����
��ABCD ���#1�����<��������AOB �2
�COD ���[��������� '��BOC �(	:��AOD ������/.	���
�
���D

)��� '

31. ���6�(�	����(������AB ,�(���	���7����F�(��	�5��P 9���������[%
��������"�����#1
����<�������P �	�5��9���� A P B ���!M�$H�����( '

32.  ����3.38����/.	��	������5��O, L1 �2� L2 !�E6�
[%
�� (	:�L1 II L2 '� 	����K 	�5���� ����

[%
��←→
PQ , L1�2�L2 ����/������M �2�N�	�5���

�&!� ��� '� ����<� ��� ��� �MON (�
�����< '

L2
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�������	
�

��
��
��
�

(TRIGONOMETRY)

4.1 ������
�
�(Introduction)��
�������	
����
����	�
�
���������sin ���cos ���tan ���cot ���sec ����cosec � ����������


������������������������
�������������= 300, 450 ��600 ��
��	��
�
 �������
!
" ����	�
�
����	�
�
������������#$��%�"������#�&������'��()#� *

��
� �+�,����������$� �������
����	�
�

����#$� �-.���/�	
�� *� ��0��	�/
����
�
����	�
�
�������������,����)���$������
1,����+�/�	
�� *

��������	
��
�2�/��������34���	����
��	�� ��5 *��'�������= 00 �
-��900 ���#
�����	
��
�2�/���p 657��8��b 62��
���9:;"$8���h 6�<"���9:;"$8���2
�=�2
�=����������+���
sin �� cos �� ��9
����
���	�
�
����������
<",��>������?����	���
�=�����9@�sin 00, cos 00,
sin 900 ��cos 900��$�9
����#$����
���������������	����'
� *

����� �� (1) sin 00 = 0, � cos 00 = 1, tan 00 =
sin 0
cos0

0

0  = 0, sec 00 =
1

cos00  = 1

1
0 � ������	�� 
�����
������� cos0

sin 0

0

0 � ��
1

sin 00 � ����� ������	� �


����� cot 00� �� cosec 00� ���������� 	��
���� �undefined� �

(2) sin 900 = 1, cos 900 = 0, cot 900 =
cos90
sin 90

0

0  = 0, cosec 900 =
1

sin 900  = 1

� tan 900 �� sec 900� ���������� 	��
��� �

������ ��������"���/�	��'���A	�
����	���
��
���
��	�� ���#������������0 < � <�180*
���������= 0 �
-����= 1800 �#B)����'(�("������C *��
D��9��E
����	����
��	���D��00 �����'��
1800 �������� *����F�sin � ��cos � ��9
�G����E
���
���	�
�
�������������$�����("����(�
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57����	
�����
����	�
�
��HI��6Trigonometric function 8�������
��'��G
����'5?�J�����
���&I���
�6variable����argument8K��(�"�L�� 2
�=�2
�=���M��6real8��#$����	���
���� *�������
sin 00, cos00, sin 1800, cos 1800 ��$�9
����
N
" ���#$������N���
�������$� *

2. ���	����
��	����?�� ��
��@"���$��������������'(��� 6��#H�8��� 6�
E�8���� 6����8
��$�9
 ��+��$��������'�� *
4.2 ��������(Complementary) ��
����
���
��
�
������
���

�����34���	���
��
���
��	�� ��5 *�������'5?����	�9O,����
��	�� ��900 – � ��������
��P�����������ED
 *�� ��900 – � ���
����	�
�
���%�"����
�=������#�&������'��G
 *

9@�&
���4.1 ���ABC ��������	
��
�2�/ *�m�B = 900

������m�BAC = ���	�m�BCA = 900 – �

�@"����sin � = 
��

��
 , cosec���=

��

��
 , cos���=

��

��
 , sec���=

��

��
 ,

tan���=
��

��
����cot���=

��

��

9@�&
�����sin(900 – �) Q� AB
AC ������cos���=

AB
AC


��sin(900 – �) = cos��

���
��
�cos( 900 –���) = 
��

��
 = sin ����tan( 900 –���) = 

��

��
 = cot �

 cot( 900 –���) = 
��

��
 = tan ����sec( 900 –���) = 

��

��
 = cosec ������

 cosec( 900 –���) = 
��

��
 = sec �

∴  00 <���< 900� ���?����������#
�����A � sin( 900 –���)  =  cos���,    cos( 900 –���) = sin �

tan( 900 –���) = cot���,      cot( 900 –���) = tan �

sec( 900 –���) = cosec���,  cosec( 900 –���) = sec �

4.3. �������
��
�����
���
��
�
������
���
���"���00 J����900 �'"$D���
��	��
�
 ����	�������
����	�
�
����������
1,������#�&��

���'��G
 *����#�&
����
���	�
�
��������� �R�����/$��
�
���$�����9O�����
�S�5��,��������
���'��������������T������
��
�S�������C�5U���
���	�
�
������������
����
M������?����,� *

6&
���V�4.1)
AB

C

900 – �

�
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���E"/
,����I���P(x,y) ���
�����
W���'��
��XOP �����34���	�6&
���4.28 *
�� , P �
W����x- �3���
�#- *�������m�XOP = � *�XOP ���
1"�
W��O �6��I�
W�8�J���

P ��9�����= r ����P �
W����R�����(x, y) �$�������
�PON �����	
��
�2�/���m�PON = �
�
��D���
���	�
�
�������������
���
�=�����
<",����'������
� *

sin��� = 
��

��
 = 

P
r

�
W��� ����E

 = 

�

	

cos���=
ON
OP  = 

P
r

�
W��� 2�/
=




	

tan��� = 
��

��
 =

P
P
�
W��� ����E

�
W��� 2�/  = 

�



��$�9
 *

�J����P �
W�E
���(����9���()�����x ��y 52,�0���)������OP,�r 9�������&�5�()��������
��"9��0���)� *��'5?J����OP = r = x y� �+

���
��
��XOP ����R�I���	����#�6&
���4.3 8��������2�����
����	�
�
�������������
�
�
<",���
����
�� *������P �
W�E
�9O
�
,���9������R
������������2�/�(= x) X	��)�������E
�(= y)
0���)� *�������m�XOP = ��(00 < ��< 1800)


�   sin � = 
P

r
�
W��� ����E
 �= �

	
, '����
�0���)��

cos � = 
P

r
�
W��� 2�/

=



	
������X	��)�

tan � = 
P
P
�
W��� ����E

�
W��� 2�/ =

�



�������X	��)�

cot � = 
P

P
�
W��� 2�/
�
W��� ����E
 �=




�
�������X	��)��

sec � = 
r

P �
W��� 2�/ �=
	



�������X	��)�����

cosec � = 
r

P �
W��� ����E
 � = 
	

�
�������0���)�

4.5 ��� = 1800 �
�����
���
��
�
������
���� !
�����"���
��A	�
����	���
��
���
����� ����0 < ��< 180����#���
���	�
�
������������
�������

����Y9�4.2 ��������Y9�4.3�������������������
G *���= 00��
-��900 �
-��1800 ���#���
�����	
� ��
2�/��� P 657��8�� b 62��
�� �9:;"$8� ���� h 6�<"�� �9:;"$8� ��+���� ��
���	�
�
�
����������
��������
<",��>������? *���	�� �sin 00, cos 00; sin 900, cos 900 ��$�9
������

X1 N

Y

P(x , y)

XO

X

P(x , y)
Y

N O

Y1

6&
���V�4.2)

6&
���V�4.3)

�

r y

x

�
r

y

x
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�
���	�2I
� sin 1800, cos 1800 ��$�9
��� ������N���
�� *�57����	
����5U��
����	�
�
�
����������
����$���
�T����
���
�� *

sin 1800 = 0 cosec 1800 6�����
�
�8
cos 1800 = –1 sec 1800 = –1
tan 1800 = 0 cot 1800 6�����
�
�8

4.6 #����$%��
����&�#'
����
�������
�
(1800  –��) ����
��
��
�
������
���	����()��
&
���4.5 ������HL����/�5����XOX/ ��YOY/ 9��E
��3��B������O ��I�
W� *�O J����r

����9�����P(x, y) ���
�����
W���'��
�m�POX = (1800 Z �����5�6� �����34���	8 *
�����m�POM = �

sin ( 1800 –���) = 
�

	
 = 

��

��
 .......... (1)

���F�OMP �����	
��
�2�/���

sin��� = 
��

��
.......... (2)

(1) ��(2) ���sin (1800 Z �8�Q�sin��

���
��
�cos ( 1800 –���) = 



	
�����OMP ���cos���=

��

��
*���������3�����x X	��)�

�����cos ( 1800 –���) = 



	
 =

−��
��

*��������cos ( 1800 –���) = – cos �

�@"����tan ( 1800 –���) = 
sin( )
cos( )


��


��

�

�

−
−

θ
θ  = 

sin
cos

θ
θ−  = –tan ��

cot ( 1800 –���) = 
cos( )
sin( )


��


��

�

�

−
−

θ
θ  = 

− cos
sin

θ
θ  = –cot ��

sec ( 1800 –���) = 




��
�cos( )− θ  = 




− cosθ  = –sec �����

cosec ( 1800 –���) = 




��
�sin( )− θ  = 




sinθ  = cosec �

��������	����'������
���'�5����U���������
��� ����#$�00 ���1800 ���+�@
"���#$��
��D
6tan ��sec �3������ ≠  900 ���?8���'�/$ *

X

P(x , y)

O

Y1

X1 M

1800 - �

6&
���V�4.5)

�y

x

r
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sin ( 1800 –���) = sin���, � 
��� �≤ ≤θ

cos ( 1800 –���) = –cos���, � 
��� �≤ ≤θ

�����*�B tan ( 1800 –���) = –tan���, � 
��� �≤ ≤θ ��� ≠ 900

cot ( 1800 –���) = –cot���, 00 <���< 1800

sec ( 1800 –���) = –sec���,��� ≠ 900 , � 
��� �≤ ≤θ

cosec ( 1800 –���) = cosec���, 00 <���< 1800

4.7 ��$%��
��� &�������
��(900 +��) ���
���
��
�
������
���	����+����
'9
�� ���E
����34���	�����900 + � ����R�I���	���� *��'�������
��R�I���	����
���	�
�
�

�������������(1800 – �) ��(900 – �) ���	���
����	�
�
����������-.
,����������'$����
<",
���'������
�����	�������[�\�/$��
�
������	������$�������C *��(900 + �) ���	���
����	�
�
�
�������������
�=#
B)��2�����
<",����'������
� *

sin ( 900 +���) = sin{1800 – (900 –���)} = sin ( 900 –���) = cos��

cos ( 900 +���) = cos{1800 – (900 –���)} = –cos ( 900 –���) = –sin��

tan ( 900 +���) = tan{1800 – (900 –���)} = –tan ( 900 –���) = –cot��

cot ( 900 +���) = cot{1800 – (900 –���)} = –cot ( 900 –���) = –tan��

sec ( 900 +���) = sec{1800 – (900 –���)} = –sec ( 900 –���) = –cosec��

cosec ( 900 +���) = cosec{1800 – (900 –���)} =cosec (900 –���) = sec �

sin ( 900 +���)  = cos���   , 00 ≤ ��� ≤  900

cos ( 900 +���) = –sin��� , 00 ≤ ��� ≤  900

�����*�C tan ( 900 +���)  = –cot��� , 00 <��� ≤  900

cot ( 900 +���) = –tan��� , 00 ≤ ���< 900

sec ( 900 +���)  = –cosec��� , 0 <��� ≤  900

cosec ( 900 +���) = sec���, 00 ≤ ���< 900

4.8 ������
,
�-���
��
��
�
������
���
� = 300, 450, 600 � ����� �� �� !� ��" 
#���$ �� #�� $�	�� 	� �%���� #����&���
'�� �� ($�	�)�� �����&*
��

(���� �%�"� �	��
+�,�
��� ��-�.��� ���*$�	�)�� ,�/������ = 1200, 1350� ��1500� ����� ��" 
#���$ �� #�� $�	�� ����
$0� 	� �%�� ��� 
�������� �� �
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(������ ��
'��1�	��� 	� $2
��� #����&��3 �
(i) � = 1200

�%������� 4��� �3 � 
&�sin 600 = 3
2

, cos 600 = 1
2 � (���  tan  600 = 3


 sin 1200 = sin (1800 – 600) = sin 600 = 3
2

cos 1200 = cos (1800 – 600) = – cos 600 = – 1
2

tan 1200 = tan (1800 – 600) = – tan 600 = – 3

cot 1200 = 1
tan1200 = – 

1
3 ;  sec 1200 = 1

cos1200  = – 2 (���

cosec 1200 = 1
sin1200 =

2
3

(ii) � = 1350

(5��
����� = 1800 – 450 (���� �%������� 4��� �3 � 
&� 6

sin 450 = cos 450 = 
1
2 , tan 450 = 1


  sin 1350 = sin 450 = 
1
2  ; cos 1350 = – cos 450 = – 

1
2 ;

tan 1350 = – tan 450 = –1
[sin (1800  – �), cos(1800  – �), tan(1800  – �) ��� �%��"� �"
��7� #���  ]

cot 1350 = 1
tan1350  =  –1;  sec 1350 = 1

cos1350  = – 2

(����cosec 1350 = 1
sin1350 = 2

(iii) � = 1500

�%������� 4��� �3 �sin 300 = 1
2  , cos 300 = 3

2
, tan 300 = 

1
3


  sin 1500 =  sin 300 = 1
2 ,  cos  1500 = – cos 300 =  – 3

2

tan 1500 =  – tan 300 = –
1
3 ,  cot  1500 = 

1
tan 1500  = – 3

sec 1500 = 
1

cos 1500 = −2
3 (����cosec 1500 = 

1
sin 1500  = 2
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(� �&�*8�� 4��� �
���� ��" 
#���$  �� #�� $�	�7�9 #��� 	� $2:� ������
��� ��:�� ��� #����&��3 �
���	
�

� = sin cos tan cot sec cosec
00 0 1 0 ����� 	����; 1 ����� 	����;

300 1
2

3
2

1
3 3

2
3 2

450
1
2

1
2 1 1 2 2

600 3
2

1
2 3

1
3 2

2
3

900 1 0 ����� 	����; 0 ����� 	����; 1

1200 3
2

– 1
2 – 3 –

1
3 – 2

2
3

1350
1
2

−1
2 –1 –1 – 2 2

1500 1
2 – 3

2
–

1
3 – 3 –

2
3 2

1800 0 –1 0 ����� 	����; –1 ����� 	����;

�.
'���*�1 : 
cos30 sin60

1 cos60 sin30

0 0

0 0
+

+ + �������
<",��� *

��
/
���� cos30 sin60
1 cos60 sin30

0 0

0 0
+

+ +  = 

�

�

�

�






�




�

+

+ +
 = 

�
�

�

�

x
 = �

�
�65@�8 *

�.
'���*�2 : 
cos70
sin20

0

0  + 
����� ��������

���� ����� ����� �����

� �

� � � �. . . ��������
<",��� *

��
/
����� cos70
sin20

0

0  + 
����� ��������

���� ����� ����� �����

� �

� � � �. . .

               = 
cos(90 20 )

sin20

0 0

0
−

 + 
������ ��� ���������

���� ����� ������ ��� � ������ �� �

� � �

� � � � � �. . .

               = 
sin20
sin20

0

0  + 
sin 35 .cosec35

tan5 tan25 5

0 0

0 0 0 0. . .cot25 cot
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= 1 + 
sin 35 1

sin35
(tan5 cot5 ) (tan25 cot25 )

0
0

0 0 0 0

x

x x x
= 1 + 





 
x  = 1+1 = 2 65@�8 *

�.
'���*�3 ��9��"���'��3 sin 62
cos28

0

0  – 
sec 42

cosec 48

0

0  = 2

��
/
����������O"�Q�3 sin 62
cos 28

0

0  – 
sec 42

cosec 48

0

0  = 3
sin (90 28 )

cos28

0 0

0

−
 – 

sec (90 48 )
cosec 48

0 0

0

−

      = 3
cos 28
cos 28

0

0  – 
cosec 48
cosec 48

0

0 = 3–1 = 2 Q�93
	����O"�6����	
�8

�.
'���*�4 ���'9
�A ��B �����$����34���	�����sin A = cos B �L��
����������	����'��A + B = 900

��
/
����B ��34���	������(900 – B) �+���34���	 *
�@"����sin A = cos B 	 sin A = sin (900–B)

	 A = 900–B 	 A + B = 900 6����	
�8
[ .�-�����A ��B ��34���	����#�sinA = sin B 	 A =B �������
��

cos A = cos B 	 A = B ��$�9
 *��
D��A ��B �+�����A	�
����E
���R�I���	����#����

�>������? *

�'��
�] sin 600 =
�

�
= sin1200 ��
D��600 
 1200�657������	
������
1,����0)��/�	
�8] *

�.
'���*�5 �����I����]� 1 sec(180 A)
1 sec(90 A)

1 cosec A
1 secA

0

0

+ −
+ +

−
−

x

��
/
���� 1 sec(180 A)
1 sec(90 A)

1 cosec A
1 secA

0

0

+ −
+ +

−
−

x  = 
1 sec A

1 cosecA
1 cosec A

1 secA
−

−
−

−
x �= 1�65@�8

�.
'���*�6 :  cosec2(970 + α ) – cot2(830 – α )������I��� *
��
/
����cosec2(970 + α ) – cot2(830 – α )

= cosec2[ 900 +(70 + α ) ]– cot2[ 900 –(70 + α ) ]

   =  sec2(70 + α ) – tan2(70 + α )

   = 1 65@�8
�
0.�0��cot2 (830 – α ) = [cot{1800 – (970+ α )}]2 = [–cot(970+α )]2 = cot2(970 +α ) �
��'��
��I����'������ *
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�.
'���*7 :� sin(180 A) .sin(90 A) .cot(90 A)
tan(180 A) .cos(90 A) .cosec(90 A)

0 0 0

0 0 0
− − +

− + − �����I��� *

��
/
���� sin(180 A) .sin(90 A) .cot(90 A)
tan(180 A) .cos(90 A) .cosec(90 A)

0 0 0

0 0 0

− − +
− + − =

sin A .cosA .( tan A)
tan A .( sin A) .secA

−
− −

=
– sin A .cosA . tan A
tan A .sin A .secA  = – cosA

secA = – cos2A 65@�8

�.
'���*8 : ����	�����'�tan10 . tan20 . tan 30 ........... tan 890 = 1
��
/
���������3�Q�tan10 . tan20 . tan 30 ........... tan 890

����Q�tan(900–890) . tan(900–880) . tan (900–870)
........... tan (900–460) . tan450 ......... tan870 . tan880 . tan890

Q�cot 890 . cot 880 . cot 870 .... cot 460 . tan 450 . tan 460 ... tan 870 . tan 880. tan 890

= (cot 890 x tan 890) x (cot 880 x tan 880) x (cot 870 x tan 870)
         ........ x (cot 460 x tan 460) x tan 450

=  1 x 1 x 1 x ......... x1 x 1 = 1 = 93
	����O" 6����	
�8

�.
'��*9� � ABC �������	�����'� sin
B C

2
+�

�
�
�  = cos A

2
�
�
�
�

��
/
����A, B ����C �
�2�/���
���E
����	������A + B + C = 1800

������O"�Q� sin
B C

2
+�

�
�
�  = sin A B C A

2
+ + −�

�
�
�

           = sin 180 A
2

0 −�
��

�
��  = sin 90 A

2
0 −�

�
�
�  = cos A

2
�
�
�
� � Q�93
	����O" 6����	
�8

���12��2�*�4 (a)
34�5��
6
�7

1. �	
	�	������	��	���	���	�	����	�������	����	����	
��	�	� �
(a) sin 800 = ......... [sin 100, sin 200, cos 100, cos 200]
(b) cos 650 = ......... [sin 250, sin 350, cos 250, cos 350]
(c) sin 1800 = ......... [1, –1, 0, � 1]
(d) cos 900 = ......... [1, –1, 0, � 1]
(e) cos 1100 + sin 200 = ......... [2 cos 1100, 2 sin200, 0, 1]

(f) sin 750 – cos 150 = ......... [ 3
2

, 1
2 ,0, 1]
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(g) sin 00 = ......... [cos 00, sin 900, sin 1800, cos 1800]
(h) sin 150 + cos 1050 = ............. [0, 1, – 1, � 1]
(i) cos 1210 + sin 1490 = .......... [1, – 1, 0, � 1]

(j) tan 1020 – cot 1680 = ................. [0, –1, 1, � 1]

2. 900 + � �
-� 900– � �
-��1800– �,�����
���	�
�
����������������������� (00<�<9008*
(i) sin 1110 (ii) cos 1220 (iii) tan 990 (iv) cot 1010

(v) sin 910 (vi) cosec 930 (vii) cos1280 (viii) cosec 1320 (ix) cot 1310

3. �
�=�R��9����
���00 ����450 ���	���
��	��+�R��
����	�

�
������������������� *
(i) cos850 + cot 850 (ii) sin 750 + tan 750 (iii) cot 650 + tan 490

4. �����
<",��� *�i) sin18
cos72

0

0     ii) 
tan26
cot64

0

0  iii) sin116
cos26

0

0  iv) cosec74
cosec106

0

0  v) sin28
cos118

0

0

3485��
6
�7
5. ��I����]V

(i) cosec 310 – sec 590 (ii) sin (500 + � ) – cos (400 –��)

(iii)
cos 20 cos 70
sin 59 sin 31

2 0 2 0

2 0 2 0

+
+ (iv) tan (550 – �) – cot (350 + �)

(v)  cos10 . cos 20 .... cos 1800 (vi)
sin27
cos63

cos63
sin27

0

0

2 0

0

2�
��

�
��

+
�
��

�
��

(vii) cot 1120 . cot 1580 (viii) cos2 (900 +�) + cos2 (1800 –��)

(ix) �sec2 (1050 +�) – tan2 (750 –��) (x)  sin2 (1100 +�) + cos2 (700 –��)

6. �����
<",��� *

(i)  cosec2670 – tan2230 (ii)
s in 5 1 s in 1 5 6
c o s 3 9 c o s 6 6

0 0

0 0
+
+

(iii)
cos68 sin131
sin22 cos41

0 0

0 0
+
+ (iv )

sin162 cos153
cos72 cos27

0 0

0 0
+
−

(v)
cos38 sin120

2sin52 3

0 0

0

+
+ (vi)

2cos67
sin23

tan40
cot50

sin90
0

0

0

0
0− −

(vii)
sec61 cosec

3cosec29

0

0
+

+

��

�

�
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7. ����	����]
(i) cos (900 – �) . cosec (1800 – �) = 1

(ii) cos29 sin159
sin61 cos69

1
0 0

0 0
+
+

= (iii) sin2 700 + cos2 1100 = 1

(iv)  sin2 1100 + sin2 200 = 1 (v)�sec2 � + cosec2 (1800 – ���= sec2 ��. cosec2 �
(vi ) 2 sin ���. sec (900 + ��) . sin 300 . tan 1350 = 1

8. ����	����]
(i) cos2 1350 – 2sin21800 + 3cot21500 – 4 tan21200 = −�

�

(ii) tan 300 . tan 1350 . tan 1500 . tan 450 = 

�

(iii) sec 180 tan150
cosec 90 cot120

2 0 0

2 0 0
+
+

=1

(iv)  sin2 1350 + cos2 1200 –  sin2 1200 + tan2 1500 �� 

�

34�5��
6
�7
9. ��#$��
���	����]

(i) tan 100 x tan 200 x tan 300 x .... x  tan 700 x tan 800

(ii) cot 120 . cot 380 . cot 520 . cot 600 . cot 780

(iii) tan 50 . tan 150 . tan 450 . tan 750 . tan 850

10. ����	����]

(i) sin 1200 + tan 1500 .cos1350 =
� �

� �

+

(ii)
sec 180 tan150

cosec 90 cot120

2 0 0

2 0 0
+
−  = 2 – �

(iii) � sec 180 tan45
cosec 90 cot120

2 0 0

2 0 0

+
−  = 3 – �

11. ��I����]
(i) sin (1800 – � ) . cos (900 + � ) +sin (900 + �) . cos (1800 – �)

(ii)
cos(90 – A) .  sec(180 – A) .  sin(180 – A)
sin(90 A) .  tan(90 + A) .  cosec(90 + A)

0 0 0

0 0 0+

12. ��ABC ���m�B = 900 ���#�����	�����'��sin2A + sin2C = 1
13. ��ABC �������	�����'��cos(A+B) + sin C = sin (A + B) – cos C *
14. A ��B�9��E
���P�������������	����#�sinA . cos B + cos A. sin B �������
<",��� *
15. ABCD�����T@�D#
"B)��&��2�"/����#�tan A + tan C��������
<",��� *



[ 106 ]

16. ����	����]� sin 135 cos 120 sin 150 tan 150
sin 120 cos 150 tan 120 tan 135 cos180

2 0 2 0 2 0 2 0

2 0 2 0 2 0 2 0 0
+ − +

− + + +  = 
�


�

17. ����	����]� 5sin 150 cos 45 4tan 120
2sin30 .cos60 tan135

2 0 2 0 2 0

0 0 0

+ +
−  = 

��

�

4.9. ��
1���
�����
��
��
�
������
��(Trigonometrical ratios of compound angles) :
&,� � A �� B ����� 1�<����= � �� �� = A + B� ���� A – B� ���(>� 
��
��� � ��� $%'�*� ����

A �� B ��
��� 	� ������ #��� �� �� A � B $0���� 
#�?�� � 
7�@ (� ���� ����� ��� ��A�.��� 
��
'�� �
$0� �� !� �� !� $%'�*� 7"���� #��� ��
�� �� (� ��� : �� 
��� �� �����B�� A + B� ���� A – B� #��� 
&?7 #�
1�<�� �Compound argument�� #�����&�( �


&?7 #�� 1�<�� ����� ��" 
#���$ �� #�� C�<�	���� 
#�
��7�9 (� �� 
=D� E$�� ���� 3 �� 
��
� $0���

#�
��#�� �"$�F� E$�#��� �%��"� �%��
��� �"#��=� #��� ��� �

�� 	!� �� sin (A + B) = sin A. cos B + cos A . sin B .... (1)

�!��
� �� 1� ��"� 4.6� 
��� �QOP �� �POR ��� ��� $��� &��#�"
$� A� �� B,� 
����� �QOR
��� ��� $��� A + B� �
@ �

RS OQ⊥ >� RP OP⊥ � (���� PT RS⊥ >� PQ OQ⊥

�)�	�� �	��&���� PQST� (#�� �����1� ��"� �
@ �


����� PT OQII � (���

m�TPO = m�POQ = A� �(#��8���� 
#���� .... (i)

RTP �$
#����� ��" ���4
��� � m�PRT + m�TPR = 900

RP OP⊥ � 
������ m�TPO + m�TPR = 900


� m�PRT + m�TPR = m�TPO + m�TPR


����� m�PRT = m�TPO = A � [(i) �	��&���] .... (ii)


� sin (A + B) = RS
OR

RT TS
OR

RT PQ
OR

PQ
OR

RT
OR

= + = + = +  (� TS = PQ)

       = � PQ
OP

OP
OR

RT
RP

RP
OR

. .+

R

P

O
B

A

A

AT

S Q
(1� ��"� 4.6)
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� = � sin�QOP . cos�POR  + cos�PRT . sin�POR

  = sin A. cos B + cos A . sin B

[� m�QOP = A = m�PRT ...... (ii)]���"$�� ���

�"	�	�� � (i) sin A� #��� sin m�QOP � ������ sin m�PRT� 	�� 
'�F � sin �QOP� �����
sin�PRT� 
'�F�&�(� �� 
��� ��� � cos A� #��� cos m�QOP� ������ cos m�PRT� 	�� 
'�F 
cos�QOP� ������ cos�PRT� 
'�F�&�( �� �	�*�	�*� ��" 
#���$ �� #�� �	������� ����� $0� (�� � �"��
�	���G��� ���( �

(2) �PRT� �� �QOP� �$��� $��� �� = H� 
�����
������� ��
$� PRT� ���� QOP� 
&
#�?�� 
�$
#����� ��" ���4���� ��" 
#���$ �� #�� �	������7�9 #�� 	� -���� #��� ���� ��� �� ��" ���4,�/�� �,G�=� 
�����
������
�IG��� �	������7�9 #�� �$�	�� �@8� � 6� (#���� �,G�=� ��" ���4� �"�J�
��� ��
'��1� ��� 
����3 �

�� 	!� �� cos (A + B) = cos A . cos B – sin A . sin B ..... (2)

�!��
� �� 1� ��"� 4.6� ���� cos (A + B) = OS
OR

OQ – SQ
OR

OQ – TP
OR

= =

� � � = OQ
OR

TP
OR

OQ
OP

OP
OR

TP
RP

RP
OR

− = . – .

    = cos A . cos B – sin A . sin B � ��"$�� ���

�� 	!� �� sin (A – B) = sinA .cos B – cosA . sin B ....(3)

�!��
� �� 1� ��"� 4.7� 
��� m�QOR = A, m�POR = B, 
����� �QOP = A – B

RS OQ⊥ , PR OR⊥ , PT RS⊥ �� PQ OQ⊥

�)�	�� �	��&���� PQST� (#�� �����1� ��" �


����� PQ = TS� �� SQ = TP

�ROS �$
#����� ��" ���4
��� m�ROS + m�ORS = 900

��	�K�� PR OR⊥ 
������ m�PRT + m�ORS = 900


� m�ROS = m�PRT = A (� m�ROS = m�QOR = A )

sin(A – B) = sin�QOP = PQ
OP

TS
OP

= (� PQ = TS)

R

P

O
B

A – B

A

AT

S Q
(1� ��"� 4.7)
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  =  RS – RT
OP

RS
OP

RT
OP

RS
OR

OR
OP

RT
RP

RP
OP

= =– . – .

  = sin�ROS . cos�POR – cos�PRT . sin�POR

  = sinA . cosB – cosA . sinB

(� m�ROS = m�PRT = A �� m�POR = B ) � ��"$�� ���

�� 	!� �� cos(A – B) = cos A . cos B + sin A . sin B ....(4)

�!��
� �� 1� ��"� 4.7� 
��� cos(A – B) = cos�QOP

= OQ
OP

OS + SQ
OP

OS + TP
OP

= = (� SQ = TP)

= � OS
OP

TP
OP

OS
OR

OR
OP

TP
RP

RP
OP

+ = +. .

= � cos�ROS . cos�POR + sin�PRT . sin�POR

= cos A . cos B + sin A . sin B

(� m�ROS = m�PRT = A �� m�POR = B )� ��"$�� ���
��#	�	�� �� �%��"� -1���� �%��"� - 4� ���*8�� 7������/�%-��� �� (���#��� �L���� ��F ���� ���M	���;� #�����

(����
��� ��
'��1� ��� 
�����#��� �
���� �� D���N�� ����� (�� � 1���� 
7�@ � �%��"� ��;� ��E��� �� (�� � �%��"7�9 #���
�"$��� �%OL
#���� ��E��� ��� 
�����

'�� 
���� A� �� B� ��� 
&
#�?�� � $�	�� ����� �%��"7�9 #�� �"&�4*
6� (������ �"$��� �P������ 
="��
��� ,� ��& �� �

��
������ �%��"7�9 #�� �����&*
��� tan (A ± B)� (���� cot (A ± B)��� ��" 
#���$ �� #�� C�<�	���
�%��"� 	� -���� #��� ���� ��� �
�.
'����*10

(i) tan (A + B) = 
sin(A + B)
cos(A + B)

sinA.cosB cosA.sinB
cosA.cosB – sinA.sinB

= +

  = 

sinA.cosB cosA.sinB
cosA.cosB

cosA.cosB sinA.sinB
cosA.cosB

+

– �'��� ������#���cosA .cosB�,�/����� ���7 #����7'���

  =  

sinA.cosB
cosA.cosB

cosA.sinB
cosA.cosB

cosA.cosB
cosA.cosB

sinA.sinB
cosA.cosB

+

–
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  =  
tanA tanB

1 tanA . tanB
+

−

�� tan (A + B) =
tan A tan B

1 tan A . tan B
+

−

(ii)  tan (A – B) =  
sin(A – B)
cos(A – B)

sinA.cosB – cosA.sinB
cosA.cosB + sinA.sinB

=

  = 

sinA.cosB cosA.sinB
cosA.cosB

cosA.cosB sinA.sinB
cosA.cosB

–

+ �'��� ������#���cosA .cosB�,�/��������7 #����7'���

  =  

sinA.cosB
cosA.cosB

cosA.sinB
cosA.cosB

cosA.cosB
cosA.cosB

sinA.sinB
cosA.cosB

–

+

  =  
tanA tanB

1 tanA . tanB
−

+

�� tan (A – B) =
tan A tan B

1 tan A . tan B
−

+

(iii)  cot (A + B) = 
cos(A + B)
sin(A B)

cosA.cosB sinA.sinB
sinA.cosB cosA.sinB+

= −
+

    = 

cosA.cosB sinA.sinB
sinA.sinB

sinA.cosB cosA.sinB
sinA.sinB

–

+ � =

cosA.cosB
sinA.sinB

sinA.sinB
sinA.sinB

sinA.cosB
sinA.sinB

cosA.sinB
sinA.sinB

–

+

   =  cotA.cotB 1
cotB + cotA

−

�� cot (A + B) =
cot A.cot B 1
cot B+ cot A

−

(iv)  cot (A – B) = 
cos(A – B)
sin(A B)

cosA.cosB sinA.sinB
sinA.cosB cosA.sinB– –

= +

    = 

cosA.cosB sinA.sinB
sinA.sinB

sinA.cosB cosA.sinB
sinA.sinB

+

– � =
cosA.cosB
sinA.sinB

sinA.sinB
sinA.sinB

sinA.cosB
sinA.sinB

cosA.sinB
sinA.sinB

+

–

   =  cotA.cotB 1
cotB – cotA

+ �� cot (A – B) =
cot A.cot B 1
cot B – cot A

+
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.�-��� �� ��
'��1� ��� �%��"7�9 #��� 
	��� 	� $2� ��6�%��"7�9 #��� 	� 
4� : ��� #��� �
(a) sin (A + B) + sin (A – B) = 2 sin A . cos B
(b) sin (A + B) – sin (A – B) = 2 cos A . sin B

(c) cos (A + B) + cos (A – B) = 2 cos A . cos B

(d) cos (A – B) – cos (A + B) = 2 sin A . sin B

�.
'���*�11 : sin 150 ���tan 1050�������
���	��� *
���0���: �sin150 = sin(450 – 300 )

      = sin450 . cos300 – cos450 . sin300

     = 
1
2 x 3

2
 – 

1
2 x

1
2

 = 
3

2 2
 – 

1
2 2  = 

3 1
2 2

− 65@�8

tan1050  = tan(600 + 450 ) = 
tan60 tan45

1 tan60 .tan45

0 0

0 0
+

−  = 
3 1

1 3 x1
+

−  = 
3 1

1 3
+

−

           = 
3 1 1 3

1 3 1 3

+ +

− +

� 	� 	

� 	� 	  = 
3 1+ 2 3

1 3
+

−  = 
4 +2 3

2−  = –2– 3 65@�8

�.
'���*�12 : �����	����]� sin(A B)
cosA.cosB

+
 = tan A + tan B

��
/
��������3�Q sin(A B)
cosA .cosB

+
 = 

sinA.cosB cosA.sinB
cosA.cosB

+

     = 
sinA .cosB
cosA .cosB

cosA .sinB
cosA .cosB

+

     = 
sinA
cosA

sinB
cosB

+  = tanA + tanB�Q93
	�3�6����	
�8 *

�.
'���*�13 :�����	����]� cos16 sin16
cos16 sin16

0 0

0 0

+
−  = tan 610

��
/
����93
	�3� = tan610 = tan(450 + 160 )

       = 
tan45 tan16

1 tan45 .tan16

0 0

0 0

+
−  = 

1 + tan16
1 tan16

0

0−  = 
1 + sin16

cos16

1 sin16
cos16

0

0

0

0−
 = 

cos16 + sin16
cos16

cos16 -sin16
cos16

0 0

0

0 0

0

       = 
cos16 +sin16
cos16 -sin16

0 0

0 0 = �����3�6����	
�8 *
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�.
'���*�14 :�����	�����'��tan700 . tan650 – tan700 – tan650 = 1
��
/
��� 700 + 650 = 1350 ⇒  tan(700 + 650) = tan1350

⇒
tan70 tan65

1 tan70 . tan65

0 0

0 0
+

−  = –1

⇒ –1 + tan700 . tan650 = tan700 + tan650

⇒  tan700 . tan650 – tan700 – tan650 = 1
⇒ ����3�Q�93
	�3 �6����	
�8

�.
'���- 15 : � A+B+C  = 1800 ����#�
����	�����'��tanA + tanB + tanC = tanA . tanB . tanC

��
/
��� A+B+C  = 1800 ⇒  A+B  = 1800 – C

⇒  tan(A+B) = tan(1800 – C) ⇒
tanA tanB

1 tanA. tanB
+

−  = –tanC

⇒ tanA + tanB = –tanC + tanA . tanB . tanC
⇒ tanA + tanB + tanC = tanA . tanB . tanC ⇒ ����3�Q�93
	�3 6����	
�8

�.
'���*�16�������	����]� cos700 + cos 500 = sin 800

��
/
��������3 = � cos700 + cos 500

      =  cos(600 + 100 ) + cos(600 – 100 )
                   = cos600.cos100  –  sin600.sin100  + cos600.cos100 + sin600.sin100

                    = 2cos600.cos100 = 2 x
1
2  cos100

                    = cos100  = cos(900 – 800 ) = sin800

                  = 93
	�3 6����	
�8 *

���12��2�*�4 (b)
34�5��
6
�7

1.�1�����
��������� 9

i) sin(A – B) =  
sinA
......

 – 
cosA
......

*

ii ) cos(��+ �) +cos(� – � ) =  .......... *
iii) cos(600 – A) + ............ = cos A *
iv) sin (300 + A) + sin (300 – A) = ...... *
v) 2 sin A. sin B = ........ – cos (A + B) *
vi) tan (450 +�� ) . tan (450 – �) = ................ *
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485��
6
�
2.�����	����]

i)
sin(A - B) 
cosA.cosB

 = tanA – tanB ii) 
cos(A + B) 
cosA.cosB

 = 1 – tanA . tanB

iii)
cos(A - B) 
cosA.sinB

 = cotB + tanA iv) 
sin
sin

α
β  – 

cos
cos

α
β  = 

sin(
sin .cos

α β
β β

− )

v)
cos
sin

α
β  – 

sin
cos

α
β  = 

cos(
sin .cos

α β
β β

+ )

3.�����	����]
i) cos(A + 450 ) = 

1
2 (cosA – sinA) ii) sin (450 – �) = – 

1
2 (sin � – cos �)

iii) tan(450 +���) = 
1 tan
1 tan

+
−

θ
θ iv) cot ( 450 – �) = 

cot
cot

θ
θ

+
−

1
1

4. ����	����]
i) cos(450 – A) . cos  (450 – B) – sin (450 – A) . sin (450 – B) = sin (A + B)

ii) sin (400 + A) . cos (200 – A) + cos (400 + A) . sin (200 – A) = 3
2

iii) cos (650 + �) . cos (350 + �) + sin (650 + �) . sin (350 + �) = 3
2

iv) cos n� . cos � + sin n� . sin � = cos (n – 1) �

v ) tan(600 – A) = 
3

3
cosA - sinA 

cosA + sinA

4�5��
6
�
5. ����	����]

(i) tan 620 = 
cos17 sin17
cos17 sin17

0 0

0 0
+
− (ii) tan 700 =

cos25 sin25
cos25 sin25

0 0

0 0
+
−

(iii) tan 7A . tan 4A . tan 3A = tan 7A – tan 4A – tan 3A
(iv) tan (x + y) – tan x – tan y = tan (x + y) . tan x . tan y
(v) (1 + tan 150) (1 + tan 300) = 2
(vi) (cot 100 – 1) (cot 350 –1) = 2

(vii)
1

cotA tanB+  – 
1

tanA cotB+  = tan(A – B)

(viii ) 3  + cot 500 + tan 800 = 3  cot 500 . tan 800

6. cos 750���sin 150����#$��
<",��� *
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7. (i) cos α  = 
8

17 �  sinβ  = 
5

13 ���#�sin (α  – β ) �������
<",��� *

(ii) tan A = 
1
2

 , cot B = 3 ���#��A + B ��������
<",��� *

(iii) tanβ  = 
1 tan
1 tan

−
+

α
α ���#���tan(α  +β ) �������
<",��� *

8. A + B + C = 900����#�����	�����'
(i) cot A + cot B + cot C = cot A . cot B . cot C
(ii) tan A . tan B + tan B . tan C + tan C . tan A = 1

9. (i) A + B + C = 1800 ��� sin C = 1 ���#�����	�����' tan A . tan B = 1
(ii) A +B+ C = 1800 ���#�����	�����' cotA.cot B+cot B.cot C+ cotC.cot A = 1
(iii) A + B + C = 1800 ����cosA = cos B . cos C ���#�����	�����'

(a) tan A = tan B + tan C
(b) tan B. tan C = 2

10. 9��"���'� (i) sin (A+B) .sin (A –B) = sin2A – sin2B
(ii) cos (A + B) . cos (A –B) = cos2A – sin2B

11. ����	����] (i) sin 500 + sin 400 = 2  sin 850

(ii) cos 500 + cos 400 = 2  cos 50

(iii) sin 500 –  sin 700 + sin 100 = 0

12. ���0������] (i) sin (A + B) = 



�
 , cos (A –B) =




�

(ii) cos (A + B) = – 

�

 , sin (A –B) = 

�

(iii) tan (A –B) = 



�
= cot (A + B),

(iv) tan (A + B) = –1, cosec (A –B) = �

4.10 �$	 	��%�&�	�	 	��(Heights and distances)��
7� ��� ��5�#��� ��F�",�� #��� ���� ����� (������ �"
��7�Q#�� ,� 7� �� D�
��� ��
'��1�	��� #����& ���� �1� �B� �

�"
��*O� $��� 	�� #��� ���	�
�����"	� (#�� 	�<��� �����&*
��� =�D�� 
,�=#��� 	� ���O�� #��� � �����9��� �P����
	� -����#��� �������

'� ��(�����"
��7�Q#��7� �����(#��	�$�	�� ��������
$���" 
#���$ �� ������N���
O��"
��
�"
��7� �RS�
��� ��
'��1�	��� #��� ��� �


#�
��#�� :<�
��� &T�$�
	�� �����9>� $U� ��� �"�G��� ��� �P����� (���� 	�,����� ,���� �� ������� E���
��� �
���
��N�$�	�)���� ,%������� $��C� ���� ,�/����� 	� -���� #��� ����8� � 	����; �� ��" 
#���$ �� ��� �"
��7
��� (��� � �$�*���
�$�E�	�� #����&����
�� �� �P����� �� ,%������� �RS���� �"=2��� �$�E�	�� �%������� 	� $2:� 
#�
���@ � ��A�/� ��� ��
���7���
������,���#���� �
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1. �G�
���� (#�� 
7�'��#����� ��N�� 
��
'�� $0� (������ �� =�<����� 
������ (������ �GV��� (#�� O�,�"� ��=#��
��
$� 
7�@ (� �$��<�� 
���'� � E�� ���� ��� �� (�� ��� 	'	��(	� 	����"	�	�'	�)*�)�	+
�����	'	)�	,���	
-���	.�	���	���	'	)�	,�� #�����&�( �

&��� W� ��=/�:� 1� ��"
��� ←→
OA � (#�� ��	���%�$ #�� 
��F� �

2. 1� ��"
��� O� �� U��5��
��� ���: ��� (#�� ,�=�#���� 1�O�>
�E
#���P�
����
����(#����N��P�,� 7
���,G�H �	� 
O��#�����
�����


,�F�&��3 ��
→ →
OA OP, � $0:� �%�'�R� �$��<�
��� ���: ��

(#����	���%�$ #����=L ��
→
OA ���

→
OP ���=L ,�/�����8�7����
#���#��

O� �� U��
��� P� �� U����� )�	+
��	��/ 	�� (Angle of eleva-
tion)� 
���'� � #�����&�( �� 1� ��"
��� (������ ��� $����� �
@ �

��=/�:� 1� ��"
��� 1�O���� ���: �� � '�O*� #��� �� (5��
��

,G�H � 	� 
O���� ,� 7�
→
OP � $0:� '�R� �$��<�
���

→
OA � (#�

��	���%�$ #����=L �� →
OP �(����

→
OA ��8�7����
#���#���O��� U��
��

P��� U�����)�	+
��	�-�	�	 	��(Angle of depression)�
���'� 
#�����&�( �� 1� ��"
��� (������ ��� $����� �
@ �

&0	1���	�)2��	�&	�3�%�4(	��	�5	6��� 	'	)�	�78�	��#	2������-���	.�	���	��	�9��-"	3: 	�)�	�
��	
&0	1��	;��	<��	�)�	+
��	��/ 	���	��)�	+
��	�-�	�	 	��#�����&�( ��)���	����=�(sextant)�����78%)>	�5	�?��
(Theodolite)� &T� �����&*
��� 
#�?� #�� �!�� � ���� ���	��� � 	� -���� #����&����
�� �� (�� � 
#������ $��
��*�������� #��� � ��" 
#���$ �� #�� �"��<��,�/����� ,%���
��� ���: ��� ,��7�>� �����9� �� �X�<� #��� �"�G��� ��� ,%������� ���
�P����� 	� �%���� #��� 
���� �

)�	+
����	<��4�	��	�@�	�	�)�	��A/��	��	78�	��)�	�
��

��=/�:� 1� ��"
��� PM � (#�� NY �� BA � (#� � $U� �� �
$U� ����� �"�8�� �� =�D�� �� U��� &��#�"
$� PM � NY��� =�D�� �� U��
P #���A� ��B� �� U��� ���� 
&�7� #����&��3 �� AB � $U� ��@ �P
�� U��5��
����APB� �Z!� #�����
������ #�����&�( �

��" 
#���$ �� #�� �	������7�9 #���� �"
��7� #��� � �P����� �� ,%������� �I#� ���� �"=2$�	�)�� �$�E�	�� ���4
��
#����&����
�� �� �,�������7�9 #��� 
,�F �

B

AM

P

��
A

P

O

>

>

(1� ��"�4.9)

(1� ��"�4.10)

(1� ��"�4.8)
�� A

P

O >

>
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�&	�(	�	
� ��17 :

(#�� �X�<� #����� ��,�
,�=5������75� $ @��� ,%���
��� (#�� �$��<�
��� �
���� 
7�@ (� �� U������ �X�<� #����
=�D���� 
#�?� #�� �!�� ��� ��� $���300 �� �X�<� #����� �P����� 	� -���� #��� �� � 3  = 1.732�

���B��	��� BC � �$��<�� ���� :� 
��F�F[>�BA� �X�<� #����� �P����� ��A� �X�<� #����� =�D�� 
���� �

(5��
���BC = 75�$ @�����m�BCA=300� �

ABC� �$
#����� ��" ���4
��

tan 300 = � BA
BC

BA
75

= ��#� R��BA = 75 tan 30

            = 75 x
1
3  = 75 x 3

3
 = 25 3 = 25 x 1.732 = 43.3�$ @��


 �X�<� #����� �P����� 43.3� $ @�� � � A � � � �

�&	�(	�	
� ��18 :

30� $ @��� �P�� 
7�@ (� �G�O��� �7"���7���� (#�� �$��<�
��� �� �G�O��� ��,�
,�=���� #� 3 � ,%���
��� �
���

7�@ (��� U�����
#�?� #�����	��� ������ $���300 ���G�O���,�
,�=������ U���������,%�������: ���#��� ���,�A���3 >

3 =1.732�

���B��	��� BA =��G�O����P�����= 30�$ @��>�m�DAP= 300��G�O�����,��
,�=�B�����(#���$��<�
��
�
���� �� U��@ �P, BP� 
,�\]�*@ � ����=*#� �� (5��
���ABP� �$
#����� ��" ���4
���m�APB= 300


��tan 300 = AB
BP BP

= 30
	�� 1

3  = 30
BP


� BP  = 30 3 $ @���= (30 x 1.732) $ @��

= 51.96 $ @�� � � A � � � �

�&	�(	�	
���19 : �(#��NY�AB�����,�
,�=�B�������	���%�$ #�����<�
��F������ :�,���@ ��� U���P���Q���
B� 5������ ,%������� &��#�"
$�a $ � ��b� $ � ��P� ��Q,� NY��� =�D��A� ��� 
#�?� #�� �!�� ��� ��� $��� &��#�"
$
�0����0 ��&,� ���� = 900�
��
���NY����P�����AB�	� �%����#��� �

���B��	��� $
	�#����AB = h� $ @�� �� ,�A�� �3 �BP = a� $ � ��BQ = b� $ ̂ >
�APB = �, �AQB = ��(���� ����� = 900

300

(1� ��"�4.12)B

A

P

30
�$

 @�
�

D>

300

300

(1� ��"�4.11)

B

A

C
75� $ @��
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AQB �$
#����� ��" ���4
���tan ��=
AB
BQ

h
b

=

APB �$
#����� ��" ���4
���tan ��= AB
BP

h
a

=

��
$� 4���>�tan (�����) =
tan tan

1 – tan tan
α β

α β
+

.

                      = 

h
a

+ h
b

1 – h
ab

2  = h(a b)
ab – h2

+
	 cot (�����) = 

ab – h
h(a + b)

2

������$���"�cot (�����) = �cot  900 = 0

�� ab – h2 = 0  	�h = ab $ ̂ ��   AB = h $ ̂ = ab $ ̂ � ���

�&	�(	�	
� ��20 :

�%&�*��� 
#�?� #�� �!�� ��� ��� $���300� �
���� 
��
<�� 
7�@ (� NY��� 3����� 
,�\]�*� 
&
��>� �%&�*��

#�?� #���!�� ������ $���450�
��
<��3�����
,�\]�*����_5������30�$ @���#�$B ��NY@ ����P�����	� -����#��� �
� 3 =1.732)

���B��	��� 1� ��"�4.14� 
���AB� NY��� �P����> BD���BC�&��#�"
$�NY���3���
,�\]�*�
&
��
��
<�

�%&�*��� 
#�?� #�� �!�� ��� ��� $���450� ��300� (����CD = BC – BD = 30� $ @�� �

$
	�#���� NY��� �P�����= AB = x� $ @��

BAD� �$
#����� ��" ���4
���tan 450 = � x
BD

	�BD = 
x

tan 450  = x
1  =  x

��BAC� �$
#����� ��" ���4
���tan 300 = � x
BC �	�BC = 

x
tan 300 =

x
1
3

= x . 3

�"=2�	��&����BC – BD = DC = 30� $ ̂ �	�x 3  – x = 30

	 x = 
30
3 1–  = 

30( )
( )
3 1

3 1 3 1
+

+( – )  = 30( )3 1
3 1

+
–

        = 
30( .732 )1 1

3 1
+

( – ) = 30 .732x 2
2  = 15 x 2.732 = 40.98 $ @��


�NY@ ��� �P����� = 40.98� $ @�� � � A � � � �

300

(1� ��"�4.14)
B

A

CD
450

30� $ 

(1� ��"�4.13)

B

A

P � �
Q

h� $ 

b� $ 

a� $ 
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�&	�(	�	
� ��21 : 
7�@ (� �����9� ������100� $ @��� �P�� (#�� �$��<�
��� �
���� 
7�@ (� NY��� =�D�� �
��,�
,�=��� 
#�?� #�� ���	��� ��� ��� $��� &��#�"
$�300� ��600 �� �����9��� �P����� 	� �%���� #��� �

���B��	��� $
	�#����AB =� �����9��� �P����� �� CD � (#�� �$��<�:� NY �

←→
BP ��%��GV������$�8����
��F��
��
'��m�PBD = 300���m�PBC = 600���CD = 100�$ ̂

$
	�#���� �����9��� �P�����AB = x� $ @��� �� DQ BP ACII II

�  m�BCA = 600 ����m�BDQ = 300

BQ = AB – AQ = AB – DC = (x – 100) $ ̂

BQD� �$
#����� ��" ���4
���tan 300 = 
BQ
QD

	�QD = 
BQ

tan 300 	�QD = 
x – 100
tan 300 ........(i)

BAC� �$
#����� ��" ���4
���tan 600 = AB
AC 	�AC = 

AB
tan 600 	�AC =

x
tan 600  ........(ii)

$���"�QD = AC ��
��(i) ��(ii) ����
x – 100
tan 300   =

x
tan 600

	�� x – 100
1
3

x
3

= 	 3 (x – 100) = 
x
3 	� 3 ( x – 100) = x �	�3x – 300 =  x

	� 3x – x  = 300 	� 2x = 300 	� x  = 150

������9��� �P�����150� $ @�� � �

-��	��'	�	��- 4 (c)
C�	 D��	�.	�3E

( 3 = 1.732)
1. 
7�@ (� �G�O��� ��,�
,�=� ���� (#�� �$��<�
��� (���� (���5������120 $ ̂ � ,%���
��� ���: ��� 
#�?�� 

�� U��
��� �G�O��� �7"���7��� 
#�?� #�� �!�� ��� ��� $���300 
��
'�� �G�O��� �P����� : ��� #��� �
2. 27 $ @����P��(#�������]�����=�D�����(#��4����4���
#�?� #�����	��� ������ $���300 �������]��5�����

4����4��� ,%������� 	� -���� #��� �
3. 2 $ @��� �P�� (#�� ,�=�#�� 
,�F '��� 
&>�24 $ @��� ,%���
��� ����� (#�� NY��� 
#�?� #�� �!�� ��� ��� $��

300 ��NY����P�����	� -����#��� �
4. (#�� � 9 � (#�� #��`���� =�D�#��� a=�� #����3 �� � 9 ��� ��,�� 
,�=���� #��`���� ,%������� 3 $ @�� �� � 9 @ � �%�$ 

����600 
�����	��� ��� 9 ���
,�\]�*�: ���#��� �

600
300

600

300

(1� ��"�4.15)

B

A

D

C

Q

P
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5. 1.5 $ @����P��4
��,�=�#��(#��
#��5��]��5������12�$ @���,%���:�(#���� U������
,�F '���
&>�
#��5��]����
=�D���� 
#�?� #�� �!�� ��� ��� $���600 �� 
#��5��]����� �P����� 	� -���� #��� �

6. �%&�*���
#�?� #���!�� ������ $���600 
��
<��
7�@ (�73���3�����
,�\]�*�15 $ @����
'�� ��73��
�P�����	� -����#��� �

C, D��	�.	�3E
7. 300� $ @��� �P�� (#�� �����9� ������ (#�� �$��<�
��� ���: ��� 
7�@ (� NY��� =�D�� �� ��,�
,�=��


#�?� #�� ���	��� ��� ��� $��� &��#�"
$�300� ��600� 
��
'�� NY��� �P����� 	� -���� #��� �
8. �%&�*��� 
#�?� #�� �!�� ��� ��� $��� 600� ���� 450� #��� ��"��� ����
������� (#�� NY��� 3����� 
,�\]�*� 24

$ @����G�b ����'�� ��NY����P�����	� -����#��� �
9. (#�� �$��<�� �%�$ � ��
���40� $ @��� ��*��E�	�
��� ,���@ � F�c� '�R� �����
��� 
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�L��L� �M!"+� 88 ����� �
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�
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 �
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(� �"�� ��
�
X�� W� r 
�L��L+� �� �./� �"�� ��
�
X�� W� (r+7) 
�L��L +
� �
(� �"� I� �./� �"�� ���M!� 45
"�
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� 45
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⇒
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7
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�
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�
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+
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2
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7
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(�"�� ��
�
X�� W� 7 
�L��L� $�%� �./� �"�� ��
�
X�
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�L��L+ G>8�H

��	.��@8 : OAXB �08"�
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��� .���#� ����
�
600 $�%� �08�� 
"K�� O+� AOB 	������
����#�
� I� �08"�
� OAXB �� ����#�
�
�(��
	� (�)��� "�+� � � � � � π 10
 �−~

��	�	$ �
�
("�� �08�� ��
�
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180 3
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� ,��� W� 2
3

6
3
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�
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π π

AOB 	�����
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-�� 	�����+
� AOB 	������� ����#�
� W� 3r $""+

� _ _ _ _ _ _ _ _ _ � W � 3
6

3

r
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�
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� W � 9
6

9
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=
+ G>8�H

O

A B

X

600

[ ��	�� 5.5]
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 �0A93�
1. (a) �08�� ��
�
X�� (i) 10 
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�L��L�� (iii) 14 
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"
	Z π 22
7� �−~

(b) �08�� ���M!�(i) 34.9 
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�L��L
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�L��L�� θ  = 450 
-
:�L 
"
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"
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.L��L��L = 22 
.L��L�
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"
	Z

3. (��Q:��!	���=Q��./�"��>8����� + π 22
7� �−~
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�L��L� �����	� �
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-
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�
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8. ������ $"
"K��"� �08�� ��
�
X�� �@��� �(��
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"
	�
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�
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��� �
T
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10. 7��L���
�
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11. 
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�
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16. �
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�"�� ���
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	�
-�Z π 22
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17. 20� 
�L��L� �#,�� �
-�� ��=�C� $"� �����	�� �3
�� $"� �08� �<:���!	� 
-
:� �08�� ���M!
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18. 42� 
�L��L� �#,�� �
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7� �−~
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�L��L� ��
�
X�� ��=�C� $"� �08"�
�� ����#�
�64 
�L��L� 
-
:�� �08"�
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 (b) $"��08
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"
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�
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�
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21. 
"V9��� $"� �08�� $"� �
��� .���#� ����
�� 400� $�%� �(�� $"� �08�� ��� 
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��600�
-
:�>����08����
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X����(��
	�(�)���"�+

22. 
�
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�� ��(���� "`
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1
3
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�L��L� 
� ,��� ��=�C� $"� �
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"
�+���(����"`
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� ,���(�)���"�+ π 22
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23. 
�
��$��08�����M!��(��$"� �08�����M!��	�(���9+���5���08��10 
 � L � � L � � � � � � 	 � � 
 � �

.���#�����
��300 
-
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	�
-��(�)���"�+ π 22
7� �−~
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��$��08�����M!�6.282 
-
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"
	Z ( π −~ 3.141)

25. 
�
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�
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5.3 ��
B
 ��
�;	
 �
 ��
5C�
 �<#�D;
 (Area of a circle, sector and a segment) :
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 � + � � � � � � � �
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+
5.3.1. ��
	�	�
 �<#��
 �<#�D;
 $�6�3
 (Determining the area of a circular region) :
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��$� �08� $�%� $-
�� �<
��=�� �%
4
�"�� $"���
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 �<#�
 (circular region)
"�-
4
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�� �
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&	��� 
&	�'�� "�-
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4
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(� 
"K��J� 
"
9� ��=�C� 4��^�%��"� ��
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�8��
(� ABCD� 
&	����� 
&	�'�� �-�	� �08�� 
&	�'�� ��
(� 
-�+� ��� �%��
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4
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�	� 
&	��� 
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X�+
222� �08�� 
&	�'�� W� �X����M!� × ��
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�08�� 
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�
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�
� ����	� 
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�	�� �08�� 
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�
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5.3.2. ��
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 �;3�
 �<#�D;
 (Area of a circular annulus) :

��	�� 5.7� 
 � � S1� I� S2� ������ $"
"K��"� �08� $�%� O
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"K� +� S1� I� S2� � �08�@��� ��
�
X�� 45
"�
�� � r
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�
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-
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5.3.3. ��
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 (Area of a sectorial region) :
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+
	�
�� �
9�*� 
4�� OAXB� �08"�
�� ����#�


W � OA� ��
�
X�� c� A X B �� 
� ,��� c� OB ��
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�� �
�� A X B �� .���#� ����
�� 600+� ��
�
X�� OA �� OB

$�% � A X B "�� �b=�� "��5!�
� �08�� 
&	�'�� 9 π ���� $""� 
-
:�

(i) ��5�� �08�� ��
�
X�� (�)��� "�+

(ii) OAXB �08"�
� I� $-
� �3
�� �;�	� �08�� 
&	�'��� �(��
	� (�)��� "�+
29.  8�
�L��L���
�
X����=�C��08
�

(i) 8�
�L��L������	���
��@
�
�
e��	�&���	���08����
&	�'��(�)���"� +
(ii)�8 � �
�L��L�
� ,�����=�C���
��@
�
�
*��	�&���	���08����
&	�'��(�)���"� +

G � �~ 1.732HG��~�3.141H
30. 20�
�L��L���
�
X����=�C�$"��08
��
"K�
��600�
"
9�>�!(Q�"��5!�
��08����
&	�'��(�)���

" � + �( ~ . )( ~ . )� ���� ��	�π

31. 10�
�L��L���
�
X����=�C�$"��08
��
"K�
��1200�
"
9�>�!(Q�"��5��
��08����
&	�'��(�)���
"��+�G��~�3.141H�G � �~ 1.732H
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5.4.
 �%K�
 �$
 ��	L��
 ��M#;�
 �<#�D;
 (Surface area of regular solids) :

�$
 ��	L�
 (Solid) :

��	���(� 	�
�� �-��� ��
�� �5����� 
����� :�-
(�#�� 
�
:��
./�� I� �
"��� �	�
��� ��
5��
(;
�%�b=�
�� �
���*+� 
4>F� ��
5�� ��	�� ����� �01
�� 
5
�
:� ��
5����� "�*�� �%=� ����"�� :
���
-
$�%� �(�� �
���� =�(��� �
��� �
� ��� �3
�� �J
(� �M!"
�� "��� �
-� 
�� ��"
�� ��
5�"�� ,(� ��
5�
(solid)� "�-
4
$+� $��./�"� 	�(�� ���
�� ��T0	� 
-
�5
$+� 45
� 6� 
� ,��� �
� :�
� ���
�� (lengthwise),

���J� �
� I�
�� ���
�� (Breadthwise),� 
�M� �
� >?	
� ���
�� (Thicknesswise)� �
� (Heightwise)+

� ,���� ���J�� >?	
"�� �
	�
� (Dimension)� "�-
4
$+� 
	9�� ��
	�"� ,(� ��
5�� 	��7�
	��"� (Three

dimensional) �
�+
��T� ,(� ��
5�"�� ���� 
=�9#
�� ���A� "�
4
$+� (�R��C� �
"0	�� ��=�C� ,(� ��
5�"�� ��P�

,(� ��
5�� (Regular solid)� $�%� (�R��C� �
"
�� (5!�
� ,(� ��
5�"�� ��P�,(� ��
5�� (Irregular

solid)� "�-
4
$+� $-�� �3
�
�� 	�
�� ��������� ��:����� 
"
(�� I� 
�
:"� ���� 
"
	"� (�R��C� �
"0	���=�C
,(� ��
5�� �%�"�
�� ���	� 
-� +

������� �����:��� � � � � 
"
(� ����
�
:"
[ ��	��5.15]

#;
 �	
 ��M
 (Surface) :

�9�	� =
f
�� 	�� (Surface) $"� �%Y
� ��-#(� ��+� ,(� ��
5��� >����
�"�� �b=�"��� 	�
��2
�� M
�9
� "��-�$+� 	�� �
� �01�@
�
� ,(� ��
5����� �
"0	�� �9
4
�5
$+� 	�� ���� ��"
��
45
 6� ��	�� (plane surface)� I� �"�	�� (curved surface)+� ��
�� �
"��� �	�
��� ,(� ��
5���./�"
�

"��� ��	��01�� �
T
� 	��
��� 
�
:���� '�;(�� �	�
��
�� >��� ��	�� I� �"�	��01� $�%
'����:�
�� 
"��� �"�	��01� 5
$+


4>F� 	�
�� ��-Q�	� ���
�
��� ��K��� �%
4
�"� 
��
���� ��
	�"� ��K�� 
�-�� 	�� >�
�
���J
(� "�<�� 
�-�� 	�"�� ��	�� "�-
4
$+� ��(\� �-��� "
��� I� �
"���� �01� 
���:�� >�
�� ��!
��#&
� "��� 
��� "����� ��	�� �01"�� ��	�� >�
�� ��!
:� >��� ��	�� �01�� ��
	�"� ��K�� ��=�
4
>*<�+� �
	�� �:���$� 
(�� 
���:�� >�
�� ��!
:� �:��� $"�
	�� ��K�� 
���:�"�� �b=�� "��*�� $�%
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�"��./�� ����$� 
���:�� >�
�� ��!
:� $-
� 
�
��$� ���
��

�� 
���:�� �01"�� �b=�� "��*�+� 
	9�
�:��� �01	�� $�%� �"��� �01	�� �"�� �01	�� �
�+� "�<�� �"����� ������� 
���:�� >�
�� ��!
:
$-
�� ��T� ��K�� 
���:��� 	�"�� �b=�� "��*�+� 
	9�� �"����� ������� ��	�� �
�+

�9�	��
#;�%
 �<#�
 (Region)
 &�4
 �<#��
�	��%
 �<#�D;
 (Area)�%.	:	&)
,(
��
5��� �01	��� 
&	�'�� (�)��� �
�F� 
� ,���� ���J� I� >?	
� �3��� 
4
"V9��� ������� �
�� �
�=�"+

4
-	�� 
&	�'�� �@�7�
	��"� (Two dimensional)� �
=�� �
�+
��#;
�0A93
���#�
#L� �

(a)� ������ ��	��� 
"V9��� 
e�� ��K�� (� 5!
:�
������
��
(;����
<����	��"�-
4
$ +

�������	��5.16�
��ABCD�I�EFGH���������
<����	� +
   (b)����������	����g�"��$"�����
��

��
*��"�<� +�G��	��5.16�
��ABCD�I �BCGF

����	���@�� ←→
BC �
��

��
*��"�<�H

� � � � (c)� 
"V9��� ��	�� E� �� $"� ��K�� P� �3� 
��� �;�	� 
��
� (l)� G�=^�� �
� 
��
��H� P

�3� 
��� �;�	� ��	�� E� � >����J� �(�
(�� ��T� 
��
� ��	�� :�� 
-
:�� 
�-�� 
��

(l)"�� ��	�� ��	�� :�� "�-
4
$ +

    (d)���	��5.16�
 � �FB�
��
�ABCD���	����	��:� +
5.4.1 ���#�
�$
��	L��
 ��=��
 �4,	 �

��������I���:����$"���
=P���"
��,(���
5� +�$��./�"���S(���%Y
���2
�����"�M
�9

(��Q
�����
4
�*� +

��	��5.17�
��E1�$�%�E2���������
<����	� +�L����
��
�E1��"��
"���
�
��$���K�
��
*�
"��*� +�C1, E1�>����J�$"������
�X�"��(Simple Closed Curve)�G�"�
��
�(��"��
*��"���(5!
:
	
-
"�� ����"�� "�-
4
$ +� �"����� �
��� I� ��
<� ��K�� �@�� $"� I� ���(Q� 
-
:� �"���"�� �
�X�"�
"�-
4
$ +��08�$"������
�X�"���>�
-�9 +H�P, C1��@
�
��
�X�
&	��B1 (C1�$�%�$-
���<
��=�
�%
4
�H�>����J�
4�
"V9���$"���K��
-> +�P��3
���L��-�	���
<��
��
�E2�"��Q���K�
��
*�
"
:��

�� PQ �
��
����
��
 +�$-�����B1�>����J���T���K���
�F�����5!�
�
��
�����./�"��
���
S�"��$"���/�C�
"�-
4
$ +

��:����S�I���	��E2���
*�
%=�C2��"���@
�
��
�X�
&	��B2�
-� +�>?	���9�	��
-
4�
�
$-
� ���
9� "�
4
�� �

�� 
4� C1� I� C2� �"��@�� ������ (Congruant)� 
-
�� $�%� B1� I� B2� >���

&	�'����
(�
-� +��5
�	� C1��$"��08�"��
�	������
-
:�B1�$"��08
"
��
&	��"��
�	�����
"
��
&	�

-��$�%�C2��3��(������08��
�	������
-��$�%�B2���
&	�'����=�C��08
"
�
&	���
�	�����
"
�

&	��
-� +

H

A B

G

D

FE

C

[ ��	��5.16]
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B1�G"��
�B2�H�
���"����:����S���N"��
�	
�	�	�
(Base)� "�-
4
$ + � M� � � K � � C1� > � � � � J � $ � % � N� � � K � � C2

>����J� + � MN , L� �-�	� ��
<�� 
-
:� MN � 
��
��"�
��: �� ���$"��-�$��1�
(Generator)
�	
-$���5	
"�-
4
$ +�C1�"����:�����8	 ���*1���*�
(Directrix)��

$�3	��
 ��5	
 �%.	:	& + � C1� � 3 
 � � � � ; � 	 � � � T

�
(
������./�"���%
4
�
����:����������M#;��

�	>G���M#;�(Curved surface or Lateral surface)� �S�	
-�$ +� �"��01	�� I� ���� �
M
��� �%
4
�
�� ��:����
��+���M#;� (Total curved surface)� �S�	� -�$ +� � ��	�

B1

P

L

E2

E1

S

[ ��	�� 5.17 ]

Q
B2

5.16� 
��ABCD� I�EFGH� �
�	
,(
"
�� ��:����� ���� �
M
� +�ABFE, BCGF, CDHG $ � % �DAEH

�
�	
&	���./�"���%
4
��
->*��>A���:������
=@��01	� +�G��=Q�6�$S

��C1 "
-
"��"-��
ZH
��	��5.17
 � (i) B1
�:��O���
�.%N%-	�	�
�<#�
�.�/
S
�%
���-��*
(Prism)�"�-
4
$�$�%�L


�� 
�E1���	��:��
-
:�S�"��$"���;
���-��*
(Right Prism)�"�-
4
$ +
 (ii) B1
&�
�	�	F���
�<#�
�.�/
S
&�
��	F�
�$
(Parallelopiped)
�.� )��	3#�$

(Cuboid)�$�%����$
(Cube)�>�
��$"���
=P���"
�����
<��,( +�$-������J�	�
��L�
��
�E1

��	��:����M!"<����,(�����J�	�
��PQ��-�B1����
-��
(;��
� ,�����
( +
(iii) B1
&�
��
	�	�
�<#�
�.�/
S
&�
��
N"���
��/�C�
(circular cylinder)
&�4
L
��5	

E1
��#�
/0
�.�/
S
&�
��;
��

N"���
��/�C�
(Right circular cylinder)
�.� )�����������
�	
,(����,(����:����$-��,(��
5����./�"���S(�I�����J�	����
�0=��
4
��F�$�

(�$"�����
����A
��<� +�
	9��$�
(;���
=@��01	��G�"��01	�H��������01	��I��
�	(�(�)������	�
��#�$"
��� +
������:����(��
<�(��Q���	�
��#���
�
��"�
4
$�7

(a)��
=@���01	��G�"��	�H��
&	�'��W��
M
�������#�
�[�>?	

(b)�������01	���
&	�'��W��
=@��01	���
&	�'��c�2�[��
M
���
&	�'�
(c)��
�	(�W��
M
���
&	�'��[�>?	


5.5 ���-��*�
 ��M#;�
 �<#�D;
 (Surface Area of a Prism) :

� � � � � � � � 
 � 
 � � $ � � � 	 � � � � � 
 � C � 	 � $ "
,(��
5�+� $-
�� ��
<��	�� �@�� ��
<�� I� �����
���
� �!"� 
&	�+

$ - 
 � � � � 
 < � � � 	 � � @ � � � 3 � � � 
 4 > F

�
��"� >�
�� ���������� ��
��
(� -�$� 	
-
"�� ����

M

N

[ ��	�� 5.18 ](a) (b)

C1

C2



[ 140 ]

�
� �
M
�� (Base)� "�-
4
$+� ��������� ����� 
�
��$� 	������� �	������� P./����� �=���
"
�� �	�
��

4
"V9��� ���
� �!"� 
&	�� 
-
�5
$+� ������ ����#	� ��	���"�� =#P�� ��	�� "�-
4
$+� �����
�
"
�� �(��

�� ��������� (
�"�9� "�
4
$+� 45
7� 	�����
"
�� ��������� �	�����
"
�� ��������� P./���
"
�
�������� �	�
��+� ��
<#�� 	��@�� �3
�� :�#�� ���	
� (Perpendicular distance)� "�� ��������� >?	

(height or altitude)� "�-
4
$+

����� I� =#P�	�� ��	#	� ��������� �(�� ��	��
(;�� �
=@�� �01	�� "��
� �
=@�	�� (lateral
surface)� "�-
4
$+� ��������� �
=@�	��
(;�� �%��
� ������ �
-��
(;� �%��
� �-� ��
(+� �5�
	�� 	�����
"
�
��������� 	�(�
�
���� �	�����
"
�� ��������� �
��
�
���� P./���
"
�� ��������� *�
�
��� �
=@�	�� 5
$�
�
=@�	���./�"� �
�	
&	�� �
� �
�
<��"� 
&	�� 
-
�5
<�+� 
4>F� ��������� �
=@�	���./�"� �
�	
&	�� �5�
	�
� 
 = @ � 	 � � � . / � " � � � 
 - � � � � � � � � $ � % � = # P � 	 � � � � 	 � � : � � 	 
 - 
 " � � � � � � � � � � � � � � (Right Prism)

"�-
4
$+� 
4>F� ��������� �
=@�	�� ��./�"� �
�
<��"� 
&	�� �5�
	�� �
=@�	��� �
-���./�"
��
<� ��	�� >�
�� 	#4��"�� �

�� ��
��
(� 
�� ��"
�� �������"�� #9:���*
���-��*� "�-
4
$+� ���� �������� 	���� �
S�� �<��	� 
-
�5!�
��� $	��� ��2#�
��=Q�� ��
M
(� (��Q
�� �

:
�(
� "�
4
�*�+

��������� ��	�-5.19"�� :&�"�+� $-
� $"� 	�����
"
�� �
M
�� ��=�C� ���
�������+� 4
-
�� ����� I� =#P�	��@�� 	�����
"
�� 
&	�� I� �
=@�	�� 	��� �
�	
&	�+
�8��
(� ��������� ����� I� �
=@�	���./�"�� 
&	�'�� (�)��� "�
4��+

�
("�� ��������� >?	
� AD = BE = CF = h $""+

� ���� Δ ABC�� �
-�	���� 
� ,��� BC = a� $""�� AC = b� $""� $�%� AB = c� $""

BCFE� �
=@�	��� 
&	�'�� W� BC . CF = ah� ���� $""
ACFD� �
=@�	��� 
&	�'�� W� AC . AD = bh� ���� $""
ABED� �
=@�	��� 
&	�'�� W� AB . BE = ch� ���� $""

222 ��������� �
=@�� �01	��� 
&	�'�� ��C�� W� (ah + bh + ch) = (a+b+c)h� ���� $""+
222 � ��������� �
=@�� �01	��� 
&	�'�� W� �
M
��� ����#�
� × >?	


��������� ����� �01	��� 
&	�'�� W�(BCFE �
=@�	�� c�ACFD� �
=@�	�� c�ABED� �
=@�	�H�

&	�'�� c� 2 × Δ ABC �� 
&	�'�

222 ��������� ����� �01	��� 
&	�'�� W� �
=@�� �01	��� 
&	�'�� c� 2� �
M
��� 
&	�'�+

D E

F

A B

C
[ ��	�� 5.19 ]
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5.6. ��
N"���
$��	
��;
��/�C�
����
�%;��
�����M#;�
�<#�D;
(Curved surface
area of a right circular solid cylinder) :
� � : � � 
 . / � � � " � 
 � 
 - 
 � � ( 5 ! � 
 � 
 � ( � � � : �

�	�
��� ,(� ��
5���./�"� �08����"� ���� ��:���
�
"0	��� ��<�+� $��./�"� ��#&
� "
:� 
��!�� 
4�
$� ��"
�� ,(� ��
5��� 	�(�
�
��� 	�� �*�+� 	�(�
�
��
	���3������
�
�����	��(plane surface)�$�%
� ( � � � � � " � 	 � � (curved surface),
$-�� ��	�� �01�@�� �08
"
�� 
&	�� I� $�

(� ��
(� 
&	�'�� ��=�C� $�%� ���b�� ��
<�+� $-�
	��@�� �3��� 4
-
� >�
�� ��:������ ��
��
(� 	
"�� ����� (Base) $�%� �(���"�� =#P�	�� "�-
4
$+
���� �08
"
�� 	��� 
"K��@��� �%
4
�"� ���
��
"�� ��:����� �&� (Axis)� "�-
4
$+� 
"K��@�
�3
�� ���	
� OO/"�� ��:����� >?	
� (Height)� "�-
4
$+� �&�� >��� �08����"� 	�� ��	�� :�
��<�+� 
	9�� $� ��"
�� ��:�����./�"����;
��
N"���
��/�C�
(Right circular cylinder)� "�-
4
$+
�	> G �� ' 
 � �# ���
 PQRS � $ " � 
 � 
 � 

�
�	
&	�
"0	�� "
��+� $-
"�� ��
./�� PQ I
SR� �
=@�"�� 
4
�� � "
:� $-
� �@�	#�� ��	����
$"� ��:���� �0C�� "���+

� ��:����� �"�� �01	��� 
&	�'�
= PQRS� �
�	
&	��� 
&	�'�� = PS × PQ= ��:����� �
M
��� ���M!� × ��:����� >?	


��:���� ������ ��
�
X�� r� $""�� >?	
� h� $""� 
-
:

��:����� �"��01	��� 
&	�'�� W� 2 π rh ���� $""
(��
� ��:����� ����� �01	��� 
&	�'�
W� �"�� �01	��� 
&	�'�� c� 2� �
M
��� 
&	�'�� W� 2 π rh + 2 π r2 = 2 π r (h + r)

222 ��:����� ����� �01	��� 
&	�'�� W� 2 π r (h + r) ���� $""+

5.7. ��
93
�;3N"���
DP	
��;
��/�C��
��M#;�
�<#�D;
(Surface area of a right annular circular cylinder.)

���(�#�� :�-
� �
���� �	�
��� �h�� 'U
5!�
� ,(� ��
5�� $-�� 
=�9#�� ��<�+� $��./�"�
���J
e�� �08#�� ���� (Circular Annulus) �
�+

O

O/

� " �
�01	�

�&

�08
"
�� ����

=#P�	�

[ ��	�� 5.20 ]

QR

PS 2 π r

2 π r

[ ��	�� 5.21 ]

R(Q)

S(P)
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$5!
�� ������ �"�� �01	�� 5
$+� �<B� �"�7�01	��� ��
�
X�"�� �<B��
�
X�� r� $�%� �-�B
�"�	��� ��
�
X�"�� �-�B� ��
�
X�� R� �@
�
� ����	� "�
4
$ +� 'U
� ��:����� "
(J�� 
�

��� t� �@
�

����	� "�
4
$+� 
4>FS

�� t = (R – r)� $""+

��:����� ��
�� 	��(

�� >?	
� �	�M!"� 
-
�5!
:� >?	
� =i� ����
8�� 
� ,��� =i� ���-0	

-
�5
$+� ��
=P	B� (���./�"� 
&	�
�� $-
� ��4���+

,(� ��
5��� �01	�� G�"�	��H� �
M
�9� ��	���� 
-:
�
�01	��� 
&	�'�� W� �"�	��� ����#�
� × >?	
+
$-
�� ������ �"��01	�� �3��
�-�B�01	��� 
&	�'�� W� 2 π Rh $�%� �<B�01	��� 
&	�'�� W� 2 π rh

222 'U
� ��:����� �
=@�� �01	��� 
&	�'�� W� 2 π (R+r)h ���� $""+
����� �01	��� 
&	�'�� W� �
=@�� �01	��� 
&	�'�� c� 2 ×� �
M
��� 
&	�'�
�� �
M
��� 
&	�'�� W� π (R2 – r2)

222 'U
� ��:����� ����� �01	��� 
&	�'�� = 2 π (R+r) h+2 π (R2–r2)

= 2 π (R+r)h + 2 π (R+r) (R–r) = 2 π (R+r) (h+R–r) = 2 π (R+r) (h+t)


4>FS

�� G
�MH� Gt H� = R – r

� 'U
� ��:����� ����� �01	��� 
&	�'�� = 2 π (R+r) (h+t) ���� $""+
��	.�#
��>?	�;9
 ����-��*�
��M#;
�0A93�
 �
��	.��@1: 15� 
�L��L� >?	
� ��=�C� $"� ���� ��������� ����� $"� ��
"
9#� 	�����+� $-�� 	������

")�� I� 
�
��$� �
-��� 
� ,��� 45
"�
�� 13� 
�L��L� I� 5� 
�L��L� 
-
:� ��������� ����
�01	��� 
&	�'�� (�)��� "�+

��	�	$ �
���� ����������� ����� 
�
��$� ��
"
9#� 	�����+� $-�� 	������� ")�� I� 
�
��$� �
-��� 
� ,��
45
"�
�� 13� 
�L��� I� 5� 
�L��L

222 ������ �(�� �
-����� 
� ,��� W� 13 52 2− � W � 144 � W � 12� 
�L��L
��������� ������ 
&	�'�� =

1
2

 × 12 × 5� W � 30� ���� 
�L��L
��������� �
=@�� �01	��� 
&	�'�� W� ������ ����#�
� × >?	


O
r

R
[ ��	�� 5.22 ]

r
R
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= (5 + 12 + 13) × 15� W� 30 × 15� W� 450� �L
�L��L
222 ����� �01	��� 
&	�'�� W� �
=@�� �01	��� 
&	�'�� c� 2 × ������ 
&	�'�

W � (450 c� 2 × 30)� �L
�L��L� W� 510� �L
�L��+ G>8�H
��	.��@2 : 
�
��$� 	�����
"
�� ���� ��������� ����� �01	��� 
&	�'�� 1368� �L
�L��L� $�%

������ �
-�� 	���� 
� ,��� 45
"�
�� 10� 
�L��L�� 17� 
�L��L� I� 21� 
�L��L� 
-
:
����������� >?	
� (�)��� "�+

��	�	$ �
����������� ������ �
-�	���� 
� ,��� 45
"�
�� 10� 
�L��L�� 17� 
�L��L� I� 21� 
�L��L+

222 ��������� ������ ����#�
� W� 2s� W� (10+17+21)� W � 48� 
�L��L
222 ������ 
&	�'� W � s s a s b s c( )( )( )− − − � W� 24 24 10 24 17 24 21( )( )( )− − −

= 24 14 7 3× × ×  = 84� �L
�L��L
�
("�� ��������� >?	
� W� h� 
�L��L

222 ����� �01	��� 
&	�'�� W� �
=@�� �01	��� 
&	�'�� c� 2 × ������ 
&	�'�
� � � � � � � � � � � W� ������ ����#�
� × >?	
� c� 2 × ������ 
&	�'�
� � � � � � � � � � � W� (48 × h + 2 × 84)� W � (48h + 168)

"�<�� ��=Q
(��

��� ����� �01	��� 
&	�'�� W� 1368� �L
�L��L
⇒ 48h + 168 = 1368 ⇒  48h = 1368 – 168 = 1200

222 h = 
1200

48
� W � 25� 
�L��L ⇒ � (�
)��� >?	
� W� 25� 
�L��L G>8�H

��	.��@3 : 24� ����� >?	
� ��=�C� 
�
��$� ���� ��������� ����� $"� ��P�� �-����
"
�� 
&	�+� $-�
��������� �
=@��01	��� 
&	�'�� 864� �L��L+� >A� �-������ ��
	�"� �
-��� 
� ,��
6 ��L� 
-
:� $-�� 
&	����� �
-��%��
� (�)��� "�+

��	�	$ �
�
("�� ��P�� �-����� 
&	��� �
-��%��
� n 4
-
�� ��
	�"� �
-��� 
� ,��� 6 � � L
⇒ ����#�
� W� �
-��� 
� ,��� × �
-�� �%��
� W� 6n ��L+

"�<�� �
M
��� ����#�
� W
�
=@��01	��� 
&	�'�

=
864

W� 36� ��L>?	
 24

⇒ 6n = 36 ⇒ n = 6 ⇒ ��P�� �-������ �
-��%��
�  6

222 ����� 
�
��$� ��P�� P./���+ G>8�H
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��/�C��
��M#;
�0A93
 �
��	.��@4 : $"� (��
� ���� �08����"� ��:����� ������ ��
�
X�� 7� 
.L��L� $�%� >?	
� 25� 
.L��L


-
:� $-
�� �"�� �01	��� ����� �01	��� 
&	�'�� (�)��� "�+ π 22
7� �−~

��	�	$ �
 ��:����� ��
�
X�� (r) = 7� 
.L��L�� >?	
� (h)� W � 25� 
.L��L
222 $-
�� �"�� �01	��� 
&	�'� W� �
M
��� ����#�
� × >?	
� = 2 π rh� �L
./L��L

= 2 × 
22
7

 × 7 × 25� = 1100 �L
./L��L

������ 
&	�'�� W� π r2 � W� 22
7

 × 72 W � 154� �L
./L��L
222 ��:����� ����� �01	��� 
&	�'�� W� �"��01	��� 
&	�'�� c� 2 × �
M
��� 
&	�'�

= (1100 c � 154 × 2) = (1100 + 308) = 1408� � L 
 . / L � � L +
222 ��:����� �"�� �01	��� 
&	�'��� ����� �01	��� 
&	�'�� 45
"�
�� 1100� �L
./L��L�

1408� �L
.L��L� �
�+ G>8�H
��	.��@5 : 
�
��$� :�-
(��� 
� ,��� 84� 
�L��L+� $-
�� 
�M� 2� 
�L��L+� ������ �-�B��
�
X�

8� 
�L��� 
-
:�� ����� �01	��� 
&	�'�� (�)��� "�+ π 22
7� �−~

��	�	$ �
 :�-
(��� 
� ,��� (h)� W� 84� 
�L��L�� ������ �-�B� ��
�
X�� (R) = 8 
�L��L� $�%

�M� (t) = 2� 
�L��L� ⇒ � �<B� ��
�
X�� (r) = 8 – 2 = 6� 
�L��L
: �-
(��� ����� �01	��� 
&	�'�� W� 2 π (R+r) (h+t) �L
�L��L
= 2 × 

22
7

 (8 + 6) (84 + 2) = 2 × 
22
7

 × 14 × 86� W � 7568� �L
�L��L G>8�H
��	.��@6 : 
�
��$� :�-
(��� 
� ,��� 100� 
�L��L� $�%� :�-
�� 
�M� 4� 
�L��L+� $-
�� ����

�01	��� 
&	�'�� 9152� �L
�L��L� 
-
:� ������ �-�B� ��
�
X�� I� �<B��
�
X�� (�)��� "�+
π 22

7� �−~

��	�	$ �
�
("�� :�-
(��� ������ �-�B� ��
�
X�� W� R� 
�L��L� $�%� �<B� ��
�
X�� W� r 
�L��L +
222 
�M� (t) = (R–r) = 4� 
 � L � � L L L L L L L L L L L L L L L L L L L L GiH

>?	
� (h) = 100 
�L��L� I� ����� �01	��� 
&	�'�� W� 9152� �L
�L��L+

⇒ 2 π (R + r) (h + t) = 9152 ⇒  2 × 
22
7

 (R+r) (100 + 4) = 9152

⇒ R + r = 
9152 7

2 22 104
×

× ×
 = 14 ........................(ii)

(i) I � (ii) ��� 2R = 18 ⇒  R = 9� 
�L��L
222 r = 14 – 9 = 5� 
�L��L+
222 �-�B� ��
�
X�� W� 9� 
�L��L� $�%� �<B� ��
�
X�� W� 5� 
�L�� G>8�H
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�$%>9;$9 @ 5(c)

����-��*�
 ��M#;
 �0A93�
1. $"�����	�����
"
��������=�C�����������������
-��
(;��
� ,���a, b, c��>?	
�h, �
=@���01	��


&	�'��L, ������01	���
&	�'��W��@
�
�����	�
-
:�(��Q:��!	���=Q�
(;����
M
(�"�+
GaH a = 10� 
�L��L�� b = 6� 
�L��L�� c = 8� 
�L��L�� h = 20� 
�L��L� 
-
:�� L I W �J��� "�+
GbH a = 5� ��L�� b = 5� ��L�� c = 6� ��L�� h = 8 ��L
-
:�� L I W �J��� "�+
GcH a = b = 15� ��L�� c = 24� ��L�� h = 18� ��L� 
-
:�� L I W �J��� "�+

2. 
�
��$� ��������� >?	
� h,� �
=@�� �01	��� 
&	�'�� L $�%� ����� �01	��� 
&	�'�� W
�@
�
� ����	� 
-
:� (��Q:��!	� ��=Q��./�"�� ��
M
(� "�+

GaH ��������� ����� $"� ��
"
9#� ���@��
-�� 4
-
�� ")��� 
� ,��� = 40 ��L�� h = 50 ��L�� L I W

"
	� Z ( 2 −~ 1.414)

(b) ��P�� P./���
"
�� �
M
�� ��=�C� ������ �
-��� 
� ,��� 6 
.L��L�� h = 20 
.L��L� 
-
:�� L
I W 
"
	Z ( 3 −~ 1.732)

(c) ���������� ����� $"� ���
-�� 	������ 4
-
�� ��
	�"� �
-��� 
� ,��� 16 
�L��L�� h = 25 
�L��L

-
:�� L I W 
"
	� Z ( 3 −~ 1.732)

3. 
�
��$� 	�����
"
�� ����� ��=�C� ���� ��������� ������ �
-��
(;�� 
� ,��� 45
"�
�� 13� 
�L��L�
14� 
�L��L� I� 15� 
�L��L+� $-
�� �
=@�� �01	��� 
&	�'�� 840� ���� 
�L��L� 
-
:� ����������
>?	
� I� ����� �01	��� 
&	�'�� (�)��� "�+

4. 
�
��$� ��`� $"� ���
-�� 	�����
"
�� ����� ��=�C� ���� �������+� $-
�� �
=@�	���./�"�� "
��
�./
��
� �
�F� ��	�� ���� 
�L��L"�� 15� ���
� -��
�
�� �L18.90� �?�� 
-:
+� ��`���� >?	

8 3 
�L��L� 
-
:� ������ �
-��� 
� ,��� 
"
	Z G 3 −~ 1

�

	
H

5. 18� ����� >?	
� ��=�C� 
�
��$� 	�����
"
�� ������=�C� ���� ��������� ������ �
-��
(;�� 
� ,��
12� ��L�� 16� ��L� I� 20� ��L� 
-
:�� ����������� ����� �01	��� 
&	�'�� (�)��� "�+

6. 
�
��$� ���� ��������� �
=@�� �01	��� 
&	�'�� 2100� �L
�L��� I� >?	
� 30� 
�L��L+� $-
�
�
M
�� 
�
��$� ��
"
9#� 	������ 4
-
�� �0-8�� �
-��� 
� ,��� 29� 
�L��L+� �
M
��� �(�
�
-��@��� 
� ,��� (�)��� "�+

7. 
�
��$� ���� ��������� ����� $"� ���@��
-�� 	������ 4
-
�� ������ 
� ,��� 24� 
�L��L� $�%
��
	�"� ��
(� �
-��� 
� ,��� 13� 
�L��L +� ��������� >?	
� 20� 
�L��L� 
-
:�� ��������� ����
�01	��� 
&	�'�� (�)��� "�+

8. 
�
��$� ���� ��������� ����� $"� ���
-�� 	����� +� 4
-
�� �
-��� 
� ,��� 50� 
�L��L�� ��������
>?	
� 1.2� ��L� 
-
:�� ��������� ����� �01	��� 
&	�'�� (�)��� "�+� � � ( 3 −~ 1.732)
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9. 
 �
��$�	�����
"
���������=�C���������������������
-��
(;��
� ,���45
"�
��13�
�L��L��14


�L��L�I�15�
�L��L +�$-
���
=@��01	���
&	�'��1050��L
�L��L�
-
:�����������>?	
�I
������01	���
&	�'��(�)���"� +

10. 
�
��$�"
S�
./��$"����
-��	�����
"
���������=�C������������ +�$-
���
=@�	���./�"��"
��
�./
��
��
�F���	������
�L��L"��15����
�-��
�
���L�18.90��?��
-:
 +�"
S�
./�����>?	

8 � �
�L��L�
-
:���������
-���
� ,���
"
	 Z�( )� �

�

	
≅

���/�C��
 ��M#;
 �0A93�
11. 
�
��$� ��:����� ������ ��
�
X�� r, ��
�� d� $�%� >?	
� h� �@
�
� ����	� 
-
:� (��Q:��!	

��=Q��./�"� ��
M
(� "�+ π 22
7� �−~

GaH d = 16� 
�L��L�� h = 21� 
�L��L� 
-
:� �"�� �01	��� 
&	�'�� 
"
	Z

GbH �"�� �01	��� 
&	�'�� 1188� �L��L�� d = 18� ��L� 
-
:�� h 
"
	Z

GcH ������ 
&	�'�� 1386� �L
�L��L� I� h = 36� 
�L��L� 
-
:�� ����� �01	��� 
&	�'�

"
	Z

12. 
�
��$� 
�
:���� 
� ,��� 1.6� ��L� $�%� >?	
� 70� 
�L��L+� $-
� 
"
	5�� ,���
:� 26.4

$���� �J
(� ��	�� "���
���Z π 22
7� �−~

13. 1540� �������� ����
�� 
�
��$� 
�
:��� 905�� �./
��
"�� �
./+� 
�
:������ 
� ,��� $-
�
��
�� �-�	� ��
(� 
-
:� $-
�� 
� ,��� (�)��� "�+ π 22

7� �−~

14. 
�
��$� ��:���� �
"
�� TE�� �"��01	�"�� �j� "���
�� ��	�� �������"��60� ���
� -��
�
�
792� �;
� �?�� 
-:
+� $-
�� ������ 
&	�'�� 154� ���� ����� 
-
:� $-
�� >?	
� 
"
	Z

π 22
7� �−~

15. 
�
��$� ����
�� 
�
:
� 'U
� ��:����� �-�B� ��
�
X�� 5��L+� $-
�� >?	
� 14��L� $�%� ����
�01	��� 
&	�'�� 748� �L��L� 
-
:�� $-
�� �<B� ��
�
X�� (�)��� "�+ π 22

7� �−~

16. 
�
��$�:�-
�(����
� ,���84�
�L��L +�$-
��
�M�2�
�L��L +��������-�B���
�
X��8�
�L��L

-
:��������01	���
&	�'��(�)���"� +

17. 
�
��$�:�-
�(���
� ,���100�
�L��L�$�%�:�-
�����J�4�
�L��L +�$-
�������01	���
&	�'�
9152��L
�L��L�
-
:��������-�B��
�
X��I��<B��
�
X��(�)���"� + π 22

7� �−~
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5.8. �%K�
 �$
 ��	L��
 �	3#$
 (Volume of regular solids) :

��
	�"� ,(� ��
5�� �
��
��� ��
�� �
� =�(�
�� "�*�� �J
(� �M!"
�� "��5
$+� �M!"0	� �J
(�
����
�"�� ,(� ��
5��� �
�	(� �
� ,('�� (volume)� "�-
4
$+

,(� ��
5��� �
�	(� (�)��� "���
� �
�F� ��
5��� 
� ,���� ���J� I� >?	
� 	�(�
�
��� �
�
�
�=�"+� 
	9�� �
�	(� $"� 	���
	��"� (Three dimensional) �
=�� �
�+

������� �)��	� 
-
�*�� 
4� ��������� �
�	,(�� ��,(� I� ��:����� �S(
�� �
�0=�� �*�+� 
	9�
$��./�"�� �
�	(� (�)��� �
�F� $"� �
M
�9� ��	�� ���-0	� -�$+

�
M
�9� ��	���� 
-:
� �
�	(� W� ������ 
&	�'�� × >?	

��� ���-��*�
�	3#$ �

��������� �
�	(� (�R��C� ��	�� (
-k+� "
�9� $-
�� ����� (�R��C� �
"
��� (�
-F+� 
	9�� ��������
�
�	(� (�)��� ":

�
�� �

;	�"� ��	�� ����
8�� �
M
�9� ��	���� ��
�
�� "�
4
$+

�5�
	�� � ��������� �
�	(� W� ������ 
&	�'�� × >?	

�5� $��	
��;
��/�C��
�	3#$ �

��/�C��
N"���
��	�	��
 r� $�%� >?	
� h� �@
�
� ����	� 
-
:� $-
�� ������ 
&	�'�� W
π r2 
-�� $�%� �
�	(� W� ������ 
&	�'�� × >?	
� W� π r2 × h

222 � (��
� ���� ��:����� �
�	(� W� π r2h ,(� $""
�+� DP	
��;
��/�C��
�	3#$ �

'U
� �����:����� �-�B� ��
�
X�� R� $�%� �<B��
�
X�� r� $�%� >?	
� h� �@
�
� ����	� 
-
:
������ 
&	�'�� W� π (R2 – r2)� 
-�� $�%� �
�	(� W� ������ 
&	�'�� × >?	


� W � π (R2 – r2) × h 
 - � +
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(CONSTRUCTION)

6.1 ��������	
(Introduction) ��
������	
����
�	�������
�����������������	��
������
���������� �����!��"�#$� %
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Drawing the circum-circle of a triangle of which the length of one side

and the measure of the angle opposite to it are given.
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5/������8�
����
	�����������#B�*�#�,�3��
D+�"D����/��
�*FG�+�����/��������
��!�
������
�*6DE�������A��-�
	����
�����H�������/B%�!�>��
	������5!���A��-������6����
�H���%� 5� *�#3�� 
D+� �+
�
� ��+� 5!� 
D+� *6� DE� 
5/�������6!���+�/���!���5!���A��-�
	���������!���/�%

������� 1
Δ ABC ��BC ���/����*FG�+�5�I�5/��
�J�?��� �!�
� �����
�m ∠ A = θ 0� Kθ 0 <900L� *6� �$�%

5/�� 
D+*.�!�� ��6�!��� 5!� �����6� ���� !����!�� �/�%� �D��
1� �����6�� �!9	�� ���8�
�� �
�+���M�� ��N��� !����!�� �/�%

���!�� Δ ABC �������6�� �!9	�O� 5�I� �+���M��OB� K���OC) %
m ∠ A = θ0 � �/� 0�m ∠ BOC = 2θ � �/���D��
1� B X C ��<�,	�� �������2θ �/�%
K222 ����> ��?E
��!�
�������
�5/���!�
�*.�����$*�
������<�,	�����������M�!���3%L
m ∠ OBC = m∠ OCB = 

180 2
2
− θ

 = (900 – θ0 )

�6�����
����A–S–A�
	����������	
�(���� Δ BOC�����!�������%
'(��� �!9	�O 5�I� ����+���M��OB� !����OC� ��N��
� �/�#�����%

���
���	�� 1
(i) BC = a� 5!!� 5�I�m ∠ OBC = m ∠ OCB = 900 – θ ��#� Δ OBC� ���� !�%
(ii) O!�� �!9	� 5�I� OB K!���� OC) !�� �+���M�� ��#���6� ����!�%

��2)� 1 (a) θ  = 900 �/� � BC� �+��� �/�%� BC �
�4��9�� �!9	�O� 5�I�OB� !����OC� �+���M�
�/�%

(b) θ  > 900 �/� � K��
	� 6.2L� BC �� �")B
���.����A���9���/�$��
�O�������
����.�����!9	
���8��� !���%
5/������8
����m ∠ CBO = m ∠ BCO

= ( θ –900) ���� !��� �!9	�O� 5�I� �+���M��OB !����OC� ��N��� !�%
5P���� &+!�� B X C �����<�,	�� �������2θ �/� 0
m ∠ BOC = 3600 – 2θ �/�%

A

θ
θ –900

O

3600–2 θ

C

[ ��
	�6.2 ]

B

2 θ

X

900–θ

O

CB

θ
A

[ ��
	�6.1 ]
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�)	('�
 - 1 :
Δ ABC ����!��"�/���BC = 7.5 ��Q��Q0�m ∠ A = 600,  AX �4��� R� 4.5 ��Q��Q

���
���	�� 1
(i) BC 5�I� ∠ A� �� �����
!�� ��#������6� ����!� %
(ii) BC �� �4��9��X ��/S3� !� %
(iii)�X !�� �!9	� !���AX� �+���M�� �����
� ���� ���� !�
� � � �"�/�� ���
������6!��A ��9�����$*�!��� %
(iv) AB � �� AC � ���� !� %
(v) ABC ����+!���
	���� %

�������� " 6(a)

1. Δ ABC���BC = 6 ��Q��Q0�m ∠A = 450, 
	�����������6�����!�%
2. Δ ABC���AC = 7���Q��Q0�m ∠B = 600,
	�����������6�����!�%
3. Δ ABC���AB = 6.5���Q��Q0�m ∠ C = 900, 
�	����������6�����!�%
4. Δ ABC���m ∠ A = 1200, BC = 4.5 ��Q��Q%�
	�����������6�����!�%
5. Δ ABC���BC = 7 ��Q��Q0�m ∠ A = 60, AX �4���R�4.5���Q��Q0�
	����3������!�%
6. Δ ABC���∠ B����!�
%�AC = 7 ��Q��Q0�B���9����AC ��	
� �%�BD ���*FG�+�3���Q��Q%


	����3������!�%�5��&
	���AC ��5!����.����B���9����!�
��,�3�����8�
����# T
7. Δ ABC���BC = 8���Q��Q0�m ∠ A = 4500�AD )U
��3���Q��Q��/� 0�
	����3������!�%
8. Δ ABC�����!��"�/���m ∠ B = 600, AC = 6.5 ��Q��Q�5�I� AX ��4�����*FG�+�R�5

��Q��Q
9. Δ ABC��m ∠ A = 600, BC = 7���Q��Q0�BE ⊥ AC �BE = 6.3���Q��Q�Δ 3������!�%
10. Δ ABC��m ∠ A = 1500, BC = 5 ��Q��Q0�AD )U
��R�3���Q��Q��/� 0�
	����3������!�%
11. Δ ABC���m ∠ A = 600, b:c = 2:3, BC = 7 ��Q��Q%�
	����3������!�%
12. ABCD ����>��!���
	�����!��"�/���AB = 5.5 ��Q��Q0�!N�� BD ���*FG�+�R�8 ��Q��Q��

m ∠ DAC = 600%

B

O

C

A

[ ��
	�6.3]

X
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6.3. ���
 " 2 1
).�0.
��'�34
$�
��5��'
�6
�0.
����
37�,�
��� 
(Drawing a tangent to a given circle at a given point on it.)

������� 1
O *6���6���!9	%�P���6�)����8��!V
��
5!���9�%� OP �5!��+���M�%����!����6��P���9���� AB

↔

�W��!� ��3% (��
	 6.4)

222 m ∠ OPA = m ∠ OPB = 900 �/�%
222 ��6�� �W��!� �W��� ��9�,���� �+���M�� �	
��  �� ��3%

���
���	�� 1 (i) ��6�������*6�
D+��#���63�� ����!�%
(ii) ��6� )���� P� ���!� ��9�� ��/S3� !�%
(iii) OP � �+���M�� ���� !�%
(iv) OP � �	
�� P� ��9����  �� AB

↔ � ���� !�%
���	�
 1 P ��9���� OP ��	
�� AB

↔ � ���/
����6�	

P ��9���� AB

↔ � �W��!� %� 222� AB
↔ � ����+!� �W��!%

���8
���	�� 1
�������
 1
 Q� ��6� )����8� �"�!V
��� 5!� ��9�%� Q

��9�����W��!�����!����!�� �/�%����!��Q���9���� PQR
← →⎯

��6��	
�����
��W��!�5�I� QN �5�I�QM �*�#3���+�%�M, N!�
�"�,� !��"�#$�%� K��
	� 6.6L

222 m ∠ NQR = m ∠ QMN �/�%
222 ��6��5!��W��!��W����9�,�����+���/�
��")B������
��!�


)�E�S�!���
�O�������
�):��!�
��5!�>������> ��?E
��!�
�
K�D�����6?@�8� �!�
�L������
��/�����%
���
���	�� 1

(i) *6� 
D+� �� ��� !��� ��63�5� ���� !�%
(ii) ��6� )����Q� ���!���9�� ��/S3� !�%
(iii) QM 0� QN � 5�I� MN � �+�� ���� !�%
(iv) Q� ��9���� ∠ QMN ������������
�����-� ∠ NQR ����!�%
(v) PR

↔ � �W��!� ���� !�%
���	�
 1
m ∠ NQR = m ∠ QMN �/
�� PR

↔ 0�Q� ��9������6�	
�� �W��!� �/�%

[ ��
	� 6.4]
A BP

O

O

A BP
[ ��
	� 6.5]

Q

P

N

M

R

[ ��
	� 6.7]

Q

P

N

M

R
[ ��
	� 6.6]
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��� " 3 1
��9�3�
).
�0.'
�(�:34
$�
��5�'�
�6
�0.
����
37�,�
��� 
(Drawing tangent to a given circle from a given point outside it.)
���!��ABC 5!�*6���6�5�I�P ��9����ABC ��6�	
�� �W��!�����!����!�� �/�%

3;<�	
1 �	�S��� ��6�� �+���M�� (r) �� ��6� �!9	P���� P ��9��� *X�
�� (x) *���"�5%� '(��� �W��!
�����	!	���� ���H��X����� ����

(a) *6��+���M�����-� ��63�5� ����!��� 5�I� 5/��� �!9	�O ��/S3� !��%
(b) O ��9�,���� 5!� ��Y�� OX

→ � ���� !��%
(c) O!�� �!9	!��� 5�I� r 5!!� �+���M�� ��#� 5!� ���� ���� !��0� �"���� 5/�� OX

→ !�
�$*!���%

(d) ������� (c)��� ���
� ���� �� ������� (b) ��� ���
� ��Y��� �$*��9�� /Z� *6� ��9�� P%
5/����� �����*6���6� ��*6���9�� ��#D�)%

���
���	�� 1
(i) OP ����*.�?@!� ������!����5/��

KOP �L��4��9��S ���X�
�!�%
(ii) S!�� �!9 	!� �� �� SP K��� SO)!�

�+���M��X��� ��#� ��6� ���� !�%
(iii) ������� (ii)������
���6���*6���6�

�$*��9��M ��N ��/S3� !�%
(iv) PM

→ � �� PN
→ � ���� !�%� PM

→ � �� PN
→ � ���N��� �W��!%

���	�
 1� OM ,� ON ����!��"�)%
222 PMN ��6�� �+��� PO 222 m ∠ PMO = m ∠ PNO = 900

���[�*6���6��� OM �� ON *�#3���+���M��5�I�OM �	
��M P���� PM
→  ���� ON

�	
��N P���� PN
→  �%

222 *6���6� �	
�� PM
→ � �� PN

→ � *�#3�� �W��!%

�������� " 6(b)

1. 3� ��Q��Q��+���M������-�5!���6�����!�%���6���"��!V
���5!���9�����W��!�����!�%
2. 3.5���Q��Q��+���M������-�5!���6����!9	��9�����/�"+����#���6���!V
���5!���9���

�W��!� ���� !�%
3. 3� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !�%� 5/��� �!9	�O� �/)%� P� ��6�� 5!� �/���8

O
B

S
P

X

N

M
A

C

[ ��
	�6.8 ]
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��9�%�OP = 7 ��Q��Q%� P� ��9���� ��6� �	
�� PA 0� PB � *�#3�� �W��!� ?@� ���� !�%� �W��!
?@*.������� )�����4����\!�� ��N���!�%

4. AB �����!�%��"���!��AB = 4� ��Q��Q%� AB!���+����X�����#���6�����!�%�A

��B� ��9���� ��6� �	
�� �W��!� ����!�%�5/�� �W��!*.�� !����� �\!��
� ��N��� !�%
5.(i) 4� ��Q��Q� �+��� ����-� 5!� ��6�� �!9	� O%� OA � 5�I� OB � *�#3�� �+���M�� m ∠ AOB

= 900%� AX
↔ � �� BY

↔ � ���W�!��M� ��9���� �$*�!��DE��� *�#3�� �W��!� ����!�%�OAMB
!�O�	!����
������ ���&�� !��� ��N���!�%

(ii) 2.5 ��Q��Q� �+���M�����-���6� ����!��� �!9	!�� ‘O’ ����������
�!�%� OA � 5�I� OB
�+���M�� *�#3�� ����!�� �"����m ∠ AOB = 1200%�A ��B P������6� �	
�� �W��!� ���
!�� �� �$*��9�!�� P ���� *��%�OAPB �
������� !N�� OP � �� AB � ���� !�%� !N�*.�
�4��� �\!�� ���4��� !�%

6. AB = 8� ��Q��Q�����-� ��?�?@�����!�%�A���9�!�� �!9	� ��#� 3� ��Q��Q��+���M������-
5!� ��6� ����!�� ��B� ��9���� ):� ��6� �	
�� *�#3�� �W��!� ���� !�%

7. 6� ��Q��Q� �+��� ����-� ��63�5� ���� !�%� ��6�� �/���8� ‘P’� 5!� ��9�� ��/S3� !�� �"���!�
��6�� �")B� ��9�� ‘P’� P���� ��!3
�� 
�/��� P� P���� *X�
�� 4.5� ��Q��Q%� P� ��9���� ��6� �	
�
�W��!?@�����!��� 
�/��� �*FG�+� ����� � ?%

8. 3���Q��Q��+���M������-�5!���6�����!� %�5/���5!��/���8���9��P ��� PA ��� PB �*�#3�
;��!?@� ���� !�� �"���!��m ∠ APB = 600� �/� %

6.4. ���]4 : ).
�0.�'
 (a) 3��	(�
���%�&
 (b) ��,<���
 (c) 3���
���%�&
�=��,�� 
(Inscribing (a) an equilateral triangle (b) a square (c) a regular hexagon

in a given circle.)

������� 1� �X����� �	��
�
� �/�#$�� �"� 5!� ��6�� �!9	��� ����� �����
� �!�
� ���
!��DE����+��������*FG�+�����%�5
����6�> ��?E
���2���/��������/��������6���!9	�������
�����
���!�
�)�E�S� !����%�"*���/����3�����/��I?+��n� /�5� �
��
�!9	�8��!�
������
�R 3600

n
��/�%���
��I���6�> ��?E
��/� 0

(a) ����/��
	�������	�
+!���/�*.���������6���!9	���)�E�S
�!�
� �����
� R� 360

3

0

� R� 1200

(b) �,����
	���	�
+!���/�*.���������6�
�!9	��� )�E� S� �!�
�� �����


R 360
4

0

� R� 900

1200

O

BA

C

[ ��
	�6.9 ]

D C

A B
900

[ ��
	� 6.10 ]
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(c)� ��2�� 2<=����� �	�
+!� ��/�*.���� �����6�� �!9	��� )�E�S

�!�
� �����
� R� 360
6

0

� R� 600

���
 ���	�� :

���!��"�)�3 ��Q��Q��+���M������-��,�3�5���6�������/�

	������> ��?E
��/�%

(a) ).
�0.�'
3��	(�
���%�&'
�=��,�� 1
(i) *6���63�� ����!��"�)%
(ii) OA ��+���M������!���5/��)����1200 �����
��∠ AOB

����!��"�)%
(iii) OB � )���� �X������ O ��9���� ��)� 5!� 1200� �����


�!�
� ∠ BOC� ���� !��"�)%
(iv) '(�����6���A, B, C�
����,�3����9����(��%
(v) 5/��A, B, C� ��9������� �"�+��!	��� �"�,�!� �����+!�����6�> ��?E
� ����/�� 
	����

��(��%� K��
	� 6.12L
(b) ).
�0.�'
��,<���'
�=��,��
���	��
 1
(i) *6��+���M�����-� ��63�� ����!�%
(ii) �"�!V
��� 5!� �+��� AC � ���� !�%
(iii) AC ����*.�?@!� �� BD � ����!�%
(iv) ��6�)���������,�3����9��A, B, C, D ��/S3�!��

��,�<=�!���"�+��!	����"�,�!� �ABCD�����+!���6�> �?E
��,���
	��/�%K��
	 6.13L
(c) �0.�'
3���
���%�&'
�=��,��
���	��
 1
(i) *6��+���M�����-� ��63�� ����!��"�)%
(ii) ��6���OA ��+���M������!���600������
����-�∠ AOB

�!9	�8� �!�
� ����!��"�)%
(iii) !\��1� ��/�"+��� O ��9���� ∠ AOB �/� ����� �����


����-�∠ BOC, ∠ COD, ∠ DOE, ∠EOF, ∠FOA����
!�����6�)���
C, D, E, F� ��9�������/S3� !�%

(iv) A, B, C, D, E, F ��9��������"�+��!	����"�,!��
����+!� ��6�> ��?E
� ��2�� 2<=���� ���� !�%
K��
	� 6.14)

O

E D

F

A B

600

[ ��
	� 6.11 ]

BA

C

[ ��
	� 6.12 ]

O

O

B

CA

D

[ ��
	� 6.13 ]

E D

CF

A B

O

[ ��
	� 6.14 ]
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���8
���
���	��

��0.�'
3��	(����%�&
$�-
3����%�&
�=��,��! 1

(i) *6��+���M�����-� ��63�� ����!�%
(ii) ��6�)�����"�!V
���5!���9����/S3�!���
�!��A �����

����
�!�%
(iii) ��6���+���M�� �/�������+���M�� ��#�A ��9�!�� �!9	!��

5!���������!����
�/����6!���")B���9�����$*!���

�O������*���B %

(iv) ���[�������� (iii) �(��B �!9	�����-���������!�� C
��9�� ��/S3�!�%�5/��(�� !	���.������6�)����D, E, F
��9�������/S3�!�%��6�������63��$��,�3�������������
���

��/ ��5�I��	�
+!������<�,	���������600 �/�%

(v) ��6� )���� $��,�3�� ��9�� �4��� 5!�>�� ��9�� 
����3�!�
��2���9���X�����#�
	���������!�%�K/�5
�ACE 
	����
�D���BDF 
	�������(��L�)�E�S�
	����3��5!�����/��
	����%
K��
	� 6.15L

(vi) ��6�)����8�$��,�3����9�!����2���9���X�����#�5!���2<=����ABCDEF *6���9���
�> ��?E
� �/�#�����%� K��
	�6.16L

6.5. ).
�0.�'
 (a)
 3��	(�
 ���%�&
 (b)
 ��,<���
 (c)
 3���
���%�&
�'����� 
(Construction of (a) an equilateral triangle (b) a square (c) a regular hexa-

gon circumscribing a given circle.)

3->	 1 5!��/�������	�
+!���/���!V
�����6!���W��!� �):��/����!���I��:���6����� �?E

�/����� !�/�"�5%

��� " 5 :
(a) ).
�0.�'
3��	(�
���%�&
�'����� 1

������� 1�*6���6��O, �!9	%�OX, OY, OZ �+���M�%
���!��ABC�*6���6���� �?E
�����/��
	���� %� BC 0
CA �5�I� AB �"D�!	���X, Y, Z���9������6!�� �W��
!��$>�%�AZOY��
�������

m ∠ AZO = 900 
 222� �W��!� �W��� ��9�,���� �+���M�� �	
� �%
m ∠ AYO = 900

A

E

[ ��
	� 6.15 ]

C

DF

B

E D

F

A B

C

[ ��
	� 6.16 ]

O
YZ

X

A

1800– ∠ A

1800– ∠ B 1800– ∠ C

[ ��
	� 6.17 ]

B C
�
�
�
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O
YZ

B X C

A

222 m∠ZOY = 3600 – {m ∠ AZY + m∠ AYZ + m ∠ A}

= 3600 – {900 + 900 + m ∠ A} = 1800 – m ∠ A

��/����� �	��
� !��"�#����� �"�m ∠ XOZ = 1800 – m ∠ B, m ∠ XOY = 1800 – m ∠ C
222 ABC 
	����3�� ����/�� ⇒ �m ∠ A = m ∠ B = m ∠ C = 600

222 m ∠ XOY = m ∠ YOZ = m ∠ ZOX = 1200.

���
���	�� 1
(i) *6� �+���M�� ����-� ��6� ���� !�%
(ii) ��6���"�!V
���5!���9�������H�!�����6���+���M�

��^� ����� �+���M�� ��#� !	���.���� ���� ���
!� ���6�)����$��,�3����9����(���"�/�!����6!�
$��,�3�����������������

�!���%

(iii) �,�3�5� $�<=�� �,�3�5� ��/S�
� ��9�!�� O� ��9�� �/�

�"�,!��� OX 0� OY 0� OZ

�+���M�� ���� !�%�'(���m ∠ XOY = m ∠ YOZ = m ∠ ZOX = 1200� �/�%
(iv) X, Y, Z���9����OX 0�OY 0� OZ ��	
�� ������!���
���3���W��!�����!�%��W��!
	��

�$*��9��A, B, C��/)%

(v) Δ ABC *6���6����� �?E
�����/��
	������/�%

(b) ).
�0.�'
��,<���'
�'����� 1

������� 1�*6���6��O, �!9	%����!��ABCD���6����� �?E

�,���
	%�"�/��� AB 0� BC 0� CD �5�I� AD ���/����6!��"D�!	��
P, Q, R � S���9�����W��� !��$�%�POQB �
��������m ∠ B = 900

K222 �,���
	���	�
+!��!�
�������
�900%L
m ∠ OPB = 900

m ∠ POQ = 900   




222� �W��!� �W��� ��9�,���� �+���M�� �	
� �%

222 m ∠ POQ = 90

��/����� *���"�#����� �"0�m ∠ QOR = m ∠ ROS = m ∠ SOP = 900

222 PR � 5�I� SQ � ��6��*�#3�� �+��� ���W��� ��*.�?@!� �� �/��%

D

O
P R

CQB
[ ��
	� 6.19 ]

SA

�
�
�

[ ��
	� 6.18 ]
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���
���	�� 1
(i) *6� �+���M�� ����-� ��6� ���� !�%
(ii) PR � �+���� ��*.�?@!�  �� SQ � ���� !�%
(iii) P, Q, R, S ��9���� "D�!	��� AB 0� BC 0� CD 0� AD

 ����� ����!�%
'(��� ���
�  �,�<=�!� P, Q, R, S� ��9���� ��6�� �W��!
�/��%

(iv) ABCD�����+!���� �?E
��,���
	� �/�%
(c) ).
�0.�'
3����%�&
�'�����
1

*6���6��O� �!9	%
���!��ABCDEF���2��2<=������6����� �?E
%
5/��� AB 0� BC 0� CD 0� DE 0� E F 0� FA
��/�,�<=�!���6!��P, Q, R, S, T, U ��9�����W���!�>�%
�6�����QCRO �
�������
m ∠ OQC = 900

m ∠ CRO = 900

222� �W��!� �W��� ��9�,���� �+���M�� �	
� �%

m ∠ QCR = 1200 (222� ��2�� 2<=����� �	�
+!� �>�8� �!�
�� �����
� 1200)

222 m ∠ QOR = 600

��/�����m ∠ ROS = m ∠ SOT = m ∠ TOU = m ∠ UOP = m ∠ POQ = 600

���
���	�� 1
(i) *6� �+���M�� ����-� ��6� ���� !�%

QT � �+��� ���� !�%
(ii) �!9	���m ∠ QOR = m∠ ROS = 600����

!�� 5�I� RU 0� SP � �+��� ���� !�%
(iii) P, Q, R, S, T, U �4� �*#� �+������� �	
�

 ����� ���� !�%� '(��� AB 0� BC 0
CD 0� DE 0� E F 0� AB � ��6�� �W��!� �/�%

(iv) 222 ABCDEF ��6����� �?E
���2��2<=�����/�%

O
A

U

P

B
Q

C
R

D

S

E
T

F

[ ��
	� 6.21 ]

D

O
P R

CQB

A

[ ��
	� 6.20 ]

S

�
�
�

O
A

U

P

B
Q

C
R

D

S

E
T

F

[ ��
	� 6.22 ]
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6.6. ��� " 6 : ).
��,<���'
 (a)
�'��0.
 ?
 (b)
 �=:�0.
���

(Drawing (a) Circum-circle and (b) In-circle of a given square.)

(a) ).
��,<���'
�'��0.
��� 1

3->	 1 5!� �,���
	�� ��2���9������ �*#� ���
� ��6!�� ):� �,���
	�� �����6� �� ��/�� ��6�
�!9	!�� ����!9	� !�/�"�5%

������� 1��,���
	3�5�*6��$�%�5/��������6�����!����!�
�/�%��D��
1������6���!9	�����8�
��5�I�����+���M����N���!����!�
�/�%

ABCD��,���
	��A, B, C, D��!V
�!���9����6�)����8���9�
�/� ��,���
	�� !N�*.�� AC � 5�I� BD � ��6���+��� �/��%

222 �,���
	��!N�*.��������������������W�!����*.�?@�!�>�%

222 ��6���+���*.����$*��9�� ‘O’���6���!9	� �/�%

'(��� OA � ��� OB � ��� OC � ��� OD � ��6�� �+���M�� �/�%

���
���	�� 1

(i) �,���
	� ������*6����!�� ��#��,���
	3�5� ����!�%

(ii) ���
��,���
	��!N�*.������!�� �� ���������$*��9������� ‘O’� *��%

(iii) O !�� �!9	!���OA� ���OB� ���OC ���OD� �+���M�� ��#� ��6� ���� !� � ����+!
�����6����
��/�%

�=�� 1 ���
��
	��!N�*.��� �*FG�+� ����� �� ����������W�!�� ��*.�?@�!�>�%� �

�� �X����:
�����	
�(�� ��������5/��������6��4�����!��"�#����%

(b) ).
��,<���'
�=:�0.
��� 1

3->	 1 5!� �,���
	�� ��/������� � �W��� !��DE��� ��6!�� ):� �,���
	�� �>���6� �� ��6�� �!9	!�
�>��!9	�!�/�"�5%

C

BA

D

O

[ ��
	� 6.23 ]
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������� 1� ���!�� *6� �,���
	� ABCD �� �>���6
PQRS%�P, Q, R, S ��9�����)����,���
	�����6����_��
���9�
�3>�%��X�����
�����	��
�!��$0��,���
	����/��������4��9�,�<=�!�
�"�+��!	��� �"�,� !� � )�E�S� �
������ 5!� �,���
	� �� 5/��
!N�*.���X(��,���
	����/�������	
�� �%

PQRS�5!��,���
	%�5/��������6�/Z�ABCD��,���
	�
�>���6���3%

���[�
�����X�������
�$��!V
����,���
	�������
���/�,�<=�!���4��9��������"�,�!��DE��
��?�?@�*.����$*��9��5�I�):��,���
	��!N�*.����$*��9�� ����S%

222 PR ��� SQ ����$*��9��5�I� AC �5�I� BD ����$*��9��‘O’���3%�����C2
�����N��
!��, ���"�ABCD��,���
	�� AC �5�I� BD���$*��9��‘O’�����+!��>���6���!9	
5�I�O� ��9���� �X(��,���
	����/��	
�� ���
� �/Z� �>��+���M�%

���
���	�� 1
(i) �,���
	�������*6����!���+�/���!����,���
	�ABCD

����!�%
(ii) AC �5�I� BD �!N������!����$*��9��‘O’���N���!�%
(iii) O ��9���� �"�!V
��� ��/��	
��  �� ���� !�%� ��
	��

BC � �	
�� OQ �  �� ���� !��"�#$�%
(iv) O ��9�!�� �!9	� 5�I� OQ!�� �+���M�� ��#� ��6� ���

!� ��X(� �,���
	�� ����+!��� �>���6� ��(��%

�������� " 6 (c)

1. 4� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� ����/�� 
	����� �> ��?�� !�%
2. 3.5� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� 5!� ����/�� Δ � ��� �?�%
3. 2.5 ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� 5!� �,���
	� �> ��?�� !�%
4. 1.5� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� 5!� �,���
	� ��� �?�� !�%
5. 3.5� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� 5!� ��2�� 2<=���� �> ��?�� !�%

A

B C

D

Q

O

r

[ ��
	� 6.25 ]

[ ��
	� 6.24 ]

O

A

B C

DS

RP

Q
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6. 3.8� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5!� ��2�� 2<=���� ��� �?�� !� %
7. 4� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 5DE��� 5!� ��2�� 2<=���� ��� �?�� !�%
8. 7.5� ��Q��Q� �+��� ����-� 5!� ��6��� 5!� ���!�
�� ��*.���/�� 
	����� �> ��?�� !�%
9. 8� ��Q��Q� �+��� ����-� 5!� ��6��� 5!� ���!�
�� ��*.���/�� 
	����� ��� ��?�� !�%

K�X���� �� �W��� ��9�,�����+���M�� 
	����>,�
� �!�
������<�,	�� �����
�900, 1350 5�I�1350L
10. 9���Q��Q��+�������-�5!���6���ABC���*.���/��
	������> ��?��!��"�/����X���BC = 7���Q��Q
11. 3� ��Q��Q� �+���M�� ����-� 5!� ��6� ����!��� 
/Z��� 7� ��Q��Q� )U
�� ����-� 5!� ��*.���/�


	�������� �?��!�%
12. 4� ��Q��Q� �+���M�� ����-� 5!� ��6� ����!�� 
/Z��� 6� ��Q��Q� )U
�� ����-� 5!� ��*.���/�


	������> ��?��!�%
13. 2.5� ��Q��Q� �+���M�� ����-� 5!� ��6� ���� !��� 
/Z��� 5!� ��*.���/�� 
	����� ��� ��?�� !�

"�/��� ��2��!�
� 450� �/�%
14. 5!����
��
	�� �*FG�+�7.5� ��Q��Q0� �	�8�4� ��Q��Q%� ���
���
	3�� ����!���5/��������6

����!�%
6.7. ���
"
7 : ).
�)*+,�
����@
�'�	�A'
��B�,@
3-���
3�,3�
�-��'
��%	&�

�Dividing a line segment of given length into a given number of equal parts.!
AB 5!�*6��*FG�+�����-���?�?@ %����!��"�)0�5/�!��5 3���������I������,�!����!�

�/� %

���
���	��
1
(i) *6��*FG�+�����-�AB ����!� %
(ii) AB ��A ��B P����"D�!	��� →

AX �� →
BY ��Y������!�0��"����X ��Y 0�AB �������


���.�����/��� 5�I�m�BAX = m�ABY �/� %�'(��� →
AX II

→
BY �/� %

BA

X

Y

P1

P2

P3

P4

Q4

Q3

Q2

Q1

R1 R2
R3

R4

[ ��
	� 6.26 ]
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(iii)  A !���!9	���5!�����_���!��+���M��r ��#�5!���������!����5/�������")B���9���
→
AX !���$*�!����
�������P1 *�� %�5/��������������	
�(����

→
AX )����P2, P3, P4 ��9����

K5–1 = 4 �,�3�L���/S3�!���"����AP1 = P1P2 = P2P3 = P3P4 = r ��/� %
(iv) �X����:��	
�(��K�������(iii) ����N��
L��� ���!��� →

BY )����Q1, Q2, Q3 ��Q4 ��9�
�����3����/S3�!���"����BQ1 = Q1Q2 = Q2Q3 = Q3Q4 = r �/� %

(v) P Q P Q P Q P Q
� � � � � � � �

, , , ����!�����")B���9����):���?����� AB !���$*�!����
��,�<=�!��"D�!	���R1, R2, R3 ��R4 ���������
�!� %

AR1 = R1R2 = R2R3 = R4B �%��D��
1�AB ��`�,�3���������I�������

��/ � %
���	�
1
�AP4R4 ~ �BQ1R4 KA-A-A ��*��+L�K��
	�6.26 �*?L

AR
R B

AP
BQ

r
r

AR
R B

AR R B
R B

AB
R B

R B AB i

�

�

�

�

�

�

� �

� �

�

� �

�
�

�

�
�

�

�

�

� �

= = = ⇒ + = +

⇒ + = ⇒ = ⇒ = .......( )

��/�����*���"�#������"�R3B = 
�

�
AB,  R2B = 

�

�
 AB,  R1B = 

�

�
AB %

AR1 = R1R2 = R2R3 = R3R4 = R4B (= 
AB
�

)

6.8 ���
"
8 : $�
��C�,@
����	��'
$�
).
�'�	�A'
�=�,�%	&�
?
�(���,%	&�  
�Dividing a given line segment in a given ratio internally and externally.!
AB 5!�*6���?�?@ %� AB !��5!�*6������
� a : b ��� (a) �>�������� (b) �/��������

!����!���/�0��D��
1�]

(a) AB )����P ��9����/S3�!����!���/�0��"���0�AP
BP

a
b

=

(b) AB
←→ )����Q ��9����/S3�!����!���/�0��"���0� AQ

BQ
a
b

= �5�I�Q–A–B ���A–B–Q� %
���
���	��
1
(a) �=��,%	&�
1

(i) *6��*FG�+�����-���?�?@�AB ����!� %
(ii) AB ��A ��B ��9��P����"D�!	��

→
AX �� →

BY ��Y������!�0
�"����X, Y, 

←→
AB �������
����.�������8���!����

��m�XAB = m�ABY �/� %�'(��� →
AX II� →

BY �/�%
K*6������
�a : b ���a ��b �	�
+!��,�3�5��,�3�5�_���E!��I?+����5P����a < b L%

BA

X

Y

R

S

P

[ ��
	� 6.27 ]
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(iii) !\���������+!��
��+���M����# →
AX )����R �� →

BY )����S ��/S3�!�0��"���!�
�AR = a 5!!���BS = b �/� %

(iv)
←→
RS ����!� %

(v)
←→
RS ��AB ���$*��9��!��P ����*�� %��6�����AB ��?�?@�P ��9����a : b �����
��

�>�������
��/ � %
(b)�(���,%	&�
1
(i) *6��*FG�+�����-���?�?@�AB ����!� %

(ii) AB ��A ��9���� →
AX ��B ��9���� →

BY ����!���"����X � Y �AB�������
����.���
�/������m�XAB = m�ABY �/� %�
�E��� →

BY �������
���Y�� →
BZ ����!� %

(iii) !������/�"+��� →
AX )����R �� →

BZ )����S1 ��9����/S3�!�
����"���!��AR = a 5!!�5�I�BS1 = b 5!! %

(iv)
←→
RS ����!� %

(v)
←→
RS ��←→

BA ���$*���9�!��Q����*�� %��6�����AB ��?�?@��Q��9����a : b �����
��
�/���������
��/ � %

)�@��
1�"*�������
�a : b ���a < b �/�#D�50��
����Q-A-B �/�0��D��
1�AQ < BQ �/��%
"*��a > b �/�#D�50��
���A-B-Q �/�7��D��
1�AQ > BQ ��/��%
*6������
�a : b ����BA ���>��������K����/��������L��������AR = a 5�I�BS = b

K���BS1 = b,  ��")BP�� →
BY �������
���Y��)����S1 ���8�
L�����"�� %

�D�
�'
1�AB ���/���������������]
(i) Q ��9������8�
�� →

BA )����5�����/���"�Q-A-B "*��a < b

(ii) Q ��9������8�
�� →
AB )����5�����/���"�A – B – Q "*��a > b

[ ��
	� 6.28 ]
Y

ZX

B

S1

R
Q

A
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���	�
1�(a) � APR ~ ��BSP   K�!�]�!�]�!�]��*��+L���
AP
BP

AR
BS

a
b

= =

5P����*���"�#������"�P ��9��A ��B ���4�6�� %
'(�����9��AB �!��a : b �����
����>��������!��$� %

(b) � RAQ ~ �S1BQ �K�!�]�!�]�!����*��+L���
AQ
BQ

AR
BS

a
b

= =
�

���[��	��
�!��"�#������"�Q-A-B ���Q ��9���AB ����/���8 %
'(���Q ��9��AB �!��a : b �����
����/���������!��$� %

��������
"
6 (d)

1. (i) 6.5 ��Q��Q�*�G��AB ����!���5/����4��9������8������X�
�!� %
(ii) 7.6 ��Q��Q�*�G��PQ ����!���5/�!��4 ����� ��,�!� %

2. 7.2 ��Q��Q��*FG�+�����-�5!���?�?@!�������6 ��,�!� %
3. 6.4 ��Q��Q��*FG�+�����-�AB ����!���5/�!��3:2�����
�����>��������!��DE�����9������8��

�����
�!� %
4. 6.5 ��Q��Q��*FG�+�����-�BC ����!���5:3�����
����>�����������/���������!��DE�����9�*.�

�����
�!� %
5. 7.5 ��Q��Q�*�G�� PQ ����!���5/�!��*�#3���I������,�!�0��"���!�����������*FG�+�

�����
�4:3 �/� %�5!����
���
	�����!��"�/����*FG�+����	�8�"D�!	���PQ ���*�#��I��
�*FG�+���/����� %

6. �ABC ���BC = 6.5 ��Q��Q0� BY ��4�����*FG�+�6 ��Q��Q���CZ ��4�����*FG�+�5.5 ��Q��Q %

	����3������!� %




3;<�	
1

���!���4���*.����$*��9��G, �����	
�(���� �
�

BY = BG �� �
�

CZ = CG ��N���!� %

�	D����BCG ����!� %� →
BG )����Y ��9���� →

CG )����Z ��9�������
�!� %
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6.9. 
���
"
9 : 
).
�0.�'
).
���%�&'
$�
3)0�
���%�&
�=��,��
1
�Inscribing a triangle similar to a given triangle in a given circle. !
���!��"�)�3���Q��Q��+���M������-�5!���6����,�3�5�*6�
	������/��*���
	������> ��?�

!����!���/� %
ABC 5!�*6�
	���� %

���
���	��
1�(i) *6��+���M����#���63������!� %���6���!9	�O �/) %

X

O

YA/[ ��
	� 6.29 ]

B/

C/

A

B C BC

(ii) OA / ����!���A/�P����900 �����
�����-��OA/Y ����!� %

(iii)
→

A Y/ �������
���Y�� →
A X/ ����!�����6�	
��A/ ���9����←→

XY ;��!�����!� %

(iv) A/ �	�>��9������-�5!��+��A C/ / ����!���"���!��m�C/A/Y = m�ABC �/� %���/����
A B/ / ����!���"���!��m�XA/B/  = m�ACB ��/� %

(v) B C/ / ����!��%��6������A/B/C/ �����+!���
	���� %
���	�
1�m�C/A/Y = m�ABC  (��
	�6.29 �*?)

!�>��m�C/A/Y = m�A/B/C/ K5!�>������> ��?�
��!�
L
��m�ABC =  m�A/B/C/ .........(i)

��/������m�XA/B/ = m�ACB

!�>��m�XA/B/ = m�A/C/B/ K5!�>������> ��?�
��!�
L
��m�ACB =  m�A/C/B/ .........(ii)

��(i) ��(ii) �����#��� ��ABC ~ ��A/B/C/

���
"
10 : 
).
�0.�'
).
���%�&'
$�
3)0�
���%�&
�'�����
1
�Circumscribing  a triangle similar to a given triangle in a given circle. !
���!��"�)�3���Q��Q��+���M������-�5!���6����,�3�5�*6�
	������/��*���
	�������� �?�

!����!���/� %
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���
���	��
1�(i) *6��+���M����#���63�5�����!� %���6���!9	�O �/) %
(ii) OM �+���M������!� %
(iii) ��+�5!��+���M�� ON ����!���"���!���MON �������
� (1800 – B) �D��
1��B�

����X�!��!�
�������
��/�������/� %
(iv)���[�OP �+���M������!���"���!���NOP�������
�(1800 – C) ���D��
1��C�������X�!

�!�
�������
��/�������/� %
(v) �6�����M, N ��P ��9������6��	
��;��!���������!� %
(vi) M ���N��9�������
�;��!*.����$*��9�0�N ��P��9�������
�;��!*.����$*��9��5�I�P

��M ��9�������
�;��!*.����$*��9��"D�!	���B/, C/, A/ �/) %
�6�����*6��6����ABC ���*�����A/B/C ��� �?�
��/ � %

A

B C

[ ��
	� 6.30 ]

C/ B/

N

P M

A/

O
1800–C 1800–B

���	�
1�OMB/N �
�������
m�OMB/ �+ m�ONB/ = 1800 �K;��!���;����9�,�����+���M����;���	
�� ���/
�L
��m�MON + m�A/B/C/ = 1800

��1800 �– m�B + m�A/B/C/ = 1800 �� m�A/B/C/ = m�B

��/������	��
�!��"�#������"0�m�A/C/B/ = m�C�5�I�m�B/A/C/ = m�A

����ABC ~ ���A/B/C/��������������������������K�	��
�
L

��������
"
6 (e)
1. ��ABC ����!��"�/���BC = 6 ��Q��Q0�m�BAC = 600 5�I�AD �4�����*FG�+�4.5 ��Q��Q %

��ABC��5!��*�� �
	�����3.5 ��Q��Q��+���M������-���6����> ��?��!� %
2. ��ABC ����!��"�/���BC = 6 ��Q��Q0�m�B = 600 5�I� AD  ����*FG�+�4.5 ��Q��Q %

� ABC��5!��*���
	�����2.5 ��Q��Q��+���M������-���6������ �?��!� %
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3. �!V
�����XYZ ����!� %���XYZ ���*���
	���������!��"�/����	�
+!���/����*FG�+0�*6

	����������X����/���*�#�
�
���I���/� %

4. ��ABC ����!� "�/���BC = 5.7 ��Q��Q0�m�B = 600 5�I� BE �4�����*FG�+�4.8 ��Q��Q %

	����3������!���2.3���Q��Q��+���M������-�5!���6������ �?��!� %

5. ��ABC ����!� "�/���BC = 5.3 ��Q��Q0�m�B = 600 5�I�m�C = 450 %�2.5 ��Q��Q��+���M�
����-�5!���6��� � ABC��5!��*���
	������> ��?��!�%

6. ��ABC����!� "�/���BC = 7 ��Q��Q0�m�B = 6005�I�b+c = 11.2���Q��Q %�
	����3�������!��
5/����*���!�
��5!�
	�����1.5 ��Q��Q��+���M������-�5!���6������ �?��!� %

7. ��ABC����!� "�/���m�A = 750 0�AC = 9 ��Q��Q0�AB = 6 ��Q��Q%�
	����3������!���5/��
5!��*���!�
��
	�����2���Q��Q �+���M������-�5!���6����> ��?��!� %
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�������

�	
���	�
�
1(a)

1.(a)(i) 4.5 ��������(ii) 10.5	�(b) (i) 
�

�
��(ii) 
��	�5.(i) BD = 1.5 ��������AB = 4.5 �������

    (ii) 6 ��������4 ���������(iii) 3.6 ������

�	
���	�
- 1(b)

1. AB : AC;  2. AD = 2 ������, CD = 8 ������

�	
���	�
- 1 (c)

1.(i) 12.5, (ii)16 (iii) 108, (iv) 4:7, (v) 4:5, (vi) 700,  (vii) �EOD, (viii) AEC (ix) AC2, (x)6

2.(i) y0, 1800 – (x+y)0, x0, 1800 – (x+y)0; (ii) 45 
������� (iii) 3:1, (iv) 18 
 � � � � � � �
(v) 15 �������21 ��������27 �������(vi) ��

�

�������(vii)144 
������	�9. 100 
������	�24.  1:2

�	
���	�
- 1 (d)

1.(i) m�DCB, (ii)(a) AC, (b) DC, (c) AD; 2. (i) 30 ��������(ii) 12 �������� (iii)  7 �������

(iv) 9 ������ (v) ��
��

, ��	

��
; 3.(i) 9 ������ (ii) 13.5 ������ (iii) � �� ������ (iv) � 	 ��. ������

(v) � �� ������
�	
���	�
�
2(a)

1. ��������	�(ii), (iii), (v), (vi), (viii), (x) �
������������ �
2.(i) d���(ii) d���(iii) b  (iv) d, (v) a;  3.  4 ������	�10. 6 ������	�11.  16 ��������4 �� ������

�	
���	�
�
2(b)

1. ��������	�(ii)(iv), (v), (vii),�(viii) � �(x), �
������������ � �2.(i) 1800���(ii) 1200���(iii) 700

(iv) B C ,(v) 600,(vi) 400, (vii) 
����
���(viii) B C D (ix)1800 (x) � :1; 2.(ii)600(viii)
���
3.(i) A B C ���(ii) A D C ��(iii) B F C ��
 !�"�� B A C 
�#$��!�"�  (iv)�BOC, (v) A E B %
& B F C ,

(vi) B E � E D ��(vii) %"�����&'��
�(��)���#*��+�#,; 4.(i) " �$��������-��(ii) �
.���!�"�
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(iii) ��/$!�$ � 5. (i) 800, 450 ��550  (ii) 800, 450 � �550 ��(iii) �
��	�7.(d) 350 	
8. (i) 700 (ii)  2200 �(iii) 2800  (iv) �
.���!�"	��9.(i) 1300 ��(ii) 2400, (iii) 2900

�	
���	�
�
3

1. (i) 900, (ii) �012���-, (iii) 900, (iv)(a) �YOP, (b) �XPO, (v) OP, (vi) 12, (vii) t r� �+ ,

  (viii) 2,1, (ix) 1,0, (x) 2,2, (xi) 0, 0, (xii) 700, (xiii) 16, (xiv) ������(xv) �3���(xvi) ��&'�

3. 15 ���������4.  15 ������	� 5. 8 ������	��6. (ii) 12 ��������(iii) 12 ������;

7.(i) 300, 350, 850, 650;  (iii)  10 ���������(iv) 12 ��������(v) 12 ������	�29. 12 ������,10 ������

�	
���	�
�
4(a)

1. (a) cos 100, (b) sin 250, (c) 0, (d) 0, (e) 0, (f) 0, (g) sin 1800, (h) 0, (i) 0, (j) 0;

2.(i) cos210, (ii) –cos580, (iii) – cot 90, (iv) – tan110, (v) cos10, (vi) sec30, (vii) –sin380,
(viiii) cosec 480, (ix) – tan410

3. (i) sin50 – tan50 (ii) cos150 + cot150 (iii) tan250 + cot410

4. (i) 1, (ii) 1, (iii)1, (iv) 1, (v) –1

5. (i) 0, (ii) 0, (iii)1, (iv) 0, (v) 0, (vi) 2, (vii) 1, (viii) 1, (ix) 1, (x) 1

6. (i) 1, (ii) 1, (iii) 1, (iv) 1, (v) �
�

 (vi) 0 (vii) 
�

�

9. (i) 1, (ii) 
�

�
, (iii) 1;  11. (i) –1, (ii) sin A

cos A

3

2  ; 14.  1;   15. 0

�	
���	�
�
4(b)

1. (i) sec B, cosec B, (ii) 2 cos� . cos �, (iii) cos(600 +A), (iv) cos A, (v) cos(A–B), (vi)1

6.
3

2 2
− �

,
3

2 2
− �

 ; 7.(i) ���221 , (ii) 450, (iii) 1; 12. (i) 900, 450, (ii) 750, 450, (iii) 450, 150,

(iv) 900, 450

�	
���	�
�
4(c)

1. 69.28 � � � 	 � 2. 46.76 � � � 	 � 3. 15.86 � � � 	 � 4. 6 � � � 	 � 5. 22.3 � � � 	 � 6. 25.98 � � � 	 � 7. 200 � � � 	
8. 56.78 ���	�9. 10 � ���	�10. 22.5 ���	��11. 27.32 ���	�12. 27.71 ���	�13. 81.96 ���	
14. 3 � ���	�15. 21.96 ���	�16. 20.78 � � �
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�	
���	�
�
5(a)

1.(a) (i) 67 �

�
������	�(ii)  17.6 ���	�(iii) 88 ������	�(iv) 26.4 ������	

   (b)  5 	



������	�(ii) 166 �

�
������	�(iii) 4 ������	�(iv) 2.5 ������	

2. (a) 44 ��������(b) 84 ������(c) 280 �4����	�3. (a) 600, (b) 4.4 ���������(c) 63 ������	

    (d) ���
�

y
zπ ��(e) a = � �

4. 39380 �������� 5. 140 5�	�6. 7 ���	�7. 264 �����220 ���	�8. 7 ������	�9. 5 �� � � �

10. 2506 � 	 � 11. 6336 ��	�12. 88 �����28 � � � 	 � �13. 112 ���	�14. 8 ����48 ���	�15. 28 ���	

16. 63 �4���	�17. 62.8 ��������18. 88 � ��������44 � ������	��19.(a) 600��(b) 20 �������

20. 17.854 ������	�21. 3 : 2; 22. 14 ������	�23. 40 ������	�24. 2 � ������	

�	
���	�
�
5(b)

1.(i) 3118.5 
����	�(ii)  9856 
�������	�(iii) 6506.5 
�������	�(iv) 616 
����	

2. (i) 14 �����(ii) 308 � � � 	 � �3.(i) 821 �

�

�������	�(ii) 2200

��

�� 
����, (iii) 1134 
�����
    (iv) 1782 ������	�4.(i) 42 �����(ii) 80 ���	�5.(i) 700 ��(ii) 1350, (iii) 600 	

6. (i) 1000 
������(ii)  600 
���������7.(i) 2 x
π

%��	�(ii) �x
π

%��	�(iii) �x
π

%��

8. 70 ������	� 9. 2 : π 	�10. 15 ������	�11. 2 %��	��12. c
�

%��	 13. c
�

%��	�14. 7546


��������� � 15. 308 
����	� 16. 79.92 57�	� 17. 1078 
�������	� 18. 4 ��	� 19. 21 �������� 14
������	� 20. 616 
�������	 21. 550  
�������	� 22. 616 
�������	� 23. 42 � ������	� 24. 3

�������	� 25. 14 ���	� 26. 7.84 
�������	� 27. 5 ������	� 28. (i) 9 %���� (ii) 3:2	 � 29.(i) 5.7

���������(ii) 18.24	�30. 182.36 
�������	�31. 61.4 
�������

�	
���	�
�
5(c)

1.(a) 480 
����������528 
���������(b)  128 
������152 
������(c) 756 �����864 
����	
2. (a) 6828 
������ 8428 
������ (b) 720 
��4������ 907.056 
��4������ (c) 1200 
��������
1421.7 
�������	�3.  20 ��������1008 
�������	�4.  3 ������	�5. 1056 
����;
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6. 20 ��������21 ��������7.(a) 180 
����	�(b) 1150 
�������	�(c) 10 � � �
8. 2592 
�������	� 9.  25 ���������1218 
�������	��10. 3 ������	
11(a) 1056  
����������(b)  21 ������(c)  7524 
�������	�12. 750 6 � 	 �13. 2 �

�
���	�14. 30 ��	

15. 2 ������

��	
���	�
�
5(d)

1. 6300 8����	�2. 448 8�������	  3. 30 ������1680 
����	�4. 6 ��������8 ������	�5. 8 ������	
6. 84 
����	�7. 4 � ��������8. 42 ��������42 ������	�9. 360 � 
������10. 14 ���	

11. 14  �49����	�12. 2 �

�
���	�13.  21 ������	�14. 385 
��49����	�15. 1386 8���9����	

16. 3234 8���9����	�17. 15� � � � � � � � �13� �������

�	
���	�
�
5(e)

1. (i) 240.24 
:.�������	�221.76 
�������	  (ii) 392.7 
����������346.5 
��������
� � �(iii) 471 �

�
� 
��������� 452 �

�

�������; 2. (i) 1155 8������ �478.5 
����	� (ii)  4224 8�����

1885 	

�

� ���	

3. (i) 1386 
������2310 
������(ii) 1914 
9����	�4. (i)1232 8���������704. 
���������(ii) 3850

���9�������15, 400 8���9����	�5. 9856 8���9�������2200�
�������	��6. 2156� 8�������	
7. (i) 2310 
���������(ii) 3080 
9�������	�8. (i) 3:25 (ii) 3:28, (iii) 5:7;
9. (i) 392.5 8������(ii) 20940�5. 8���������(iii) 768�10 8�������	

10. 2425.5 8���������346.5 (1+�5) 
�������	�11. ���� �

��
� 8�������	

12. 1.5 ������	�13.  5830 
����	��14.  163548 8����	�15. 440;
16. 100� 8��������%
&�90� 
�������

�	
���	�
�
5(f)

1. (i) 5544 
:.����������38808 8�������	  (ii) 616 
�����������1437 �

�
8��������

� � �(iii) 1386 �
�����������4851 8�������; 2. (i) 6 ��������(ii)  9 ������	�(iii)  20 ������	
3. (i) 27:64,  9:16   (ii) 1:27,  1: 9   (iii) 8: 125,  4 : 25;

4. 113 �

�

�������	�5. 1437 �

�
8���9����	��6. 21� � � � 	 �7. (i) 729 ��(ii) 38.88 ���	�8. 19404 � � �

9.  3:2:6;� 10. 6336 : ����� 11. 241�10 
�������	�12. 30 ������	

13. (a)  381� 
�����������(b) 	��

�

π � � 8 � � � � � � � �


